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1.  

Biological Classification
1.  Who is the author of 'Systema Naturae'?  
  efmemšscee vesÛegjs kesâ uesKekeâ keâewve nw? 
 (a) John Ray/pee@ve js  (b) Darwin/[eefJe&ve  
 (c) Linnaeus/ efueefveÙeme (d) Bentham/yesvLece 

WB-JENPAS-2024 

Ans. (c) : Carl Linnaeus authored Systema Naturae, 
first published in 1735. This seminal work established 
the modern framework for biological classification 
introducing the biological nomenclature system for 
naming species and organizing living organisms into a 
hierarchical structure, significantly influencing 
taxonomy and biological sciences.    
2.  Who introduced the binomial system of 

nomenclature?  
  veecekeâjCe keâe efÉveece heæefle efkeâmeves Øemlegle efkeâÙee Lee? 
 (a) Carolus Linnaeus/kewâjesueme efueefveDeme   
 (b) J B Lamarck/pes yeer uewceeke&â   
 (c) Ernst Haeckel/Devmš& nskesâue  
 (d) Robert Whittaker/je@yeš& efJnšskeâj  

MP-PNST-08.07.2023, Shift-II 

Ans. (a) : The binomial system of nomenclature was 
introduced by Carolus Linnaeus. He developed this 
system in the 18

th
 century which uses two names (genus 

and species) to identify each species of organism, 
providing a standardized way to name and classify 
living things.     
3.  The Greek thinker ______ classified animals 

according to their habitat was:   
  Ùetveeveer efJeÛeejkeâ____ ves peeveJejesW keâes Gvekesâ DeeJeeme kesâ 

Devegmeej Jeieeake=âle efkeâÙee~  
 (a) Archimedes/Deeefke&âefce[erpe   
 (b) Newton/vÙetšve   
 (c) Aristotle/Dejmlet  
 (d) Mendel/ceW[sue  

MP-PNST-08.07.2023, Shift-II 

Ans. (c): The Greek thinker who classified animals 
according to their habitat was Aristotle. He is well- 
known for his work in categorizing and studying 
different animal species based on their environment and 
characteristics.   

4.  α-taxonomy deals with  
  Deuheâe–šwkeämeesvee@ceer kesâ Devleie&le DeOÙeÙeve efkeâÙee peelee nw 
 (a) Chemotaxonomy / keâerceesšwkeämeesvee@ceer  
 (b) Phylogeny / heâeÙeueespesveer  
 (c) Experimental taxonomy / ØeÙeesieelcekeâ šwkeämeesveeceer 
 (d) Classical taxonomy / keäueeefmekeâue šwkeämeesvee@ceer 

CG BSc. Nursing-2021 

Ans. (d) : α - taxonomy deals specifically with classical 
taxonomy, which involves the identification, 
classification, and naming of living organisms based on 
their morphological and anatomical characteristics.  
5.  Five-kingdom classification of Whittaker is 

mainly based on   
  5-efkebâie[ce JeieeakeâjCe JeeFšskeâj Éeje efkeâme hej 

DeeOeeefjle nw ? 
 (a) Nucleus / vÙetefkeäueÙeme 
 (b) Cell structure / keâesMee mebjÛevee  
 (c) Mode of nutrition / cees[ Dee@heâ vÙetš^erMeve 
 (d) Complexity of organs / DebieeW keâer keâechuesefkeämešer 

CG BSc. Nursing-2021 

Ans. (b&c): Whittaker’s five-kingom classification is 
based on cell structure (nucleus presence) and mode of 
nutrition (autotrophic vs. heterotrophic), dividing 
organisms into Monera, Protista, Fungi, Plantae and 
Animalia.  
6.  In binomial nomenclature , the names stand for   
  efÉ-veece heæefle veecekeâjCe ceW veeceeW keâe celeueye nQ 
 (a) One scientific and one popular/Skeâ Jew%eeefvekeâ SJeb 

Skeâ ceMentj  
 (b) Both are name of species /oesveeW veece peeefleÙeeW kesâ  
 (c) One generic and one specific/Skeâ JebMeerÙe leLee 

otmeje peeefle keâe  
 (d) Both names are generic/oesveeW veece JebMeerÙe kesâ 

CG BSc. Nursing-2019 

Ans. (c) : In binomial nomenclature, the names stand 
for one generic and one specific name.  

The first name represents the genus, and the second 
name represents the species. For example, in Homo 
sapiens, Homo is the genus and sapiens is the species.     
7. The universal rules of nomenclature include: 

veeceheæefle kesâ meeJe&Yeewefcekeâ efveÙeceeW ceW  meefcceefuele nQ : 
 (a) Only the first part is Generic epithet and 

second part represents specific epithet./kesâJeue 
henuee Yeeie meeceevÙe mebkesâleheo (pesvesefjkeâ Sefhešsš) neslee nw 
Deewj otmeje Yeeie efJeefMe° mebkesâleheo (mhesefmeefHeâkeâ Sefhešsš) 
keâes oMee&lee nw~   

 (b) Only the name has be derived from Latin or 
Latinised/kesâJeue veece keâes uewefšve Ùee uewšsveeFp[ mes 
JÙeglheVe efkeâÙee peevee ÛeeefnS~   

 (c) Only scientific name should be written in 
italic if printed and underlined if written  
/kesâJeue cegefõle efkeâÙes peeves hej Jew%eeefvekeâ veece keâes  
Fšwefuekeâ ceW efueKee peevee ÛeeefnS Deewj efueKes peeves hej 
jsKeebefkeâle efkeâÙee peevee ÛeeefnS~  

 (d) All of these /GheÙeg&keäle meYeer  
MP-GNTST/PNST-07.07.2019, Shift-I 
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Ans. (d): The universal rules of nomenclature 

generally include the following: 

(i) The first part of the scientific name represent the

genus, and the second part represent the species.

(ii) The scientific names are typically derived from

Latin or Latinized.

(iii) Scientific names should be written in italics when

printed and underlined when handwritten.

8. The system of Binomial Nomenclature was

given by:

efÉheo veeceheæefle keâer ØeCeeueer efkeâmekesâ Éeje oer ieF& Leer:

(a) Carolus Linnaeus/keâeue& ueerefveÙeme

(b) Strickland /mš^erkeâueQ[

(c) Huxley /nkeämeues

(d) Charles Darwin /Ûeeume& [eefJe&ve

MP-GNTST/PNST-07.07.2019, Shift-I 

Ans. (a) : Binomial nomenclature is a system of naming 

species using two names: the genus name and the 

species name. This system was introduced by Carolus 

Linnaeus in the 18
th

 century. It provides a standardized 

way  to name and classify living organisms, ensuring 

that each species has a unique and universally accepted 

scientific name.  

Example :- Homo sapiens, Homo is the genus, and 

sapiens is the species. 

9. Which of the following taxonomical aids

provides information for identification of

names of species found in an area?

efvecveefueefKele ceW mes keâewve-mee JeieeakeâjCe
(šwkeämeesvee@efcekeâue) meneÙekeâ, efkeâmeer #es$e ceW heeF& peeves

Jeeueer ØepeeefleÙeeW kesâ veeceeW keâer henÛeeve keâjves nsleg
peevekeâejer Øeoeve keâjlee nw?

(a) Manuals/efveÙece hegmlekeâ (cewvegDeue)

(b) Catalogues/Jeie&keâ meb«en (kesâšuee@ie)

(c) Flora/Jevemheefle mecetn (heäueesje)

(d) Monographs/ceesvees«eeheâ

MP-GNTST/PNST-07.07.2019, Shift-II 

Ans. (a) : Taxonomical manuals are detailed guides that 

aid in identifying species within specific areas. They 

provide descriptions, illustrations and keys that help 

distinguish between different organisms, making them 

essential tools for taxonomists and field biologists.   

10. The correct sequence of Hierarchy in biological

classification is:

pewefJekeâ JeieeakeâjCe ceW heoeveg›eâce keâe mener ›eâce nw:

(a) Kingdom, Class, Order, Phylum, Family,

Genus, Species/peiele, Jeie&, ieCe, mebIe, kegâue, JebMe,
peeefle

(b) Kingdom, Order, Class, Phylum, Family,

Genus, Species/peiele, ieCe, Jeie&, mebIe, kegâue, JebMe,
peeefle

(c) Kingdom, Phylum, Class, Order, Family,

Genus, Species/peiele, mebIe, Jeie&, ieCe, kegâue, JebMe,
peeefle

(d) Kingdom, Family, Class, Order, Genus,

Species/peiele, kegâue, Jeie&, ieCe, JebMe, peeefle
MP-GNTST/PNST-07.07.2019, Shift-II 

Ans. (c) : The correct sequence of biological 
classification hierarchy is: Kingdom, Phylum, Class, 
Order, Family, Genus, Species. This hierarchical system 
categorizes organisms into increasingly specific groups 
based on shared characteristics and evolutionary 
relationships. It provides a structured framework for 
organizing and studying biodiversity across different 
taxonomic levels.   

11. Trinomial nomenclature refers to names
_______.

ef$eheo veecekeâjCe ________veeceeW keâes meboefYe&le keâjlee nw~
(a) for taxa below the level of species/ØepeeefleÙeeW kesâ

mlej mes veerÛes Jeie&keâ (šwkeämee) kesâ efueS
(b) for plant taxa/heeohe Jeie&keâ (šwkeämee) kesâ efueS
(c) for animal taxa/heMeg Jeie&keâ (šwkeämee) kesâ efueS
(d) for microorganisms/met#cepeerefJeÙeeW kesâ efueS

MP-GNTST/PNST-08.07.2019, Shift-I 

Ans. (a) : Trinomial nomenclature is a naming system 
used in taxonomy for organisms below the species 
level. This includes subspecies, varieties and other 
intra-specific categories. It consists of three parts: the 
genus name, the species name and the subspecific name. 
For example, in the name Homo sapiens sapiens the 
first "Homo" is the genus "sapiens" is the species, and 
the second "sapiens" denotes the subspecies. 

12. The two-kingdom classification given by
Linnaeus is considered inadequate presently
because of:

ueerefveÙeme Éeje efoS ieS efÉ-peiele JeieeakeâjCe keâes
Jele&ceeve cesW efvecve kesâ keâejCe DeheÙee&hle ceevee peelee nw :
(a) A large number of organisms did not fall into

either plants or animals only /yeÌ[er mebKÙee ceW
peerJe, ve heewOeeW Ùee ve ner peeveJejeW kesâ Debleie&le Deeles nw~

(b) Not distinguishing photosynthetic and non- 
photosynthetic plants (fungi) separately only

/kesâJeue ØekeâeMemebMues<ekeâ Deewj iewj-ØekeâeMe mebßues<ekeâ heewOeeW
(keâJekeâ) ceW Yeso ve keâj heeves

(c) Not distinguishing prokaryotic and eukaryotic

organism separately only/kesâJeue ØeeskewâefjÙeesefškeâ
(ØeekeâkeWâõkeâer) Deewj ÙetkesâefjÙeesefškeâ (megkeWâõerkeâer) peerJeeW ceW
Yeso ve keâj heeves

(d) All of these /GheÙeg&keäle meYeer
MP-GNTST/PNST-08.07.2019, Shift-II 
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Ans. (d) : Linnaeus two-kingdom classification system 
(Plantae and Animalia)  is considered inadequate for the 
following reasons:  

(a) A large number of organisms, such as bacteria and 
fungi, did not fit neatly into either the plant or 
animal kingdoms. 

(b) The system did not distinguish between 
photosynthetic organisms (like algae) and non-
photosynthetic organisms (like fungi). 

(c) It also did not differentiate between prokaryotic  
organisms (like bacteria) and Eukaryotic 
organisms.  

These limitations led to the development of more 
modern classification systems.       
13.   Biological names are given in ––––––––– language 

  pewefJekeâ veece ––––––––– Yee<ee ceW efoS ieS nQ~  
 (a) Sanskrit /mebmke=âle    (b) Greek /«eerkeâ    
 (c) English /Deb«espeer   (d) Latin /uewefšve   

MP-GNTST/PNST-08.07.2019, Shift-II 

Ans. (d) : Biological names, or scientific names, are 
given in Latin because Latin was historically the 
language of scholars and scientists. This tradition helps 
ensure consistency and universal understanding in 
scientific classification.  

14.  All biological classsifications of two-kingdom 

system are divided into -  
  meYeer pewJekeâerÙe JeieeakeâjCe kesâ oes peiele efmemšce keâes 

efJeYeeefpele efkeâÙee ieÙee nw- 
 (a) Plantae and Animalia / hueebšs Deewj SefvecesefueÙee   
 (b) Monera and Animalia / ceesvesje Deewj SefvecesefueÙee   
 (c) Protista and Animalia / Øeesefšmše Deewj SefvecesefueÙee   
 (d) Protista and Plantae / Øeesefšmše Deewj hueebšs 

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (a) : All biological classifications of two-kingdom 
system are divided into Plantae and Animalia. 

Carolus Linnaeus introduced the two-kingdom 
classification system in 1758, classifying living 
organisms into kingdom Plantae and kingdom 

Animalia.   
15.  New systematics proposed by Sir Julian Huxley 

is known as -   
  mej petefueÙeve nkeämeues Éeje ØemleeefJele vÙet efmemšwcewefškeäme 

keâes keâne peelee nw- 
 (a) Phynetics / Hesâvesefškeäme   
 (b) Bio-systematic / yeeÙees-efmemšscewefškeäme   
 (c) Cladistics / keäuesef[efmškeäme 
 (d) Numerical taxanomy / vÙetcesefjkeâue šskeämeesvee@ceer 

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (b) : The New systematics proposed by Sir Julian 
Huxley is known as bio-systematics. Biosystematics is 
the study of biodiversity, focusing on the classification, 
identification and evolutionary relationships of 
organisms.  

16. Plant classification of Linnaeus is-  

ueerefveÙeme keâe heeohe JeieeakeâjCe nw-   
 (a) Natural /Øeeke=âeflekeâ   
 (b) Phylogenetic /JebMeeJeueer   
 (c) Artificial /ke=âef$ece  
 (d) None of these /FveceW mes keâesF& veneR  

MP-GNTST/PNST-19.06.2016, Shift-II 

Ans. (c): Linnaeus' plant classification system is 

categosized as "artificial". This classification method is 

based on artificial or arbitrary characteristics chosen by 
Linnaeus for grouping plants, such as the number of 
stamens, arrangement of petals, and other 

morphological features. It aimed to simplify plant 

identification evolutionary relationships (phylogenetic) 
or natural groupings (natural).  
17.  Binomial nomenclature designates:  
  efÉveece veeceebkeâjCe oMee&lee nw: 
 (a) Genus and species / JebMe Je peeefle  
 (b) Order and Family / ieCe Je heefjJeej  
 (c) Species and subspecies / peeefle Je Ghepeeefle 
 (d) Genus and Family / JebMe Je heefjJeej 

MP-GNTST/PNST-2014 

Ans. (a) : Binomial nomenclature names organisms 
using two components : the genus and the species. This 
system provides a unique, standardized way to identify 
and classify organisms, ensuring clarity and consistency 
in scientific communication. For example, Homo 
sapiens refers to the genus Homo and the species 
sapiens.  
18.  Five kingdom scheme of classification was 

proposed by:  
  JeieeakeâjCe keâer hebÛepeiele mkeâerce keâe Øeefleheoeve efkeâÙee Lee: 
 (a) Linnaeus / ueerefveÙeme ves  
 (b) Whittaker / efÜóskeâj ves   
 (c) Hymen / neÙecesve ves 
 (d) Mayer / cesÙej ves 

MP-GNTST/PNST-2014 

Ans. (b) : The Five Kingdom Classification was 
proposed by Robert H. Whittaker in 1969. He 
categorized life into five kingdoms : Monera, Protista, 
Fungi, Plantae and Animalia, based on cell structure, 
mode of nutrition and ecological roles.   
19.  Who proposed  binomial nomenclature? 
  efÉheo-veece-heæefle efkeâmeves Øeefleheeefole keâer ? 
 (a) Mendel/cesv[ue  (b) De Vries/ [er Jejerme  
 (c) Darwin/[eefJe&ve  (d) Linnaeus/ueerefveÙeme  

MP-GNTST/PNST-2013 

Ans. (d) : Carl Linnaeus, a Swedish botanist, physician, 
and zoologist, introduced this system in the 18

th
 

century. It assigns each species a two-part scientific 
name consisting of its genus and species, providing a 
standardized way to identify and classify organisms 
globally.  
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20.   Which place has been given to bacteria in 
Whittaker's classification? 

  efJnšskeâj kesâ JeieeakeâjCe ceW peerJeeCeg keâes keâewve-mee mLeeve 
efoÙee ieÙee nw?  

 (a) Protista/ Øeesefšmše (b) Monera/ ceesvesje   
 (c) Plants/ heeohe (d) Fungus/ keâJekeâ  

MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (b): In Whittaker's classification, bacteria are 
placed in the Kingdom Monera. This kingdom includes 
prokaryotic organisms that lack a defined nucleus, 
distinguishing them from other kingdoms like Protista, 
Plantae and Fungi which contain eukaryotic organisms.   

21.  Taxonomy is the science related to what? 

  šwkeämeesvee@ceer efkeâmemes mecyeefvOele efJe%eeve nw? 
 (a) Classification  of all living things/meYeer peerefJele 

JemlegDeeW keâe JeieeakeâjCe 
 (b) Classification of plants/heewOeeW keâe JeieeakeâjCe  
 (c) All living things, someone’s identification 

naming and classification/meYeer peerefJele JemlegDeeW 
keâer henÛeeve, veecekeâjCe Deewj JeieeakeâjCe 

 (d) The structure and type of all living things/meYeer 
peerefJele JemlegDeeW keâer mebjÛevee SJeb Øekeâej 

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (c) : Taxonomy is the science of identifying, 
naming, and classifying all living things. This includes 
all plants, animals, and microorganisms. The concept is 
common in life sciences, where taxonomy is used to 
classify plants and animals. Carolus Linnaeus is called 
the Father of taxonomy.  

22.  Who wrote 'Species Plantarum' and provided 
the basis for classification of plants?  

  ‘mheerMeerpe hueeCšsefjÙece’ efkeâmeves efueKeer leLee heeoheeW keâe 
JeieeakeâjCe keâe DeeOeej efkeâmeves efoÙee? 

 (a) Carolus Linnaeus/kewâjesueme efueefveÙeme 
 (b) Robert Hooke/je@yeš& ngkeâ 
 (c) Leeuwenhoek/uÙetJesvene@keâ 
 (d) Charles Darwin/Ûeeume& [eefJe&ve 

MP-GNTST/PNST-10.06.2018, Shift-II 

Ans. (a) : Swedish botanist Carolus Linnaeus wrote a  
two-volume book called ‘Species Plantarum’, published 
in 1753, which listed all known plant species and 
classified them into genera. He also laid the foundation 
for the modern classification of plants. 
23.  The term 'taxon' is used for what?  

  ‘Jeie&keâ’ Meyo efkeâmekesâ efueS ØeÙegòeâ efkeâÙee peelee nw? 
 (a) Any category in the taxonomic 

hierarchy/Jeefie&keâeW heoeveg›eâce ceW efkeâmeer Yeer ßesCeer kesâ 
efueS 

 (b) Categories upto phylum/mebIe lekeâ keâer ßesefCeÙeeW kesâ 
efueS 

 (c) Categories of species and genus /ØepeeefleÙeeW Je 
JebMe keâer ßesefCeÙeeW kesâ efueS 

 (d) Only for species epithets/kesâJeue Øepeeefle 
iegCemetÛekeâlee kesâ efueS 

MP-GNTST/PNST-10.06.2018, Shift-II 

Ans. (a) : The term ‘taxon’ is used for any category in 

the taxonomic hierarchy. All taxonomic categories 

together form a taxonomic classification.  

24.  Which of the following animal collections 

belongs to a single taxonomic group?  

  efvecveefueefKele ceW mes keâewve-mee ØeeCeer mecetn Skeâ ner              
Jeieer&keâerÙe mecetn mes mebyebefOele nw? 

 (a) Silkworm, Tapeworm, Earthworm/efmeukeâJece&, 
šwheJece&, keWâÛegDee 

 (b) Bat, Pigeon, Butterfly ÛeceieeoÌ[, keâyetlej, efleleueer 
 (c) Monkey, Chimpanzee, Human/yevoj, efÛecheQpeer, 

ceveg<Ùe 
 (d) Cuttle fish, Silverfish, Dogfish, Starfish, 

Jellyfish /keâleueeefHeâMe, pesueerefHeâMe, efmeuJejefHeâMe, 
[e@ieefHeâMe, mšejefHeâMe 

MP-GNTST/PNST-10.06.2018, Shift-II 

Ans. (c) : Monkeys, chimpanzees and humans are 

primates belonging to the class Mammalia. Animals 

belonging to the mammalian class have hair on their 

skin. The skin has sweat glands and oil glands. Both 

males and females have mammary glands. 

25.  The binomial nomenclature system was given  

  efÉveece veecekeâjCe heæefle oer ieÙeer Leer 

 (a) Julian Huxley/petefueÙeve nkeämeues Éeje  
 (b) Bentham and Hooker/yesvLece SJeb ngkeâj Éeje  
 (c) By Linnaeus/efueefveÙeme Éeje  
 (d) By T.H. Morgarn/šer SÛe cee@ie&ve Éeje 

MP-GNTST/PNST-2020 

Ans. (c) : Binomial nomenclature, introduced by 

Carolus Linnaeus in the 18
th

 century, is a system for 

classifying species with two names: the first name is the 

generic name (genus), written with an initial capital 

letter, while the second is the specific name (species), 

typically started with lowercase letter. The specific 

name may be single or compound and capitalization 

may occur if it references a place or person.    
26. What are the two domains of Prokaryotes? 

 ØeeskewâefjÙeesšdme kesâ oes [escesve keâewve- mes nQ- 

 (a) Fungi and Algae/keâJekeâ Deewj MewJeeue  
 (b) Protist and Algae/Øeesefšmš Deewj MewJeeue  
 (c) Bacteria and Archaea/yewkeäšerefjÙee Deewj Deeefke&âÙee  
 (d) Archaea and Fungi/Deeefke&âÙee Deewj keâJekeâ 

J&K NURSING 2023 
Ans. (c) : The two domains of prokaryotes are bacteria 

and archaea. These domains consists of unicellular 

organisms without a membrane- bound nucleus, 

differing in genetic, biochemical, and structural 

characteristics. Fungi, algae, and protests belong to 

other domains.  
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27. If we want to know evolutionary relationship 

between organisms then which classification 

will resolve it: 

 Ùeefo nce peerJeeW kesâ yeerÛe efJekeâemeJeeoer mebyebOe peevevee 
Ûeenles nQ lees keâewve- mee JeieeakeâjCe Fmes nue keâjsiee~ 

 (a) Artificial Classification/ke=âef$ece JeieeakeâjCe  
 (b) Natural Classification/Øeeke=âeflekeâ JeieeakeâjCe   
 (c) Phylogenetic Classification /heâeFueespesvesefškeâ 

JeieeakeâjCe  
 (d) Cytotaxonomy/meeFšesšwkeämeesvee@ceer  

J&K NURSING 2023 
Ans. (c) :  Phylogenetic classification  is based on 

evolutionary relationships between organisms, using 

genetic, morphological, and molecular data to group 

organisms according to shared ancestry. Unlike 

artificial or natural classifications, it reflects the 

evolutionary history, showing how species have 

diverged from common ancestors over time. 

28.  The scientific name of mango is written as 

Mangifera indica. In this name Mangifera 

represents the genus while indica is a 

particular. 

  Deece keâe Jew%eeefvekeâ veece ceQpeerhesâje Fbef[keâe efueKee peelee 
nw Fme veece ceW ceQpeerhesâje peerveme keâe ØeefleefveefOelJe keâjlee nw 
peyeefkeâ Fbef[keâe Skeâ efJeMes<e  

 (a) Kingdom/efkebâie[ce 
 (b)  Class/keäueeme 
 (c)  Family/heefjJeej 
 (d)  Species/Øepeeefle 

J&K NURSING 2021 
Ans. (d) : In Magnifera indica, Magnifera is the genus 

and indica is the species. The species name identifies 

the specific organism within the broader genus, 

following the binomial nomenclature system.  
29.  Select the correctly written scientific name of 

Mango which was first described by Carolus 

Linnaeus:  
  Deece keâe kewâjesueme ueerveÙeme Éeje meJe&ØeLece JÙeòeâ efkeâÙee   

ieÙee mener efueefKele Jew%eeefvekeâ veece keâe ÛeÙeve keâerefpeS: 
 (a) Mangifera indica Car. Linn.  
 (b) Mangifera indica Linn.  
 (c) Mangifera indica 
 (d) Mongifera Indica 

HBNU B.Sc NURSING 2020 
Ans. (b) : The scientific name of mango is Mangifera 

indica, and the correct way to cite its original 

description by Carolus Linnaeus is by using “Linn” as 

an abbreviation for Linnaeus. This is a standard 

convention in Botanical nomenclature. 

Thus, the correct format is Mangifera indica Linn, 

where “Linn” acknowledges Linnaeus as the author of 

the name.   

30.  The Central National Herbarium (CNH) is 

located at-  
  kesâvõerÙe je°^erÙe Jevemheefle meb«eneueÙe (meer. Sve. SÛe.) 

DeJeefmLele nw— 
 (a) Mumbai/cegcyeF&  
 (b) Dehradun/osnjeotve  
 (c) Kolkata/keâesuekeâelee 
 (d) Bengaluru/yeWieueg™ 

HBNU B.Sc NURSING  2019 
Ans. (c) : The Central National Herbarium (CNH) is 

located in Kolkata, West Bengal and is part of the 

Botanical Survey of India (BSI). Established in 1797, it 

is one of the oldest and largest herbaria in India, 

housing a vast collection of plant specimens from across 

the country for scientific research and conservation.  
31.  Binomial nomenclature was proposed by:  
  efÉheo veecekeâjCe keâes efkeâmeves ØemleeefJele efkeâÙee Lee? 
 (a) Darwin/[eefJe&ve  
 (b) Linnaeus/ueerveerÙeme  
 (c) de Vries/[s ›eerme 
 (d) Mendel/ceW[ue 

BHU B.Sc NURSING 2019 
Ans. (b) : Binomial nomenclature, proposed by Carl 

Linnaeus, is a system of naming species using two Latin 

names: genus and species.  
32.  National Botanical Institute is located in – 

  je°^erÙe Jevemheefle mebmLeeve keâneB efmLele nw?  
 (a) Mumbai/cegcyeF&   
 (b) Kolkata/keâesuekeâelee  
 (c) Lucknow/ueKeveT  
 (d) Chennai/ÛesVeF& 

AMRU B.Sc NURSING 2021 
Ans.(c): The National Botanical Research Institute 

(NBRI) is located in Lucknow. It is a premier research 

institution in India, focusing on plant science, 

conservation, and the sustainable utilization of plant 

resources. It plays a crucial role in botanical research.  
33.  The taxonomic category 'Class' is between   
  JeieeakeâjCe efJe%eeve ceW ‘Jeie’ efvecve ceW mes efkeâvekesâ yeerÛe ceW 

Deelee nw : 
 (a) Order and Family /Dee@[j leLee hewâefceueer   
 (b) Order and Genus/ Dee@[j leLee peerveme   
 (c) Kingdom and Phylum/efkebâie[ce leLee HeâeFuece  
 (d) Division and Order/ef[efJepeve leLee Dee@[j 

BHU NURSING 2015 
Ans. (d) : In biological classification, the category class 

comes between division and order in plants or between 

phylum and order in animals. It is a higher taxonomic 

rank used to group related orders with shared 

characteristics.  
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2. 

Plant Kingdom
1. Plants having naked seeds are

veive yeerpe Jeeues heewOes  nQ
(a) Angiosperms/SbefpeÙeesmhece&
(b) Gymnosperms/efpecveesmhece&
(c) Pteridophytes/šsefj[esHeâeFšdme
(d) Bryophytes/yeÇeÙeesHeâeFšdme

Atal Medical & Research University H.P. 07.07.2024 

Ans. (b) : In gymnosperm, seeds that develop post 
fertilization, are not covered, i.e. they are naked seeds. 
The gymnosperms (gymnos:naked, sperma: seeds) are 
plants in which the ovules are not enclosed by any wall 
and remain exposed both before and after fertilization. 

2. Selaginella is a member of which of the
following class?

efmeuewefpevesuee efvecve ceW mes efkeâme Jeie& keâe meomÙe nw?
(a) Psilopsida/meeFueesheefme[e
(b) Lycopsida/ueeFkeâesheefme[e
(c) Sphenopsida/efmheâveesheefme[e
(d) Pteropsida/efšjesheefme[e

CG. BSc. Nursng-2024 

Ans. (b) : Selaginella is classified under Lycopsida, a 
class of vascular plants commonly known as 
clubmosses. Lycopsida is characterized by having 
microphyll leaves and reproducing through spores. 
Selaginella, often referred to as "spike moss" is notable 
for its unique adaptations, including heterospory, which 
contributes to its survival in various habitat.

3. The food in onion is stored in the form of
________.

hÙeepe ceW KeeÅe heoeLe& _____ ™he ceW mebÛeefÙele nesleer nw~
(a) Sugar/Meke&âje (b) Starch/mšeÛe&
(c) Protein/Øeesšerve (d) Cellulose/mesuÙegueespe

MP-GNTST/PNST-07.07.2023, Shift-II 

Ans. (d) : The food substance in onion is stored as 
cellulose. Cellulose is an important structural 
component of the primary cell wall of green plants, 
many forms of algae and oomycetes.  

4. To which species is the potato associated?

Deeuet keâewve-meer peeefle mes mecyeefvOele nQ?
(a) Solanaceae/meesuesvesmeer   (b) Compositae/kebâheesefmešer
(c) Graminae/«eeefceveer (d) Cruciferae/›etâefmehesâjer

MP-GNTST/PNST-08.07.2023, Shift-I 

Ans. (a) : The potato (Solanum tuberosum) belongs to 
the Solanaceae family, also known as the nightshade 
family. This family includes other important crops like 
tomatoes, eggplants and peppers. Solanaceae species 
typically have alkaloids and are known for their 
flowering plants, which are important in agriculture and 
horticulture due to their edible fruit or tubers. 

5. The carbohydrates which are not used
immediately in plants are stored in which of the
following forms?

heewOeeW ceW legjble GheÙeesie veneR efkeâS peeves Jeeues
keâeyeexneF[^sš efvecveefueefKele ceW mes efkeâme ™he ceW meb«enerle
nesles nQ?
(a) Starch/ceb[
(b) Protein/Øeesšerve
(c) Roughage/jhesâpe
(d) Glycogen/iueeFkeâespeve

MP-PNST-08.07.2023, Shift-II 

Ans. (a): Plants store the carbohydrates that are not 
immediately used in the form of starch. Starch serves as 
an energy reserve that can be broken down into glucose 
when needed, for energy. This stored starch is mainly 
found in seeds, roots and tubers of plants. 

6. Pinus is a member of -

heeFveme meomÙe nw-
(a) Gymnosperm / efpecveesmhece& (DeveeJe=leyeerpeer) keâe
(b) Angiosperm / DeeJe=leyeerpeer keâe
(c) Pteridophyta / šsefj[esheâeFše keâe
(d) Bryophyta / yeÇeÙeesheâeFše keâe

CG BSc. Nursing-2022 

Ans. (a): Pinus is a member of Gymnosperm. 
Gymnosperms are a group of seed-producing plants that 
includes conifers like Pinus. They are characterized by 
seeds that are not enclosed in an ovary, distinguishing 
them from angiosperms. 

7. Botanical name of groundnut is-   
  cetbieHeâueer keâe Jeevemheeflekeâ veece nw-

(a) Arachis hypogea /SjsefÛeme neFheesefpeÙee
(b) Brassica campestris /yeÇsefmekeâe keâchewefmš^me
(c) Glycine max /iueeFmeerve cewkeäme
(d) Dolichos lablab /[ewueerkeâe@me ueyeueye

CG BSc. Nursing-2023 

Ans. (a) : The botanical name Arachis hypogea refers to 
groundnut, commonly known as peanut. It denotes a 
species whose seeds develop underground (hypogea), 
distinguishing it from other legumes.  

8. Which one of the following pairs of plants are
not seed producers?

efvecve ceW mes efkeâme Skeâ heeohe peesÌ[s ceW yeerpe veneR yeveles?
(a) Fern and Funaria/heâve& Deewj heäÙetvesefjÙee
(b) Funaria and Ficus/heäÙetvesefjÙee leLee heâeFkeâme
(c) Ficus and Chlamydomonas/heâeFkeâme leLee 

keäuewefce[esceesveeme 
(d) Punica and Pinus/hÙetefvekeâe leLee heeFveme

MP-GNTST/PNST-08.07.2023, Shift-I 
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Ans. (a) : Ferns and Funaria (moss) are non-seed 
producing plants. They reproduce through spores 
instead of seeds. Ferns belong to the group 
pteridophyta, while Funaria is a bryophyte. Both rely on 
moist environments for spore dispersal and germination, 
distinguishing them from seed–producing plants like 
Ficus and Pinus.    
9.  Ganja is obtained from which part of plant?  
  ieebpee heewOes kesâ efkeâme Yeeie mes Øeehle neslee nw? 
 (a) Female inflorescence/ceeoe heg<he›eâce   
 (b) Leaves of male plant/vej heewOes keâer heefòeÙeeW mes   
 (c) Both male and female inflorescences/vej Deewj 

ceeoe oesveeW heg<he›eâce 
 (d) Leaves of both male and female plant/vej Deewj 

ceeoe oesveeW heewOeeW keâer heefòeÙeeB  
MP-PNST-08.07.2023, Shift-II 

Ans. (a) : Ganja (Cannabis) is obtained from the female 
inflorescence of the plant. It is primarily derived from 
the flowering tops of female Cannabis plant, which 
contain the highest concentration of cannabinoids like 
THC. The leaves and male plants are less potent and 
typically not used for this purpose.      
10.  Spirogyra is a   
  mheeÙejesieeÙeje nw 
 (a) Unbranched filamentous alga/DeMeeefKele levlegJeled 

MewJeeue   
 (b) Branched filamentous alga/MeeefKele levlegJeled MewJeeue  
 (c) Unicellular alga/SkeâkeâesefMekeâerÙe MewJeeue  
 (d) Colonial alga/ceC[ueerÙe MewJeeue 

CG BSc. Nursing-2019 

Ans. (a) : Spirogyra is an unbranched filamentous alga, 
characterized  by its long, thread-like chains of cells. It 
is commonly found in freshwater environments, where 
it forms green, slimy masses.    
11.  The source of morphine is   
  cee@jefHeâve keâe Œeesle nw - 
 (a) Rauvolfia serpentina/jeGefuHeâÙee mejheWefšvee  
 (b) Cannabis sativa/kewâveeefyeme mesšeFJee  
 (c) Papaver somniferum/hewheeJeej meesceveerHesâjce  
 (d) Cajanus cajan/kesâpeveme keâepeve 

CG BSc. Nursing-2019 

Ans. (c) : Papaver somniferum is the source of 
morphine. It is extracted from the latex of the opium 
poppy plant and narcotic drug due to its pain-relieving 
properties. It is generally administered by injection or in 
various forms, including tablets. 
12.  Prothallus is an independent gametophyte seen in:  
  ØeesLewueme Skeâ mJeleb$e Ùegicekeâesefæod (iewcesšesheâeFš) nw, 

pees FmeceW osKee peelee nw: 
 (a) Thallophytes/LewueesheâeFšdme  
 (b) Bryophytes/yeÇeÙeesheâeFšdme  
 (c) Pteridophytes/šsefj[esheâeFšdme 
 (d) Angiosperms/DeeJe=leyeerpeer (SbefpeÙeesmhece&) 

MP-GNTST/PNST-07.07.2019, Shift-II 

Ans. (c) : In Pteridophytes, such as  ferns, the prothallus 

is a separate, independent gametophyte that emerges 

from a spore. It contains reproductive structures 

(antheridia and archegonia) responsible for producing 

gametes, facilitating fertilization and subsequent 

sporophyte  development.  

13.  Which of the following ferns also show 

heterospory apart from Selaginella?  
  efvecveefueefKele ceW mes keâewve-mee ]heâve& Yeer mesuewefpevesuee kesâ 

DeueeJee efJe<eceyeerpeeiegCelee (nsš^esmheesjer) efoKeelee nw? 
 (a) Salvinia/mewuJeerefveÙee  
 (b) Psilotum/meeFueesšce  
 (c) Adiantum/Sef[Sbšce 
 (d) Pteris/šsefjme 

MP-GNTST/PNST-07.07.2019, Shift-II 

Ans. (a) : Salvinia is a genus of aquatic ferns that 

exhibits heterospory, producing two types of spores: 

microspores and megaspores. In contrasts with 

homosporous ferns like Adiantum, Psilotum and Pteris, 

which produce only one type of spore. Heterospory in 

Salvinia supports reproductive versatility and adaptation 

to aquatic environments.    
14.  Saccharum barberi and Saccharum 

officinarum are different varieties of:  
  mewkesâjce yeejyejer SJeb mewkesâjce Dee@efheâefmevejce Fmekeâer 

efJeefYeVe efkeâmceW nQ: 
 (a) Sugarcane/ieVee  
 (b) Maize/cekeäkeâe  
 (c) Wheat/iesntB 
 (d) Rice/ÛeeJeue 

MP-GNTST/PNST-08.07.2019, Shift-I 

Ans. (a): Saccharum barberi and Saccharum 

officinarum are different varieties of sugarcane. 

Saccharum officinarum is the most commonly 

cultivated sugarcane species worldwide, while 

Saccharum barberi is another important variety grown 

primarily in India. Both are significant for sugar 

production due to their high sucrose content in the 

stalks.    
15.  Nux vomia tree belongs to genus -  
  vekeämeJeesefcekeâe keâe Je=#e efkeâme JebMe ceW Deelee nw- 
 (a) Emblica / Scyeueerkeâe   
 (b) Ferula / Hesâ™uee   
 (c) Strychnos / mš^eFkeâveesme  
 (d) None of the above / Ghejesòeâ ceW mes keâesF& veneR 

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (c) : Nux vomia tree belongs to the genus 

Strychnos ( family Loganiaceae). 

Nux-vomica contains strychnine and brucine, which are 

used for treating dysfunction, swelling of the stomach, 

constipation etc. 
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16.  Asparagus is a native of-  
  Smhesjsieme keâe Glheefòe mLeue nw 
 (a) Europe and Western Asia / Ùetjeshe leLee heef§eceer SefMeÙee  
 (b) India / Yeejle   
 (c) China / Ûeerve  
 (d) USA / ÙetSmeS 

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (a) : Asparagus is native to Europe and Western 

Asia. Asparagus is a genus in the family Asparageceae, 

with up to 300 species native from Siberia to Southern 

Africa. It is rich in minerals and vitamins A, C and folic 

acid.  
17.  One character is common in between Funaria 

and Dryopteris. That character is -  
  Skeâ ue#eCe pees HeäÙetvesefjÙee Deesj [^esÙeeshšsefjme oesveeW ceW ner 

heeÙee peelee nw - 
 (a) Monoecious gametophyte / ceesveesefMeÙeme iewefcešesHeâeFš  
 (b) Dioecious gametophyte / [eÙeeWefMeÙeme iesefcešesHeâeFš  
 (c) Heterosporous sporophyte / nsšjesmheesjme mheesjesHeâeFš 
 (d) Stele (protostele)  / mšerue (Øeesšesmšerue) 

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (a) : The common characters between Funaria and 

Dryopteris is monoecious gametophyte i.e., both male 

and female reproductive structures are produced on the 

same plant body. 
18.  Viscum is a  
  efJemkeâce nw  
 (a) Total stem parasite/hetCe&le: levee hejpeerJeer   
 (b) Total root parasite/hetCe&le: peÌ[ hejpeerJeer   
 (c) Partial stem parasite/DeebefMekeâ levee hejpeerJeer  
 (d) Partial root parasite/DeebefMekeâ peÌ[ hejpeerJeer  

MP-GNTST/PNST-2013 

Ans. (c) : Viscum, commonly known as mistletoe, is 

partial stem parasite. It attaches to the branches of host 

trees and derives water and nutrients from them, while 

still performing some photosynthesis on its own. This 

relationship classifies it as a partial stem parasite, as it 

primarily depends on the host's stem for support and 

sustenance.  
19.  Which of the following is a group of algae? 

  efvecve ceW mes keâewve-mee MewJeeueeW keâe Skeâ mecetn nw?  
 (a) Chara, Fucus and Polysiphonia/ keâeje, HeäÙetkeâme 

Deewj hee@ueerefmeheâesefveÙee 
 (b) Volvox, Spirogyra and Chlamydomonas/ 

Jee@ueJee@keäme, mheeFjesieeFje Deewj keäuewceeF[esceesveme   
 (c) Porphyra, Ectocarpus, and Ulothrix/ heesefhe&âje, 

Skeäšeskeâehe&me Deewj ÙetueesefLeÇkeäme 
 (d) Sargassum, Laminaria, and Gracitaria/ 

mejieemece, uewceerveeefjÙee Deewj «esefmeuesefjÙee  
MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (b) : The correct answer is Volvox, Spirogyra and 
Chlamydomonas. This group consists of green algae, 
which are characterized by their chlorophyll content and 
ability to perform photosynthesis. Other options include 
a mix of algae from different categories.   

20.  Which ovule is the largest in the plant 
kingdom? 

  heeohe peiele ceW meyemes yeÌ[e yeerpeeC[ efkeâmekeâe neslee nw?  

 (a) Coccus/ keâesskeâme (b) Gnetum/ efvešce 
 (c) Cycas/ meeFkeâme (d) Pinus/ heeFveme 

MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (c) : Cycas, a gymnosperm, has largest ovules in 
the plant kingdom. These ovules are prominent and can 
reach several centimeters is size, playing a crucial role 
in its reproduction process.   
21.  Winged seeds are found in which of the 

following? 

  hebKeoej yeerpe efvecve ceW mes efkeâmeceW heeS peeles nQ?  
 (a) Cycas/ meeFkeâme 
 (b) Pinus/ heeFveme 
 (c) Papaver species/ heshesJej peeefleÙeeB 
 (d) None of these/ FveceW mes keâesF& veneR  

MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (b) : Pinus, which is a gymnosperm, has winged 
seeds. Pinus seeds are found in cones, that open after 
drying allowing the seeds to come out. The wings 
attached to the seeds help them travel through the wind. 
This process helps the seeds of Pinus to disperse, 
allowing them to germinate in new places.  

22.  Agar-agar is obtained from which of the 
following? 

  Deieej-Deieej efvecve ceW mes efkeâmemes Øeehle neslee nw?   

 (a) Zygotene/ peeFieesšerve mes 
 (b) Geledium/pesueeref[Ùece mes  
 (c) Gracilaria/«esefmeuesefjÙee mes 
 (d) Both (b) and (c)/ FveceW mes keâesF& veneR 

MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (d) : Agar-agar is obtained from certain species of 
red algae, primarily Gelidium and Gracilaria. These sea 
weeds are the main sources of agar, which is widely 
used in microbiology and food industry as a gelatin 
substitute. 

23.  In which of the following mannitol is a stored 
food? 

  cewefvešesue efvecve ceW mes efkeâmekeâe mebefÛele Yeespeve nw? 
 (a) Gracilaria/«esefmeuesefjÙee 
 (b) Porphyra/ heesefjHeâeFje  
 (c) Fucus/ HeäÙetkeâme  
 (d) None of these/ FveceW mes keâesF& veneR 

MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (c) : Mannitol is a stored food in Fucus, a type of 
brown algae. It serves as a carbohydrate reserve in 
many species brown algae. Gracilaria and Porphyra, on 
the other hand, are red algae and do not store mannitol. 
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24.  Opium is obtained from which plant? 

  DeesefheÙece efkeâme heeohe mes Øeehle efkeâÙee peelee nw? 
 (a) Cannabis sativa/kesâveeefyeme mešeFJee  
 (b) Papaver somniferum/heshesJej meescveerHesâjce  
 (c) Claviceps purpurea/keäuesefJemeshme hejhÙetefjÙee  
 (d) Erythroxine cocoa/SefjLeÇesefkeämeerve keâeskeâesDee 

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (b) : Opium is obtained from Papaver 

sominiferum is the form of dried latex of the poppy 

plant. Opium is chemically processed to produced 

heroine and other opioids. 
25.  Which of the following produces seeds but not 

flowers? 
  efvecve ceW mes keâewve yeerpe GlheVe keâjlee nw hejvleg heg<he veneR? 
 (a) Pine/heeFve (b) Coffee/keâe@Heâer 
 (c) Peanut/cetBieHeâueer (d) Cashew/keâepet 

MP-GNTST/PNST-04.06.2017, Shift-III 

Ans. (a) : Pine trees are gymnosperms, meaning  they 

produce seeds but do not form flowers. Instead, they 

develop seed in cones. In contrast, angiosperms like 

coffee, peanuts and cashew produce both flowers and 

seeds. Flowers facilitate pollination in angiosperms, 

while gymnosperms rely on cones for reproduction.    
26.  Which structures are enclosed within the fleshy 

receptacle of the fig syconium ? 

  Debpeerj kesâ meeFkeâesveme kesâ ceebmeue heg<heemeve kesâ Yeerlej 
keâewve-meer yengmebKÙekeâ mebjÛeveeSbB yevo jnleer nw? 

 (a) False fruit/HeâueemeceeMebkeâ (b) Achene/Sskeâerve  
 (c) Samara/meceeje (d) Beri/yesjer 

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (b) : Within the fleshy inflorescence of the fig 

syconium, numerous structures called achenes are 

enclosed. Fig trees are tropical plants with many species 

around the world.    

27.  Match the following List -I and List-II 
efvecveefueefKele metÛeer I keâes metÛeer II mes cesue keâjeS 

 Column-I /mlecYe I Column-II /mlecYe II 

A Opioids /DeesefheÙees[dme 1. Reacts with 

receptors present 

mainly in the brain 
/cegKÙe ™he mes ceefmle<keâ 
ceW  ceewpeto efjmeshšme& kesâ 
meeLe Øeefleef›eâÙee 

B Cannabinoids 
/kewâveeefyevees[dme 

2. React with opioid 

receptors in the 

central nervous 

system /kesâvõerÙe 
leefv$ekeâe lev$e ceW 
DeesefheÙeesF[ efjmeshšme& kesâ 
meeLe Øeefleef›eâÙee 

C Cocaine /keâeskeâerve 3. Interfers with 
transport of 

neuransmitters 

/vÙetjesš^ebmeceeršj kesâ 
heefjJenve  cesb 
nmle#eshe keâjlee nw 

D Atropa Belladona 
/Sš^eshee yesuee[esvee 

4. Plant with 

hallucinogenic 

properties 
/ceefleYeücekeâejer iegCeeW 
Jeeuee heewOee 

      Code / keâes[ 
  A B C D  A B C D 

 (a) 4  2  1  3 (b) 3  4  2  1  
 (c) 1  3  4  2 (d) 2  1  3  4  

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (d) :  

List-I List-II 

A. Opioids  2 Reacts with opioid 
receptors in the central 
nervous system.   

B. Cannabinoids  1 Reacts with receptors 
present mainly in the 
brain. 

C. Cocaine  3 Interferes with the 
transport of 
neurotransmitters.  

D. Atropa 
belladona 

4 Plant with hallucinogenic 
properties  

28.  Most of the economically important fibre, the 

plants belong to which providing crops come 

under? 

  DeefOekeâlej DeeefLe&keâ ™he mes cenlJehetCe&, jsMes Øeoeve keâjves 
Jeeues heewOes efkeâme kegâue  (Family) kesâ Devleie&le Deeles nQ? 

 (a) Malvaceae/ceeueJesmeer (b) Solanaceae/meesuesvesmeer 
 (c) Cruciferae/›etâmeerHesâjer (d) Poaceae/heesSsmeer 

MP-GNTST/PNST-2020 

Ans. (a) : The Malvaceae family includes economically 
important fiber-producing plants like cotton 
(Gossypium species). Cotton is the primary natural fiber 
used globally for textiles. Plants in this family produce 
fibers that are strong, durable and versatile, making 
them crucial in the textile industry.  
29.  The male cones of Pinus contain a large 

number of  

  heeFveme kesâ vej Mebkegâ ceW yengle DeefOekeâ mebKÙee ceW GheefmLele 
nesleer nQ 

 (a) Ligules/efueiÙetume  

 (b) Pollen/hejeiekeâes<e  
 (c) Microsporophyll's/ceeF›eâesmheesjesefHeâume  
 (d) Megasporophylls/cesieemheesjesefHeâume 

MP-GNTST/PNST-2020 
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Ans. (c): Male cones of Pinus consist of 

microsporophylls, which are specialized structures that 

bear microsporangia. Within these sporangia, 

microspores are produced through meiosis. These 

microspores develop into pollen grains, which are 

essential for reproduction, facilitating the transfer of 

sperm to female cones for fertilization.     

30. Which of the following plant products is the

hardest?

efvecve ceW mes keâewve-mee heeohe Glheeo meyemes keâ"esj nw?

(a) Lignin/efueefiveve
(b) Cutin/keäÙetefšve
(c) Suberin/megyesefjve
(d) Sporopollenin/mheesjesheesuesefveve

MP-GNTST/PNST-2020 

Ans. (d) : Sporopollenin is a complex polymer found in 

the outer walls of spores and pollen grains, making it 

highly resistant to decay and environmental factors. Its 

unique structure and chemical properties contribute to 

its hardness, surpassing other plant products like lignin, 

cutin and suberin in terms of durability and strength.  

31. Which of the following is not a characteristic of

gymnosperms?

efvecve ceW mes keâewve-mee DeveeJe=leyeerefpeÙeeW keâe ue#eCe
veneR nw?

(a) Parallel veins/meceeblej efMejeefJevÙeeme
(b) Perennial plants/yengJe<eea heewOes
(c) Different branches (long and short)/efYeVe MeeKeeSB

(uecyeer SJeb Úesšer)
(d) Ducted xylem/JeeefnveerÙegòeâ peeFuece

MP-GNTST/PNST-2020 

Ans. (d) : Gymnosperms primarily contain tracheids in 

their xylem for water transport, lacking vessels, which 

are characteristic of angiosperms. They exhibit distinct 

branching patterns, are mostly perennial plants, and can 

have leaves with parallel venation. However, the 

presence of vessels in xylem is not a characteristic of 

gymnosperm.   

32. When green tomatoes turn red

njs šceešj ueeue nesles nQ

(a) When new chlorophyll is formed/peye veS
nefjleueJekeâ yeveles nQ

(b) When chloroplasts transform into 

chromoplasts/nefjleueJekeâ keâe JeCeeaueJekeâ ceW heefjJele&ve 
nesves hej 

(c) When thallus changes into chloroplasts

/JeCeeaueJekeâ keâe nefjleueJekeâ ceW heefjJele&ve nesves hej
(d) When regeneration activity starts/hegvepeeaJeve

ef›eâÙeeMeeruelee ØeejcYe nesves hej
MP-GNTST/PNST-2015 

Ans. (b) : Green tomatoes turn red when chloroplasts 
transform into chromoplasts. This transformation 
involves the breakdown of chlorophyll  and the 
synthesis of carotenoids which are responsible for the 

red or orange colour in ripe tomatoes.   

33. Insectivorous plants eat insects to obtain -

keâeršYe#eer heewOes keâeršeW keâe Ye#eCe keâjles nQ-
(a) Na and K / Na Je K nsleg
(b) Chloride / keäueesjeF[ nsleg
(c) Nitrogen / veeFš^espeve nsleg
(d) None of these / FveceW mes keâesF& veneR

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (c) : Insectivorous plants eat insects to obtain 
Nitrogen. These plants typically grow on soil deficient 
in nitrogen. Hence, they feed on insects to meet their 
nitrogen deficiency, examples are Bladderworts, Venus 

flytrap and Pitcher plants. 

34. In plant kingdom, second largest chloroplast is

found in

heeohe peiele ceW otmeje meyemes yeÌ[e keäueesjeshueemš heeÙee
peelee nw -
(a) Chlorella / keäueesjsuuee ceW
(b) Azolla / Speesuee ceW
(c) Scenedesmus / meskesâv[smceme ceW
(d) Pandanus / hesC[sveme ceW

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (c) : In plant kingdom, Scenedesmus, is a genus of 
green algae, in the class Chlorophyceae, has relatively 
large chloroplast. It is used experimentally to study 
pollution, photosynthesis and is a potential source of 

biodiesel.

35. Which of the following are correct about plants?

heewOeeW kesâ yeejs ceW efvecve ceW mes keâewve mes keâLeve mener nQ?
P. Plants do not gastrulate/heewOes kebâotkeâve veneR

keâjles nQ
Q. Land plants have sporic meiosis rather

than gametic meiosis/mLeueerÙe heewOeeW ceW Ùegicekeâer
DeOe&met$eCe kesâ yepeeÙe yeerpeeCeg DeOe&met$eCe neslee nw

R. The life cycle of land plants includes both

diploid and haploid multicellular

stages/mLeueerÙe heewOeeW kesâ peerJeve Ûe›eâ ceW efÉiegefCele
Deewj DeiegefCele yengkeâesefMekeâeDeeW kesâ oesveeW DeJemLeeSb
nesleer nw~

S. Gamete formation involves mitosis not

meiosis/Ùegicekeâ efvecee&Ce ceW DeOe&met$eCe veneR mecemet$eCe
neslee nw~

(a) P and Q/P Deewj Q
(b) Q and R/Q Deewj R
(c) P, Q and R/P, Q Deewj R
(d) P, Q, R and S/P, Q, R Deewj S

RUHS NURSING 2018
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Ans. (d) All the Statement are correct: 

P: Gastrulation (gastrula formation) does not occur in 

plants because it is an animal development process. 

Q: The life cycle of terrestrial plants is based on 

sporangium meiosis, where the diploid (2n) sporophyte 

produces spores. 

R:Terrestrial plants have both diploid (sporophyte) and 

haploid (gametophyte) multicellular stages during their 

life cycle. 

S: Gametes in plants are formed by mitosis while spores 

are formed by meiosis. 
36.  Which of the following plant is used for the 

purification of water?  
  efvecveefueefKele ceW mes efkeâme heewOes keâe GheÙeesie peue kesâ 

MegefækeâjCe kesâ efueS efkeâÙee peelee nw? 
 (a) Biggiata / efyeefieÙeeše  
 (b) Chlorella / keäueesjsuee  
 (c) Spirogyra / mheeFjesieeFje 
 (d) Eichhornia / peuekebgâYeer 

MP PNST 09.07.2023 SHIFT-II 
Ans. (d) : Eichhornia (water hyacinth) purifies water by 

absorbing pollutants, heavy metals and excess nutrients, 

making it effective for phytoremediation.  
37.  Marchantia belongs to -   
  ceekexâefMeÙee (Marchantia) mebyebefOele nw- 
 (a) Thallophyta / LewueesHeâeFše mes  
 (b) Bryophyta / yeÇeÙeesHeâeFše mes  
 (c) Pteridophyta / šsefj[esHeâeFše mes 
 (d) Gymnosperms / efpecveesmhece& mes 

MP PNST 09.07.2023 SHIFT-II 
Ans. (b) : Marchantia is a liverwort from the Bryophyta 

division, consisting of non-vascular plants, including 

mosses, liverworts and hornworts.  
38.  Which of the following belongs to the same 

division of Kingdom Plantae?  
  efvecveefueefKele ceW mes keâewve efkebâie[ce hueebšer kesâ Skeâ ner 

ef[Jeerpeve mes mebyebefOele nw? 
 (a) Ulva, Funaria, Ulothrix/DeuJee, heäÙetvesefjÙee, 

ÙegueesefLeÇkeäme  
 (b) Marchantia, Marsilea, fern/ceekexâefMeÙee, ceemee&refueÙee, 

heâve&   
 (c) Riccia, Marchantia, Funaria/efjefkeämeÙee, ceekexâefMeÙee, 

heäÙetvesefjÙee  
 (d) Spirogyra, Riccia, Cycas/mheeFjesieeFje, efjefkeämeÙee, 

meeFkeâme  
MP PNST 09.07.2023 SHIFT I 

Ans. (c) : Riccia, Marchantia, Funaria these plants 

belongs to the division Bryophyta which includes non 

vascular plants like liverworts (Riccia, Marchantia) and 

mosses (Funaria). They lack true vascular tissue & 

reproduce through spores.   

39.  What kind of a life cycle does Volvox have?  
  Jee@ueJee@keäme cebs efkeâme Øekeâej keâe peerJeve Ûe›eâ neslee nw? 

 (a) Haplontic / DeiegefCelekeâ   
 (b) Diplontic / efÉiegefCelekeâ  
 (c) Haplodiplontic / efceefßele 
 (d) None of the above / keâesF& Yeer veneR 

BHU NURSING 2017 
Ans. (a) : Volvox has a haplontic life cycle, meaning it 

spends most of its life in the haploid (n) stage. During 

sexual reproduction, it forms a diploid zygote (2n), 

which then undergoes meiosis to produce haploid (n) 

cells. These haploid cells grow into new colonies, 

completing the cycle.  
40.  Sea lettuce is common name of   
  meer uesšÙetme efkeâmekeâe meeceevÙe veece nw? 

 (a) Laminaria/uewefcevesefjÙee  
 (b) Ulva/DeuJee  
 (c) Fucus/HeäÙetkeâme 
 (d) Sargassum/meejieemece 

BHU NURSING 2017 
Ans. (b) : Sea lettuce is the common name for Ulva, a 

genus of green algae found in marine environments. It is 

known for its bright green, thin and leafy appearance. 

Ulva species are commonly found in tidal zones, 

estuaries and coastal areas.   
41. Plants having vascular tissue without seeds 

 yeerpe jefnle mebJenveer Tlekeâ Jeeues heewOes- 

 (a) Angiosperm/DeeJe=efòeyeerpeer  
 (b) Pteridophytes/šsefj[esheâeFšdme  
 (c) Bryophytes/yeÇeÙeesheâeFšdme   
 (d) Gymnosperms/DeveeJe=òe yeerpeer 

J&K NURSING 2023 
Ans. (b) : Pteridophytes are plants with vascular tissue 

(xylem and phloem) but do not produce seeds. They 

reproduce through spores and include ferns, horsetails, 

and clubmosses. Unlike angiosperms and 

gymnosperms, they lack flowers and seeds, while 

bryophytes do not have vascular tissue at all.   
42. Thallophytes lack a well-differiated body 

structure and the plant body is thallus-like. The 

common examples are 

 LewueesheâeFšdme ceW DeÛÚer lejn mes efJeYesefole Mejerj mebjÛevee 
keâe DeYeeJe neslee nw Deewj heewOes keâe Mejerj Lewueme pewmee 
neslee nw~ Fmekesâ meeceevÙe GoenjCe nQ 

 (a) Marchantia/ceeke&âefmeÙee 
 (b) Funaria/HeäÙetvesefjÙee  
 (c) Volvox/JeesuJee@keäme 
 (d) Selaginella/efmeuewefpevesuee  

J&K NURSING 2021 
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Ans. (c) : Volvox is a thallophyte, a simple, non-
vascular plant with a thallus-like body. It lacks tissue 
differiation, unlike more complex plants, making it a 
typical ple of thallophytes like algae. 
43.  Corolloid root of Cycas contain colony of :  
  meeFkeâme kesâ keâesjsuee@F[ peÌ[eW ceW efkeâmekeâer keâe@ueesveer 

nesleer nw- 
 (a) Chlorella/keäueesjsuee 
 (b) Aulosira/Deewueesefmeje 
 (c) Anabaena/Sveeefyevee   
 (d) Oscillatoria/Dee@efmeuesšesefjÙee 

HNBUMU B.Sc NURSING 15-6-2024 
Ans.(c): The coralloid roots of Cycas contain 
Anabaena, a nitrogen-fixing cyanobacterium. This 
symbiotic relationship helps Cycas by converting 
atmospheric nitrogen into a usable form supporting its 
growth in nutrient-poor soils.  
44.  Which one is haploid structure in Funaria?  
  heäÙetvesefjÙee ceW keâewve meer DeiegefCele mebjÛevee nw? 
 (a) Protonema /Øeesšesveercee  
 (b) Capsule/kewâhmetue  
 (c) Columella/keâesuÙetcesuee  
 (d) Seta/meerše 

HNBUMU B.Sc NURSING 15-6-2024 
Ans. (a) : The protonema is the haploid stage in 
Funaria, developing from the spores. It grows into the 
gametophyte, which produces gametes, marking the 
beginning of the moss’s life cycle. 
45.  Which of the following statement is correct?  
  efvecveefueefKele ceW mes keâewve mee keâLeve mener nw~ 
 (a) Fusion of two cells is called karyogamy/oes 

keâesefMekeâeDeeW kesâ mebueÙeve keâe kesâvõkeâ mebueÙeve keâne peelee nw~  
 (b) Fusion of protoplasm between two motile on 

non-motile gametes is called plasmogamy/ 

DeÛeue Ùegicekeâes hej oes Ûeue Ùegicekeâes kesâ yeerÛe peerJeõJÙe kesâ 
mebueÙeve keâes keâesefMekeâe õJÙe ueÙeve keâne peelee nw~  

 (c) Organisms that depends on living plants are 

called saprophytes/pees peerJe peerefJele heeohees hej efveYe&j 
nesles nw GvnW ce=leeshe peerJeer keâne peelee nw~ 

 (d) Some of the organisms can fix atmospheric 
nitrogen in specialized cells called sheath 

cells./kegâÚ peerJe JeeÙegceb[ueerÙe veeFš^espeve kesâ DeeÛÚeo 
keâesefMekeâe keâner peeves Jeeueer efJeefMe° keâesefMekeâeDeeW ceW 
efmLeefjke=âle keâj mekeâles nw~ 

HBNU B.Sc NURSING 2022 
Ans. (b) : Fusion of protoplasms between two motile or 
non-motile gametes is called plasmogamy. This 
statement is correct. Other options are incorrect due to 
factual inaccuracies about biological processes because:  

�  Karyogamy refers to the fusion of nuclei.  

� Saprophytes depend on dead organic matter, not 
living plants. 

� Nitrogen-fixing cells are called heterocyst, not 
sheath cells.        

46.  Pinus seed cannot germinate and established 

without fungal association. This  is because:  
  heeFveme kesâ yeerpe keâJekeâ kesâ menÙeesie kesâ efyevee Debkegâefjle 

Deewj mLeeefhele veneR nes mekeâles~ Ùen efkeâme keâejCe neslee nw? 

 (a) Its embryo is immature/Fmekeâe YeütCe DeheefjhekeäJe 
neslee nw  

 (b) It has obligate association with mycorrhizae/ 

Fmekeâe keâJekeâcetue (ceeFkeâesjeFpee) kesâ meeLe DeefveJeeÙe& 
mebyebOe nw 

 (c) It has very hard seed coat/Fmekeâe yeerpeeJejCe yengle 
keâ"esj neslee nw 

 (d) Its seeds contain inhibitors that prev 

germination/yeerpe ceW yeeOekeâ GheefmLele nesles nw pees 
DekegbâjCe keâes jeskeâles nw 

HBNU B.Sc NURSING 2020 
Ans. (b) : Pinus seeds require an obligate association 

with mycorrhizal fungi to germinate and establish. The 

fungi form a symbiotic relationship with the roots, 

enhancing water and nutrient absorption, which is 

essential for the seedling’s growth and survival.  
47.  Which one is wrongly matched?  
  efvecveefueefKele ceW keâewve mee ieuele ™he megcesefuele nw? 

 (a) Gemma cups - Marchantia/pescee keâhe- ceekexâefMeÙee  
 (b) Biflagellate zoospores - Brown algae/ 

efÉkeâMeeefYekeâ ÛeueyeerpeeCeg - Yetjs MewJeeue  
 (c) Uniflagellate gametes- Polysiphonia/ 

SkeâkeâMeeefYekeâ Ùegicekeâ- hee@efuemeeFheâesefveÙee 
 (d) Unicellular organism- Chlorella /SkeâkeâesefMekeâ 

peerJe- keäueesjsuee 
HBNU B.Sc NURSING 2020 

Ans. (c) : Uniflagellate gametes - Polysiphonia is 

incorrect because Polysiphonia is a red alga, and red 

algae do not produces flagellated gametes. Their 

gametes are non-motile.  
48.  After karyogamy followed by meiosis, spores 

are produced exogenously in : 
  efvecveefueefKele ceW mes efkeâmeceW kesâvõkeâmebueÙeve leLee 

DeOe&met$eerefJeYeepeve kesâ heMÛeele yeerpeeCeg yeefnpee&le ®he ceW 
GlheVe nessles nw? 

 (a) Agaricus/Sieeefjkeâme  
 (b) Alternaria/DeušjvesefjÙee  
 (c) Neurospora/vÙetjesmheesje 
 (d) Saccharomyces/mew›eâesceeFefmeme 

HBNU B.Sc NURSING 2020 
Ans. (a) : Agaricus is a genus of fungi that belongs to 

the Basidiomycetes class, which produces sexual spores 

called basidiospores exogenously. This means that the 

spores are formed outside the body is specialized 

fruiting bodies.  



 19 YCT 

49.  Which among the following is not a prokaryote?  
  efvecveefueefKele ceW keâewve mee Skeâ hetJe&kesâvõkeâ veneR nw? 
 (a) Nostoc/veemše@keâ  
 (b) Mycobacterium/ceeFkeâesyewkeäšerjerÙece 
 (c) Saccharomyces/mew›eâesceeFefmeme 
 (d) Oscillatoria/Dee@efmeuesšesefjÙee 

HBNU B.Sc NURSING 2020 
Ans. (c) : Saccharomyces is a genus of fungi (e.g. 

Saccharomyces cerevisiae) and is a eukaryote, whereas 

the others (Nostoc, Mycobacterium and Oscillatoria) are 

prokaryotes.  
50.  Chilogza is a fruit, obtained from a 

gymnosperm which is-  
  efÛeueieespee Skeâ heâue nw pees efkeâ FveceW mes Skeâ efpecveesmhece& 

mes Øeehle neslee nw— 

 (a) Pinus roxburghii/heeFveme je@keämeyeIeea 
 (b) Pinus gerardiana/heeFveme efpejeef[&Ùeevee  
 (c) Cycas revoluta/meeFkeâme jsJeesuegše 
 (d) Abies balsamina/Sefyeme yeeumeefcevee 

HBNU B.Sc NURSING 2019 
Ans. (b) : Chilgoza (Pine nuts) is obtained from Pinus 

gerardiana, a gymnosperm native to the Himalayas. It is 

known for its edible seeds, which are commonly used as 

snacks.  
51.  The maidenhair tree is-  
  cess[sve nsÙej Je=#e nw— 
 (a) Pinus/heeFveme  
 (b) Adiantum/Sef[Svšce  
 (c) Ginkgo biloba/efiebkeâes yeeFueesyee 
 (d) Gnetum ula/veeršce Guee 

HBNU B.Sc NURSING 2019 
Ans. (c) : The “maidenhair tree” is the common name 

for Ginkgo biloba, a unique and ancient species. Its fan-

shaped leaves resemble the maidenhair fern 

(Adiantum). Ginkgo biloba is a living fossil and the 

only surviving species in the group Ginkgoales.  
52.  Pond silk is common name of-  
  leeueeye keâe jsMece efkeâmekeâe meeceevÙe veece nw— 

 (a) Spongilla/mheeWefpeuee  
 (b) Chlorella/keäueesjsuee  
 (c) Corallina/keâe@jeefuevee 
 (d) Spirogyra/mheeFjesieeÙeje 

HBNU B.Sc NURSING 2019 
Ans. (d) : “Pond silk” refers to Spirogyra, a type of 

filamentous green algae commonly found in freshwater 

ponds. It gets its name due to its slimy, silky texture, 

forming green mats on waters surface.  
53.  The word "Thallophyta" means……   
  ‘‘LewueesheâeFše’’ Meyo keâe DeLe&............... nw 

 (a) Plants that don't have well-differentiated 

structure/Ssmes heewOes efpevekeâer mebjÛevee DeÛÚer lejn mes 
efYeVe veneR nesleer nw  

 (b) Plants that have large leaves/yeÌ[s heòes Jeeues heewOes  
 (c) Plants that grow in colonies/keâe@ueesefveÙeeB ceW Gieves 

Jeeues heewOes 
 (d) Plants that are filamentous/heewOes pees efheâueeceWšme nQ 

HBNU B.Sc NURSING 2021 
Ans. (a) : Thallophyta refers to simple plants such as 

algae and fungi, with an undifferentiated body (thallus). 

They lack distinct structures like stems, leaves and roots 

unlike more complex plants.  
54.  How does hydra reproduce?  
  neF[^e kewâmes Øepeveve keâjlee nw? 

 (a) Gemmules/pescÙetume  
 (b) Budding/yeef[bie  
 (c) Conidia/keâesefveef[Ùee 
 (d) Zoospores/petmheesj 

HBNU B.Sc NURSING 2021 
Ans. (b) : Hydra primarily reproduce asexually through 

budding, where small bud grows on the body of the par 

and eventually detaches to become a new individual.  
55.  The most common tree species in Indian rain 

forest is:  
  YeejleerÙe jsveheâejsmš ceW yenguelee ceW keâewve-meer Je=#e keâer 

Øepeeefle efceueleer nw? 

 (a) Mangifera/ceQieerhesâje  
 (b) Hopea/nesefheÙee  
 (c) Tectona/šskeäšesvee 
 (d) Dalbergia/[ueyeefpe&Ùee 

BHU B.Sc NURSING 2019 
Ans. (b) : Hopea is common in Indian rainforests due to 

its prevalance in tropical, evergreen forests, especially 

in the Western Ghats.  
56.  Root like structures pres in the bryophytes is 

known as:  
  yeÇeÙeesheâeFšdme ceW peÌ[ keâer lejn keâewve-meer jÛevee 

efceueleer nw? 

 (a) Trichome/š^eFkeâesce  
 (b) Rhizoids/cetueeYeeme  
 (c) Flagellum/keâMeeefYekeâe 
 (d) Protonema/ØeLece lebleg 

BHU B.Sc NURSING 2019 
Ans. (b) : Rhizoids are thin, root-like structures in 

bryophytes. They anchor the plant to surfaces and assist 

in absorbing water and mineral though they lack the 

complexity of tree roots founds in higher plants.  
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57. Hydra is:/neF[^e nw:
(a) Omnivorous/meJe&Ye#eer
(b) Herbivorous/Meekeâenejer
(c) Carnivorous/ceebmeenejer
(d) Viviparous/efJeefJehesjme

BHU B.Sc NURSING 2019

Ans. (c) : Hydra is a carnivorous organism that captures 

small aquatic prey, like tiny crustaceans and larvae, 

using its tentacles with stinging cells. This enables it to 

immobilize and consume its food. 

58. Microsporophyll is found on

ceeF›eâesmheesjesefHeâue (microsporophyll) efkeâme hej heeÙee
peelee nw
(a) Leaves of algae for photosynthesis /

ØekeâeMe mebMues<eCe kesâ efueS MewJeeue keâer heefòeÙeeW hej
(b) Leaves of bryophytes for photosynthesis /

ØekeâeMe mebMues<eCe kesâ efueS yeÇeÙeesHeâeFšdme keâer heefòeÙeeW hej
(c) Male strobili of gymnosperms /

DeveeJe=leyeerpeer kesâ heg®<e Debie kesâ keâesve (strobili) hej
(d) Female strobili of gymnosperms /

DeveeJe=leyeerpeer kesâ Œeer Debie kesâ keâesve (strobili) hej
BHU NURSING 2016

Ans. (c) : Microsporophylls are specialized structures 

found in the male strobili of gymnosperms. They bear 

microsporangia, which produce microspores that 

develop into pollen grains for fertilization in these 

plants. 

59. Female organ of bryophytes is called

yeÇeÙeesHeâeFšdme kesâ ceeoe DebieeW keâes keäÙee keâne peelee nw
(a) Archegoniun / DeeÛeeaieesefveÙece (ŒeerOeeveer)
(b) Gametophyte / ÙegicekeâesodefYeod
(c) Sporophyte / yeerpeeCegodefYeod
(d) Spore / yeerpeeCeg

BHU NURSING 2016

Ans. (a) : In bryophytes, the archegoniun is the female 

reproductive organ that produces the egg cell. It is 

typically a flask-shaped structure where fertilization 

occurs after the sperm reaches the egg. 

60. In brown algae, the leaf-like photosynthesis

organ is

Yetjs MewJeeue ceW, heòeer keâer lejn mebMues<ekeâ Debie nw
(a) Stipe / [b"ue
(b) Holdfast / kebâg[er
(c) Frond / øeâev[
(d) Laminarin / uewefcevesefjve

BHU NURSING 2016

Ans. (c) : In brown algae, the frond is the leaf-like 

structure responsible for photosynthesis. It resembles a 

leaf and aids in capturing sunlight for the algae’s energy 

production, similar to plant leaves.

61. In red algae, number of flagella are

}eue MewJeeue ceW, heäuewefpeuee keâer mebKÙee Je Øekeâej keäÙee nw?
(a) 2 to 8 equal-sized / 2 mes 8 yejeyej Deekeâej kesâ
(b) 2 unequal sized / 2 Demeceeve Deekeâej kesâ
(c) 2 to 8 unequal sized / 2 mes 8 Demeceeve Deekeâej kesâ
(d) 0 (zero) / MetvÙe

BHU NURSING 2016

Ans. (d) : Red algae (Rhodophyta) lack flagella, 
making them non-motile. They do not use flagella for 
movement or reproduction. Instead, they reproduce 
through spore release or other mechanisms, such as 
gamete fusion, without the need for flagellated cells. 

62. Which one of the following genera shows

vessels in xylem:

efvecveefueefKele JebMees bceW mes efkeâmekesâ oe® ceW JeeefnkeâeÙeW
nesleer nw :
(a) Cycas /meeFkeâme
(b) Pinus /heeFveme
(c) Gnetum/efvešce
(d) Marsilea/ceemeeaefueÙee

BHU NURSING 2015

Ans. (c) : Gnetum is a genus of gymnosperms that 
possesses vessels in its xylem, this feature typically 
seen in angiosperms. This distinguishes it from other 
gymnosperms like cycas, pinus and marsilea, which 
lack vessels.

63.  Species of Anthoceros are commonly known as:

SvLeesmesje@me keâer peeefle Deece leewj mes peeveer peeleer nw :
(a) hornworts /neveandJešand
(b) liverworts /efueJejJešand
(c) clubmoss /keäueye ceeme
(d) horsetail /nemeandšsue

BHU NURSING 2015

Ans. (a) : Species of Anthoceros, commonly called 
hornworts that are non-vascular bryophytes. They are 
named for their horn-shaped sporophytes, which grow 
from a flat, thalloid gametophyte. Hornworts are found 
in moist habitats and play a role in soil stabilization.

64. Cyanophyceae is separated from algae because

it is:

meeÙeveesHeâeFmeer keâes DevÙe MewJeeueeW mes Deueie efkeâÙee peelee
nw, keäÙeeW efkeâ Ùen:

(a) Eukaryotic /ÙetkewâefjÙeeefškeâ neslee nw
(b) Unicellular /Skeâ keâesefMekeâerÙe neslee nw
(c) Prokaryotic /ØeeskewâefjÙeeefškeâ neslee nw
(d) Filamous/ leblegJele neslee nw

BHU NURSING 2015

Ans. (c) : Cyanophyceae also known as blue-green 
algae are classified separately from other algae because 
they are prokaryotic, meaning they lack a defined 
nucleus and other membrane-bound organelles. Unlike 
the eukaryotic algae.
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65. Agar- agar is obtained from

Deiej- Deiej Øeehle efkeâÙee peelee nw:
(a) Sargassum/meejieemece mes
(b) Nostoc /vee@mšekeâ mes
(c) Gelidium/efpeuesef[Ùece mes
(d) Ectocarpus/Skeäšeskeâeheandme mes

BHU NURSING 2015

Ans. (c) : Agar-Agar is a gelatinous substance obtained 

from Gelidium. It is a type of red algae commonly used 

in laboratories as a medium for growing cultures and in 

the food industry as a thickening agent.

66. Plants with great ecological importance but

little economic importance belong to

heeohe pees heeefjefmLeeflekeâ Âef° mes yengle cenlJehetCe& nw hejvleg
DeeefLe&keâ cenlJe yengle keâce nw
(a) Bryophytes / yeÇeFÙeesHeâeFš
(b) Pteridophytes / šwefj[esHeâeFš
(c) Gymnosperm / efpecveesmhece&
(d) Algae / MewJeeue

BHU NURSING 2014

Ans. (a) : Bryophytes, commonly known as mosses and 

liverworts, play a crucial ecological role. They 

contribute to soil formation, prevent soil erosion and 

maintain moisture in ecosystems. However, their 

economic importance is limited as they are not directly 

used in agriculture industry or as food. Unlike algae, 

gymnospersms and pteridophytes which have 

applications in various industries, bryophytes have 

minimal direct economic utility. 

67. Which one of the following is monoecius?

efvecve ceW mes keâewve mee heeohe GYeÙeefuebieeßeÙeer nw
(efÉefuebieer)?
(a) Marchantia / ceekexâefvMeÙee
(b) Cycas / meeFkeâme
(c) Date palm / Kepetj
(d) Pinus / heeFveme (ÛeerÌ[)

BHU NURSING 2014

Ans. (c) : Date palm is monoecious because it has both 

male and female flowers on the same plant, allowing it 

to reproduce efficiently. Marchantia, Cycas and Pinus 

are dioecious, with separate sexes.

68. Peristome teeth is observed which part of

Funaria:

heefjcegKe ovle jÛeveeSB HeäÙetvesefjÙee kesâ efkeâme Yeeie ceW heeF&
peeleer nw:
(a) Rhizoids / cetueeYeeme ceW
(b) Leaf / heefòeÙeeW ceW
(c) Stem / leves ceW
(d) Capsule / mechegefškeâe ceW

BHU NURSING 2014

Ans. (d) : Peristome teeth are observed in the capsule of 

Funaria, a type of moss. The peristome teeth are part of 

the structure around the opening of the capsule and play 

a role is spore dispersal.

69. Prothallus of fern has

Heâve& keâer ØeesLewueme ceW neslee nw
(a) Antheridia and archegonia on lower surface

/efveÛeueer melen hej SvLesefjef[Ùee Deewj DeekeâeaieesefveÙee
(b) Antheridia on upper surface and archegonia

on lower surface/Thejer melen hej SvLesefjef[Ùee Deewj
efveÛeueer melen hej DeekeâeaieesefveÙee

(c) Antheridia and archegonia on upper surface/

SvLesefjef[Ùee Deewj DeekeâeaieesefveÙee Thejer melen hej
(d) Antheridia on lower surface and archegonia

on upper surface/efveÛeueer melen hej SvLesefjef[Ùee Deewj
Thejer melen hej DeekeâeaieesefveÙee

BHU NURSING 2013

Ans. (d) : In ferns, the prothallus is a small, heart-

shaped gametophyte. It has antheridia (male organs) in 

lower surface and archegonia (female organs) near the 

notch of its upper surface, enabling sexual reproduction.

70. Which of the following is not a biofertilizer?

efvecveefueefKele ceW mes keâewve-mee Skeâ pewJe GJe&jkeâ veneR nw?

(a) Aulosira/DeeueesmeeFje
(b) Mycorrhizae/keâJekeâ cetue
(c) Alternaria/DeeušjvexefjÙee
(d) Azotobacter/Speesšesyewkeäšj

BHU NURSING 2013

Ans. (c) : Alternaria is a genus of fungi that causes 

plant diseases. It is not used as a biofertilizer. 

Biofertilizers like Aulosira, Mycorrhiza and 

Azotobacter help improve soil fertility by enhancing 

nutrient availability to plants.

71. In algae where the gametes are similar in

appearance and cannot be categorized into

male and female, they are called

MewJeeue ceW pene@ Ùegicekeâ efoKeves ceW meceeve nesles nQ Deewj
GvnW vej Deewj ceeoe ceW Jeieeake=âle veneR efkeâÙee pee mekeâlee nw,
Gvns keâne peelee nw–

(a) Antherozoid and ovum/SvLesjespee@F[ Deewj ef[bye
(b) Sperm and egg/Meg›eâeCeg Deewj Deb[e
(c) Homogametes/nesceesiewceeršdme
(d) Heterogametes/nsšsjesiewceeršdme

JHARKHAND B.Sc NURSING 2023

Ans. (c) : Homogametes are also known as isogametes. 

In algae, when the gametes are morphologically similar 

and cannot be differentiated into male and female, they 

are called homogametes, both gametes appear identical 

in size and shape. 
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72. All gymnosperms are pollinated by–

meYeer efpecveesmce& keâe hejeieCe _____ kesâ Éeje neslee nw?
(a) Wind/nJee (b) Bats/ÛeceieeoÌ[
(c) Insect/keâerš (d) Bird/he#eer

JHARKHAND  B.Sc  2022 NURSING

Ans. (a) : All gymnosperms are pollinated by wind. 

Gymnosperms, such as conifers, do not have flowers. 

Instead, they produce cones that release pollen, which is 

carried by the wind to fertilize the ovules. This type of 

pollination is known as anemophily.

73. Which of the plants are called naked seed

plants?

efkeâve heewOeeW keâes veive yeerpe Jeeuee heewOee keâne peelee nw?
(a) Hydrophytes/neF[^esheâeFšdme
(b) Gymnosperms/efpecveesmhece&
(c) Angiosperms/SbefpeÙeesmhece&
(d) Pteridophytes/šsefj[esheâeFšdme

JHARKHAND  B.Sc  2022 NURSING

Ans. (b) : Gymnosperms are called 'naked seed plants' 

because their seeds develop on the surface of cones or 

other structures, without being enclosed by a fruit. This 

is different from angiosperms, which have seeds 

enclosed within fruits.

74. In which of the following the apogamy is

common?

Sheesiewceer efvecve ceW mes efkeâmeceW meeceevÙe nw?
(a) Cycas/meeFkeâme (b) Gnetum/veeršce
(c) Ferns/heâvme& (d) Tomato/šceešj

JHARKHAND  B.Sc  2022 NURSING

Ans. (c) : Apogamy is a type of asexual reproduction in 

which a sporophyte develops from a gametophyte 

without the fusion of gametes. It is common in ferns 

and allows them reproduce in unfavorable conditions,  

by passing the typical sexual reproduction cycle.

75. Identify the pair of heterosporous 

pteridophytes among the following:

efvecveefueefKele ceW mes efJe<ece yeerpeeCeg šsefj[esheâeFš kesâ Ùegice 
keâes henÛeeefveSŠ- 
(a) Selaginella and Salvinia/efmeuesefpevesuee Deewj 

meeuJeerefveÙee
(b) Psilotum and Salvinia/meeFueesšce Deewj meeuJeerefveÙee
(c) Equisetum and Salvinia/FkeäJeermeeršce Deewj 

meeuJeerefveÙee
(d) Lycopodium and Selaginella/ueeFkeâesheesef[Ùece Deewj

efmeuesefpevesuee
PPMET BFUHS B.Sc NURSING 2024

Ans. (a) : Selaginella and Salvinia are heterosporous 

pteridophytes, meaning they produce two distinct types 

of spores: microspores (male) and megaspores (female), 

unlike other pteriodophytes that produce only one type 

of spore.  

76. Which of the following is correctly paired?

efvecveefueefKele ceW mes keâewve-mee mener megcesefuele nw?

(a) Algae→Hold fast, stipe and frond/MewJeeue →
leer›e hekeâÌ[, Je=vle, leeue heòee

(b) Gymnosperms→ Gemma 

cup/DeveeJe=òeyeerpeer→iewhee ke@âhe
(c) Pteridophytes→Protonema and leafy 

stage/šsefj[esheâeFš→ Øeesšesveercee Deewj he$e ÛejCe
(d) Bryophytes→Triple fusion and

syngamy/yeÇeÙeesheâeFš→ ef$e-mebueÙeve Deewj Ùegicece
mebueÙeve

JHARKHAND B.Sc NURSING 2018

Ans. (a) : Algae have holdfast (attachm), stipe (support) 
and frond (photosynthesis). The other options are 
incorrect : gymnosperms lack a "cup", protonema 
occurs in bryophytes and triple fusion is exclusive to 
angiosperms.

77. Trifolium belongs to which family?

š^eFheâesefueÙece efkeâme heefjJeej mes Deelee nw?
(a) Brassicaceae/yeÇwefmekesâmeer
(b) Liliaceae/efueefueSmeer
(c) Solananceae/meeuewvesmeer
(d) Fabaceae/hewâyesmeer

JHARKHAND B.Sc NURSING 2018

Ans. (d) : Trifolium belongs to the Fabaceae family, 
known for leguminous plants with compound leaves 
and nitrogen-fixing abilities. This family includes 
economically important species like peas, beans and 
clovers.

78. Wheat belongs to phylum/division

iesntB efkeâme mecegoeÙe/ØeYeeie mes Deelee nw?
(a) Angiosperms/DeeJe=òeyeerpeer
(b) Gymnosperms/DeveeJe=òeyeerpeer
(c) Algae/MewJeeue
(d) Pteridophytes/šsefj[esheâeFš

JHARKHAND B.Sc NURSING 2018

Ans. (a) : Wheat is a flowering plant that produces 
seeds enclosed in a fruit, classifying it under the 
Angiosperms.

79. Which part of poppy plant is used to obtain the

drug "Smack"?

mcewkeâ veecekeâ [^ie heesmlee heewOes kesâ efkeâme Yeeie mes Øeehle
neslee nw?
(a) Roots/peÌ[eW mes (b) Latex/uesšskeäme mes
(c) Flowers/hetâueeW mes (d) Leaves/heefòeÙeeW mes

HBNU B.Sc NURSING 2020

Ans. (b) : “Smack” (heroin) is made from the latex of 
the opium poppy (Papaver somniferum). The unripe 
seed capsules of the plant are scored to release a milky 
sap, which dries into opium. This opium is then 
processed to produce heroin. 
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80.  Opium is obtained from-  
  Deheâerce Øeehle nesleer nw— 
 (a) Oryza sativa/DeesjeFpee mešeFJee mes  
 (b) Thea sinensis/efLeÙee meeFvesefvmeme mes  
 (c) Coffea arabica/keâe@]heâer Dejsefyekeâe mes 
 (d) Papaver somniferum/hewhessJej meesceveerhesâjce mes 

HBNU B.Sc NURSING 2019 
Ans. (d) : Opium is obtained from the latex (milky sap) 

of the poppy plant Papaver somniferum. This plant is 

cultivated for its seeds and for producing of opium, 

which is used to make narcotics like morphine and 

heroin.  
81.  In some members of which of the following 

pairs of families, pollen grains retain their 

viability for months after release?  
  efvecveefueefKele ceW mes efkeâve kegâueeW kesâ Ùegice ceW Gvekesâ kegâÚ 

meomÙeeW ceWs hejeiekeâCeeW keâer peerJeve#ecelee Gmekesâ cegòeâ nesves 
kesâ yeeo cenerveeW lekeâ jnleer nw~ 

 (a) Poaceae ; Rosaceae /heesSmeer, jespesmeer  
 (b) Poaceae ; Leguminosae/heesSmeer, uesiÙegefceveesmeer  
 (c) Poaceae ; Solanaceae/heesSmeer, meesuesvesmeer 
 (d) Rosaceae ; Leguminosae/jespesmeer, uesiÙegefceveesmeer 

HBNU B.Sc NURSING 2022 
Ans. (d) : In some members of the Rosaceae and 

Leguminosae families, pollen grains can retain their 

viability for months after release due to the presence of 

sporopollenin, which protects the pollen grains. This 

characteristic is not observed in the Poaceae family, 

where pollen viability is typically much shorter.    
82.  Which one is a wrong statement?  
  efvecveefueefKele ceW mes keâewve-mee keâLeve ieuele nw? 
 (a) Brown algae have chlorophyll a and c, and 

fucoxanthin/Yetjs MewJeeueeW ceW heCe&nefjle a Deewj c leLee 
heäÙetkeâespewvLeerve nesles nww~   

 (b) Archegonia are found in bryophyte, 

pteridophyta and gymnosperms/ŒeerOeeveer, 
yeÇeÙeesheâeFše, šsefj[esheâeFše Deewj DeveeJe=òeer heeoheeW  ceW 
heeÙeer peeleer nw~  

 (c) Mucor has biflagellate zoospores/cÙetkeâj ceW 
efÉkeâMeeefYekeâ Ûeue yeerpeeCeg nesles nQ~ 

 (d) Haploid endosperm is typical feature of 

gymnosperms/DeiegefCele YetÇCehees<e DeveeJe=òe yeerpeer 
heeoheeW keâe Øee™efhekeâ ue#eCe nw~ 

HBNU B.Sc NURSING 2017 
Ans. (c) : Mucor, a zygomycete fungus, produces non-

motile sporangia that release spores, unlike biflagellate 

zoospores. Biflagellate zoospores are characteristic of 

certain other fungi such as those in the chytridiomycota 

class. The statement about Mucor having biflagellate 

zoospores is incorrect because mucor's spore are not 

motile.     

83.  Which of the following organisms are known as 
chief producers in the oceans?  

  efvecveefueefKele ceW mes keâewve-mes peerJe cenemeeiejeW ceW cegKÙe 
Glheeokeâ kesâ ®he peeves peeles nw? 

 (a) Cyanobacteria/meeÙeveesyewkeäšerefjÙee  
 (b) Diatoms/[eÙešcme  
 (c) Dinoflagellates/[eÙeveesheäuewpesuesšdme 
 (d) Euglenoids/ÙegiueerveeF[dme 

HBNU B.Sc NURSING 2020 
Ans. (b) : Diatoms are the main producers in the 
oceans, playing a crucial role in photosynthesis and 
contributing significantly to the marine food web. 

Cyanobacteria and dinoflagellates also contribute, but 
less prominently, while euglenoids are primarily found 
in freshwater.  

84.  Vivipary is a character of :   
  pejeÙegpelee ue#eCe nw: 
 (a) parasite /hejpeerJeer   
 (b) mesophyte/efcepeesHeâeFš   
 (c) hydrophyte/neFand[^esHeâeFš  
 (d) halophyte/nwueesHeâeFš  

BHU NURSING 2015 
Ans. (d) : Vivipary is a characteristic feature of 
halophytes, such as mangroves. In vivipary seeds 
germinate which still attached to the parent plant. 
enabling young plants to survive in saline or water 
logged conditions, common in coastal and marshy 
environments.  
85. Which organisms have both types of gametes as 

motile? 

 efkeâme peerJe ceW oesveeW Øekeâej kesâ Ùegicekeâ ieefleMeerue nesles nQ? 
 (a) Few fungi and algae/kegâÚ keâJekeâ Deewj MewJeeue 
 (b) Gymnosperms/efpecveesmhece& 
 (c) Pteridophytes/šsefj[esheâeFšdme 
 (d) Bryophytes/yeÇeÙeesheâeFšdme 

JHARKHAND B.Sc NURSING 2023 
Ans. (a) : Organisms of few fungi and algae have both 
types of gametes are motile. This is a common feature 
in aquatic environments, where gametes actively swim 
toward each other for fertilization. In contrast, 
gymnosperms, pteridophytes and bryophytes typically 
have only one type of motile gamete.    

86.  Name the plant which flowers once in 12 years.  
  Gme heewOes keâe veece yeveeFS efpeme hej 12 Je<e& ceW Skeâ yeej 

hetâue Deeles nQ~ 
 (a) Bamboo/yeeBme  
 (b) Hibiscus/efnefyemkeâme  
 (c) Neela kurinji/veerue kegâefjbpeer 
 (d) Lotus/keâceue 

JHARKHAND B.Sc NURSING 2018 
Ans. (c) : Neela kurinji (Strobilanthes kunthiana) 
flowers once every 12 years, creating a spectacular 
blue-purple bloom in the Western Ghats.  
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3. 

Animal Kingdom
1. Presence of feathers is a characteristics of

hebKeeW keâer GheefmLeefle efkeâmekeâer  efJeMes<elee nw
(a) Mammals/mleveOeejer (b) Reptiles/mejerme=he
(c) Aves/hebÚer (d) Amphibians/GYeÙeÛej

Atal Medical & Research University H.P. 07.07.2024 

Ans. (c) : The characteristic features of Aves (birds) 
include the presence of feathers and most of them can 
fly, except flightless birds (e.g. ostrich).

2. Pearl is obtained from

__ mes ceesleer Øeehle neslee nw~
(a) Lamellidens/uesefceueer[svme
(b) Gastropods/iewmš^eshees[
(c) Protozoans/ØeesšespeesDeve
(d) Porifera /heesjerhesâje

CG. BSc. Nursng-2024 

Ans. (a) : Pearls are formed within the mantle of 
bivalve molluscs like Lamellidens. When an irritant, 
such as a grain of sand, enters the shell, the mollusc 
secretes layers of nacre (mother-of-pearl) around it. 
Over time, these layer build up resulting in the 
formation of a pearl. 

3. Mammary glands in prototherians are :

ØeesšesLesefjÙeve ceW mleve «ebefLeÙeeB nQ Š
(a) Absent/DevegheeqmLele
(b) Functional in female only/kesâJeue ceeoe ceW

keâeÙee&lcekeâ 
(c) Functional in male only/kesâJeue heg®<e ceW keâeÙee&lcekeâ
(d) Functional in both male and female/vej Deewj

ceeoe oesveeW ceW keâeÙee&lcekeâ
MP-PNST-07.07.2023, Shift-I 

Ans. (d) : In prototherians, both males and females 
have mammary glands although but only females 
produce milk. These glands are present in both sexes, 
but functional in females for nourishing the young, 
reflecting their evolutionary biology among 
monotremes like the Platypus.  

4. Which of the following is common among
mammals?

meYeer mleveOeeefjÙeeW ceW heeÙee peeves Jeeuee iegCe nQ–
(a) They undergo no moulting/efveceexÛeve mes veneR

iegpejles nQ
(b) They have seven cervical vertebrae

Gvekesâ heeme meele «eerJee keâMes™keâ nw
(c) They are carnivores/Jes ceebmeenejer nesles nw
(d) They have ventral nerve cord/ Gvekesâ heeme DeOej

lebef$ekeâe jppeg nesleer nw
HNBUMU BSc. Nursing-2023 

Ans. (b) : Most mammals, including humans, have 
seven cervical vertebrae (neck bones), regardless of 
whether they are small like mice or large like giraffes. 
This is a common characteristic among nearly  all 
mammals. 

5. Which of the following is not an example of
Kingdom Protista ?

efvecve ceW mes keâewve-mee Øeesefšmše peiele keâe GoenjCe veneR nw?
(a) Nostoc / veemšekeâ
(b) Diatoms / [eÙeSšcme
(c) Desmids / [sefmce[
(d) Dinoflagellates / [eÙeveesheäuewefpeuesš

CG BSc. Nursing-2021 

Ans. (a): The organism that is not an example of 
Kingdom Protista is Nostoc. Nostoc is actually a genus of 
Cyanobacteria, commonly known as blue-green algae, 
which belong to the Kingdom Monera not Protista.

6. Which of them is in tracheate group?

FveceW mes keâewve mee š^sefkeâÙee mecetn ceW nw ?
(a) Crab-Centipede-Cockroach/kesâkeâÌ[e-menœeheeo-efleueÛeóe
(b) King crab-Scorpion-Housefly /efkebâie›esâye-efyeÛÚt-cekeäKeer
(c) Spider-Peripatus-Housefly/cekeâÌ[er-hesefjhesšme-cekeäKeer
(d) Bedbug-Sandfly-Silkworm/Kešceue-mewC[heäueeF&-

jsMecekeâerš
CG BSc. Nursing-2022 

Ans. (d): Bedbugs, Sand flies, and Silkworm belong to 
the tracheate group of arthropoda due to their 
respiratory tracheal systems. 

7. Life cycle of Mucor is-   
  cÙetkeâj keâe peerJeve Ûe›eâ nw-

(a) Haplontic type /nwhuebeefškeâ šeFhe
(b) Isomorphic /DeeFmeescee@efHe&âkeâ
(c) Diplontic type /ef[hueebefškeâ šeFhe
(d) Heteromorphic /nsšsjescee@efHe&âkeâ

CG BSc. Nursing-2023 

Ans. (a) : The life cycle of Mucor is haplontic because 
it is dominated by haploid cells, starting from haploid 
spores, progressing through haploid mycelium growth 
and primarily reproducing with haploid spores.  

8. Which of the following is an example of
Cyclostomes?

efvecveefueefKele ceW mes keâewve meeFkeäueesmšesce keâe GoenjCe nw?
(a) Petromyzon/hesš^esceeF&peesve
(b) Octopus/Dee@keäšesheme
(c) Sea star/leeje ceÚueer
(d) Sea Urchin/mecegõer DeeefÛe&ve

MP-PNST-08.07.2023, Shift-II 
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Ans.(a):Cyclostomes are jawless fish with cartilaginous 
skeletons, including species like Petromyzon (lamprey).  

They are characterized by their lack of jaws and paired 
fins. The octopus belongs to the class Cephalopoda, 
while the Sea star and Sea urchin are part of phylum 
Echinodermata, not Cyclostomes.     

9. Many invertebrates like Planaria and some
vertebrates like lizards replace lost body parts
by______

keâF& DekeâMes™keâerÙe pewmes huewvesefjÙee Deewj kegâÚ keâMes®keâer
pewmes efÚhekeâueer Mejerj kesâ KeesS ngS Debiees keâes ØeeflemLeeefhele
______ kesâ ceeOÙece mes keâjles nQ~
(a) Fragmentation/Keb[ve
(b) Regeneration/hegvepe&veve
(c) Budding/cegkegâueve
(d) Fission/efJeKeb[ve

MP-PNST-08.07.2023, Shift-II 

Ans. (b) : Regeneration is the biological process where 
organisms, like Planaria and lizards, can regrow lost 
body parts, allowing them to recover from injuries and 
maintain their functionality. 

10. ______ is a single cell organism.

______  Skeâ keâesefMekeâe peerJe nw~
(a) Amoeba /Deceeryee
(b) Platyhelminthes/he=Legke=âefce
(c) Acanthocephalans/SkewâvLeesmesheâeuevme
(d) Nematodes/met$eke=âefce

MP-PNST-08.07.2023, Shift-II 

Ans. (a): Amoeba is a single-celled  organism, also 
known as a protozoan. In contrast, Platyhelminthes 
(flatworms), Acanthocephalans (thorny-headed worms) 
and Nematodes (roundworms) are multicellular 
organisms. 

11. Which of the following is an example of
Phylum Porifera?

efvecveefueefKele ceW mes keâewve heâeFuece heesefjhesâje keâe GoenjCe nw?
(a) Hydra/neF[^e (b) Planaria/huesvesefjÙee
(c) Sycon/meeFkeâe@ve (d) Pinworms/efheveJece&

MP-PNST-08.07.2023, Shift-II 

Ans. (c) : Phylum Porifera, also known as sponges, 
includes simple, multicellular organisms that have 
porous bodies and are primarily marine. Sycon is a type 
of sponge, making it an example of Phylum Porifera. 
The other option. Hydra (Cnidaria), Planaria 
(Platyhelminthes) and Pinworms (Nematoda) belong to 
different phyla.  

12. Pearl is secreted by ________ layer.

ceesleer ------- hejle Éeje œeeefJele neslee nw~
(a) Calcium/kewâequMeÙece
(b) Covering of prismic content/efØeeqpcekeâ lelJe kesâ

ÛeÌ{eJe 
(c) Mantle/ceWšue
(d) Matrix/cewefš^keäme

MP-GNTST/PNST-07.07.2023, Shift-II 

Ans. (c) : The mantle secretes calcium carbonate and 
conchiolin, forming layers around an irritant, leading to 
pearl formation in molluscs.

13. In fishes the teeth are of :

ceÚefueÙeeW ceW ovle heeÙes peeles nQ Š
(a) Acrodont type/S›eâes[esvš
(b) Thecodont type/Leskeâes[esvš
(c) Heterodont type/nsš^es[esvš
(d) Pleurodont type/huetjes[esvš

MP-GNTST/PNST-07.07.2023, Shift-II 

Ans. (a) : Acrodont type of teeth is found in fishes. This 
type of tooth is attached on the upper surface of the jaw 
bone. Acrodont teeth are characteristic of some reptiles, 
amphibians and dwarf fishes. 

14. Which of the following is generally oviparous?

efvecveefueefKele ceW mes keâewve-mee Deece leewj hej Deb[pe Ùee
DeesefJehesjme nw?
(a) Cats/efyeefuueÙeeW (b) Dogs/kegâòes
(c) Cows/ieeÙeeW (d) Birds/he#eer

MP-GNTST/PNST-07.07.2023, Shift-II 

Ans. (d) : Birds are oviparous. Oviparous mammals 
include early mammals that lay eggs; all oviparous 
mammals have been replaced in the subclass 
Prototheria. Since early mammals evolved from reptiles, 
reptilian characteristics are also found in them.

15. Which of the following has bilaterally
symmetrical and triploblastic body?

efvecveefueefKele ceW mes efkeâmekesâ heeme efÉ-heeÕe&-meceefcele Deewj
ef$ekeâesjkeâ Mejerj nw?
(a) Coelenterata/meeruesvšjsše
(b) Platyhelminthes/huewšernsefucevLesme
(c) Porifera/heesefjhesâje
(d) Gymnosperms/efpecveesmhece&

MP-GNTST/PNST-08.07.2023, Shift-I 

Ans. (b) :Platyhelminthes, or flatworms, are bilaterally 
symmetrical and triploblastic organisms. Bilateral 
symmetry allows for a distinct head and tail, promoting 
directional movement.  Being triploblastic means they 
have three germ layers : ectoderm, mesoderm and 
endoderm, which contribute to their complex body 
structures compared to simpler organism like Porifera 
and Coelenterata.

16. Cleidoic eggs are characteristic of _____.

keäueer[esFkeâ Deb[s ___ keâer efJeMes<elee nw~
(a) Reptiles and Birds/mejerme=he Deewj he#eer
(b) Insects only/kesâJeue keâerÌ[s
(c) Mammals/mleveOeeefjÙeeW
(d) Fishes/ceÚefueÙeeW keâe Jeie&

MP-GNTST/PNST-08.07.2023, Shift-I 

Ans. (a) : Cleidoic eggs, also known as amniotic eggs, 
are adapted for terrestrial environments, preventing 
desiccation. They feature a protective shell and several 
membranes, allowing reptiles and birds to reproduce 
away from water. This is an important adaptation for 
their survival and development in diverse habitats. 
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17.  From which phylum does the species Laccifer 
lacca belong?  

  uewefkeämeheâj uekeäkeâe Øepeeefle efkeâme heâeFuece mes mebyebefOele nw? 
 (a) Mollusca/ceesuemkeâe   
 (b) Arthropoda/DeeLeÇexhees[e  
 (c) Porifera/heesefjhesâje  
 (d) Nematode/efvecesšes[  

MP-PNST-08.07.2023, Shift-II 

Ans. (b) : The species Laccifer lacca belongs to the 
phylum Arthropoda. It is an insect species, specifically 
a type of lac-producing insect.  
18.  Classification of phylum Protozoa is based on   
   mebIe ØeesšespeesDee keâe JeieeakeâjCe DeeOeeefjle nw 
 (a) Locomotary organs/ØeÛeueve Debiees hej   
 (b) Shape of body/Mejerj kesâ Deekeâej hej  
 (c) Canal system/kesâveeue leb$e hej 
 (d) Reproduction/Øepeveve hej  

CG BSc. Nursing-2019 

Ans. (a) : Protozoans are classified into different groups 
primarily based on the type of locomotary structures 
they possess, such as flagella, cilia and pseudopodia.   
19.  Plasmodium requires two hosts to complete is 

life cycle. In which host does the gamete 
production take place?  

  hueemceesef[Ùece keâes Deheves peerJeve Ûe›eâ keâes hetje keâjves kesâ 
efueS oes cespeyeeveeW keâer DeeJeMÙekeâlee nesleer nw~ Ùegicekeâ 
Glheeove efkeâme cespeyeeve ceW neslee nw ? 

 (a) None of these/FveceW mes keâesF& veneR   
 (b) Female Anopheles Mosquito /ceeoe 

SveesefHeâueerpe ceÛÚj   
 (c) Male Anopheles Mosquito/vej SveesefHeâueerpe ceÛÚj  
 (d) Man /ceeveJe  

MP-GNTST/PNST-07.07.2019, Shift-I 

Ans. (b): In the life cycle of Plasmodium, gamete 
production occurs in the gut of the female Anopheles 
mosquito. When the mosquito takes a blood meal from 
an infected human, if ingests Plasmodium gametocytes, 
which then mature into gametes within the mosquito's 
gut. These gametes fuse to form a zygote, continuing 
the parasite's life cycle.    
20.  The water vascular system is a unique 

characteristic possessed by which phylum? 

  peue mebJenveer ØeCeeueer Skeâ Devet"er efJeMes<elee nw pees Fme 
mebIe ceW heeF& peeleer nw ? 

 (a) Coelenterata  /meeruesvšjsše    
 (b) Porifera /heesefjHesâje    
 (c) Echinodermata/MetueÛeceea Ùee FkeâeFvees[cexše   
 (d) Hemichordata/nsceekeâes[xše   

MP-GNTST/PNST-08.07.2019, Shift-II 

Ans. (c) :  The water vascular system is a unique 
characteristic of the phylum Echinodermata. This 
system is used for locomotion and feeding in sea 
urchins.  

21.  Which of the following features of cartilaginous 
fishes is absent in bony fishes?   

  efvecveefueefKele ceW mes GheeefmLeoej ceÚefueÙeeB (keâeefš&uesefpeveme 
efHeâMe) keâer keâewve-meer efJeMes<elee n[d[eroej ceÚefueÙeeB (yeesveer 
efHeâMe) ceW DevegheefmLele nesleer nw ? 

 (a) Viviparous /pejeÙegpe   
 (b) Gills /ieueHeâÌ[s   
 (c) Streamlined body /megJÙeJeefmLele Mejerj  
 (d) Poikilothermic /efJe<eceleeheer  

MP-GNTST/PNST-08.07.2019, Shift-II 

Ans. (a) : Viviparity, or giving birth to live young, is 
common in many cartilaginous fishes like sharks and 
rays. In contrast, most bony fishes are oviparous, 
meaning they lay eggs that develop outside the mother's 
body. While some bony fishes do exhibit a form of 
viviparity, it is not as widespread as in cartilaginous 
fishes.   

22.  Which one of the following is NOT related to 
Pinus? 

  efvecve ceW mes keâewve heeFveme mes mebyebefOele veneR neslee?  
 (a) Mycorhizic roots / ceeFkeâesjeFefpekeâ peÌ[W 
 (b) Companion cells in phloem/HeäueesSce ceW meKeer keâesefMekeâeSB  
 (c) Dwarf shoots / yeewveer MeeKeeSB 
 (d) Seed formation / yeerpeeW keâe efvecee&Ce 

CG BSc. Nursing-2018 

Ans. (b) : Pinus does not have companion cell in their 
phloem. Companion cells are found in the phloem of 
angiosperm, not gymnosperms like Pinus.  
23.  Which of the following is NOT the  locomotory 

organ of protozoa?  
  efvecve ceW mes keâewve-ØeesšespeesDee keâe ØeÛeueve Debie veneR nw? 
 (a) Cilia/meerefueÙee 
 (b) Flagella/heäuewefpeuee 
 (c) Parapodia/hewjeheesef[Ùee 
 (d) Pseudopodia/mÙet[esheesef[Ùee 

CG BSc. Nursing-2018 

Ans. (c) : Parapodia are locomotory appendages found 
in certain marine worms (Polychaetes) not in protozoa. 
These structures are used by these worms for crawling 
and swimming.   
24.  Among the following, a poisonous lizard is  

  efvecve ceW keâewve penjerueer efÚhekeâueer nw?  
 (a) Wall lizard/Jeeue efuepee[& 
 (b) Heloderma/nsuees[cee& 
 (c) Chamaeleon/kesâcesefueÙee@ve 
 (d) Veranus/Jesjsveme 

CG BSc. Nursing-2018 

Ans. (b) : Heloderma refers to the genus of lizards 
known as the Gila monsters and beaded lizards. These 
lizards are venomous, possessing venom glands in their 
lower jaws and delivering venom through grooves in 
their teeth when they bite. The venom is primarily used 
for defense rather than for hunting prey.  
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25. Pearl producing species of mollusc is:

ceesleer yeveeves Jeeueer ceesuemkeâe Øepeeefle nQ
(a) Tridacna maxima/ efš^[ekeâvee cewefkeämecee
(b) Mytilus viridus/ceeFefšueme efJeefj[me
(c) Solen kempi/meesueve kesâcheer
(d) Pinctada vulgaris/efhebkeäše[e Jeuiewefjme

MP-GNTST/PNST-2013 

Ans. (d) : Pinctada vulgaris, also known as the Gulf 
pearl oyester, is a species of mollusc known for 
producing pearls. Tridacana maxima, Mytilus viridus, 
and Solen kempi, are different species of mollusc and do 
not typically produce pearls. 

26. From which of the following high quality pearls
are made?

efvecve ceW mes GÛÛe keâesefš kesâ ceesleer efkeâmemes yeveles nQ?
(a) Pinctada radiata/ efhebkeäše[e jsef[Sše
(b) Placuna placenta/ hueskegâvee hueemebsše
(c) Pinctada margaritifera/ efhebkeäše[e ceej«esšerHesâje
(d) Pinctada maxima/ efhebkeäše[e cewefkeämecee

MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (c): High quality pearls are produced from 
Pinctada margaritifera. Tahitian pearls (black lip 
pearls) are specifically developed from Pinctada 
margaritifera.  

27. Fasciola hepatica is/ HesâefmeDeesuee efnhesefškeâe nw
(a) Dioecious self-fertilized/efÉefuebieerÙe, mJele: Øepeefvele
(b) Bisexual, hybrid bred/efÉefuebieerÙe, mebkeâj Øepeefvele
(c) Bisexual or homosexual/GYeÙeefuebieer Ùee Skeâmeceeve
(d) Both (a) and (b)/oesveeW (a) SJeb (b)

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (c): Fasciola hepatica is a hermaphroditic 
parasite, having both male and female reproductive 
organs, allowing it to self-fertilize or cross-fertilize with 
other individuals, hence classified as bisexual or 
homosexual.  

28. The most distinctive feature of the crocodile is:

ceiejceÛÚ keâe meJee&efOekeâ efJeefMe° ue#eCe nw:
(a) Strong oral cavity/cepeyetle cegKeiegne
(b) Eggs with shell/efÚuekesâ Ùegòeâ DeC[ss
(c) Theodont teeth/efLekeâes[esvš oeBle
(d) Four chambered heart/Ûeej keâ#e Jeeuee ÜoÙe

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (d) : Crocodiles possess a four-chambered heart, 
enabling efficient blood separation, which supports their 
active lifestyle and distinguishes them from other reptiles.  

29. Which of the following organisms is a prokaryote?

efvecve ceW mes keâewve-mee peerJe ØeeskewâefjÙeesš nw?
(a) Salmonella/meeuceesvesuee
(b) Green algae/njer MewJeeue
(c) Bacteriophage/peerJeeCegYeespeer
(d) Agaricus/Siesefjkeâme

MP-GNTST/PNST-04.06.2017, Shift-III 

Ans. (a) : Salmonella is a type of bacteria, which is a 

prokaryotic organism. Prokaryotes are characterized by the 

lack of a true nucleus and membrane-bound organelles. 

30. Which of the following pair is incorrect?

efvecve ceW keâewve-mee Ùegice ieuele nw ?
(a) Euglenoids-Myonemes/Ùetiueervee@F[me-ceeÙeesefvecme
(b) Ciliophora-Axonema/efmeefueÙeesHeâesje-Skeämeesveerce
(c) Annelida-Notopodia/Sefveefue[e- veesšesheesef[Ùee
(d) Cnidaria-Parapodia/efve[sefjÙee-hewjeheesef[Ùee

MP-GNTST/PNST-04.06.2017, Shift-III 

Ans. (d) : Cnidaria- Parapodia, is incorrect because 

cnidarians (like jellyfish and corals) do not have 

parapodia, which are structures used for locomotion and 

are  found in some annelids (segmented worms)     

31. Periodic migration is observed when

DeeJeefOekeâ ØeJeeme leye osKee peelee nw, peye
(a) Migration of locusts in search of food/Yeespeve

keâer leueeMe ceW efš[d[er oue keâe ØeJeeme
(b) Whales migrate in search of food/Jnsue Yeespeve

keâer leueeMe ceW ØeJeeme keâjleer nw
(c) Phytoplanktons come to the surface of water

/heeohe hueJekeâ heeveer keâer melen hej Dee peeles nQ
(d) Birds migrate using direction/he#eer efoMee keâe

GheÙeesie keâjkesâ ØeJeeme keâjles nQ
MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (a) : Periodic migration refers to the movement of 

a certain species to a different environments.  In simple 

terms, periodic migration is observed when locusts 

migrate in search of food. Desert locusts breed based on 

seasonal rainfall and the scarcity of food along with an 

increase in the number of locusts, causes migration 

from one area to another in search of food.  

32. Which of the following statement is incorrect?

efvecveefueefKele ceW mes keâewve-mee keâLeve ieuele nw?
(a) In Ctenophores locomotion  is mediated by

the comb plate /šerveesheâesje ceW, ieceve keâe@cye huesš keâer
ceOÙemLelee mes neslee nw

(b) Excretion of waste material in shrimp occurs

through the Malpighian tubule /PeeRiee ceW DeheefMe°
meece«eer keâe Glmepe&ve cewuheerefOeÙeve šdÙetyÙetue kesâ ceeOÙece mes
neslee nw

(c) Earthworms  are dioecious organisms and yet

they undergo cross-fertilisation/keWâÛegDee efÉefuebieer
peerJe nw Deewj efHeâj Yeer GveceW hej-efve<esÛeve neslee nw

(d) Flame cells in Fasciola take part in excretion

/HesâefmeDeesuee ceW pJeeuee keâesefMekeâeSB Glmepe&ve ceW Yeeie uesleer nQ
MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (b) : In shrimp, excretion of waste material does 

not take place through Malpighian tubules; instead it 

occurs through green glands. Malpighian tubules are 

found in insects like cockroaches.  
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33. Which characteristic is common to leeches

cockroaches and scorpions?

ueerÛe, efleueÛešdše Deewj efyeÛÚt kesâ efueS keâewve-meer
efJeMes<elee meceeve nw?
(a) Cephalization/efmeHesâueeFpesMeve
(b) Antenna/SCšervee
(c) Ventral nervous system/DeOej leefv$ekeâe lev$e
(d) Nephridia/vesøeâeref[Ùee

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (c) : The common characteristics among leeches, 
cockroaches and scorpions is the presence of ventral 
nervous system. All three have their nervous system 
located on the ventral (belly) side of their bodies, 
consisting of a series of nerve cords and ganglia. 

34. Which of the following characteristics is

common to birds and mammals?

he#eer Deewj mleveOeejer ceW efvecve efJeMes<eleeDeeW ceW mes keâewve-meer
efJeMes<elee Skeâ meceeve nesleer nw?
(a) Skin color/ lJeÛee jbie
(b) Homeothermy/meceleeheer
(c) Alimentary canal/Deenejveeue
(d) Livings beings/mepeerJeØeepeòeâe

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (b) :  The common feature present in both birds 
and mammals is homeothermy. Both are warm-blooded 
animals, meaning they can regulate their body 
temperature internally, regardless of external 
conditions. Skin pigment and viviparity are not common 
to both groups, as most birds lay eggs. 

35. In the phylum Mollusca, the eye is situated on a

thin structure called- 
  ceesuemkeâe mebIe ceW DeeBKe Skeâ heleueer jÛevee kesâ Thej 

efmLele nesleer nw efpemes keânles nQ 
(a) Ostracum/Dee@mš^skeâce
(b) Operculum/Dee@hejkegâuece
(c) Ommatophore/Deesscesšesheâesj
(d) Osphradium/Dee@møesâef[Ùece

MP-GNTST/PNST-2020 

Ans. (c) : In the phylum Mollusca, specifically in 
gastropods like snails, the eyes are situated on a thin, 
retractable stalk known as an ommatophore. This 
structure allows the eyes to extend outward for better 
visual coverage and retract for protection. 
Ommatophores enhance the organism's ability to sense 
its environment. 

36. Which of the following is a resident insects?

efvecve ceW mes keâewve efveJener keâerš nw?
(a) Locust/ueeskeâmš
(b) Mosquitoes/ceÛÚj
(c) White ant/meHesâo ÛeeRšer (oercekeâ)
(d) Bedbugs/Kešceue

MP-GNTST/PNST-2020 

Ans. (c) : White ants (termites) are considered resident 
insects because they typically live in colonies in a fixed 
location, like soil, wood or mounds. 

37. In Ascaris, it is called coelom

Ssmkewâefjme ceW meerueesce keânueeleer nw
(a) Schizocoelom/efmepeesmeerueesce
(b) Pseudocoelom/mÙet[esmeerueesce
(c) True coelom/JeemleefJekeâ meerueesce
(d) Hemocylome/nerceesmeerueesce

MP-GNTST/PNST-2020 

Ans. (b) : Ascaris, a nematode, has a pseudocoelom 
which is a body cavity filled with fluid. Unlike a true 
coelom, a pseudocoelom is not entirely lined by 
mesoderm. This cavity allows for the circulation of 
nutrients and waste, facilitating movement and organ 
function in the worm's body.  

38. In rabbit, the apex of the epididymis which is
present at the head of the testis, is called?

KejieesMe ceW DeefOeJe=<eCe keâe Meer<e&, pees Je=<eCe kesâ efmej hej
GheefmLele neslee nw, keäÙee keânueelee nw?
(a) Venus carrier/Meg›eâJeenkeâ
(b) Caudal epididymis/hegÛÚ DeefOeJe=<eCe
(c) Gubernaculum/iegyejveekegâuece
(d) Top adrenal gland/Meer<e& DeefOeJe=<eCe

MP-GNTST/PNST-2020 

Ans. (b) : In rabbits, the apex of the epididymis located 
at the head of the testis is known as the caudal 
epididymis. It serves as the site for sperm maturation 
and storage, playing a crucial role in the reproductive 
system by facilitating sperm transport from the testis to 
the vas deference.  

39. The excretory substance of bony fish is

DeefmLeue ceÚueer keâe Glmepeea heoeLe& nw
(a) Urea/ÙetefjÙee
(b) Protein/Øeesšerve
(c) Ammonia/DeceesefveÙee
(d) Amino acid/Deceervees Decue

MP-GNTST/PNST-2020 

Ans. (c): Bony fish excrete ammonia as their primary 
nitrogenous waste. Since ammonia is highly toxic, it 
must be rapidly removed from the body. Bony fish are 
adapted to release ammonia directly into the 
surrounding water through their gills, where it quickly 
dilutes, making this method of excretion efficient for 
aquatic life.

40. The body of a fish is divided into

ceÚueer keâe Mejerj efvecve ceW efJeYeeefpele neslee nw
(a) Head, Neck, Tail/efmej, ieo&ve, hetBÚ
(b) Head, Torso, Tail/efmej, OeÌ[, hetBÚ
(c) Head, Tail/efmej, hetBÚ
(d) Head, Neck, Torso, and Tail/efmej, ieo&ve, OeÌ[,

Deewj hetBÚ
MP-GNTST/PNST-2015 
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Ans. (b) : Fish bodies are divided into three main parts: 
the head, which houses sensory organs; the torso, which 
contains vital organs; and the tail, which aids in 
movement and propulsion. 

41. Which of the following is NOT a characteristic
of chordates?

efvece>efueefKele ceW mes keâewve jppegkeâer (keâe@[xšdme) keâer
efJeMes<elee veneR nw ?
(a) Post anal tail present/iegohe§ehegÛÚ (heesmš Sveue

šsue) GheefmLele nw
(b) Heart is ventral/ÜoÙe DeOej nw
(c) Ventral Central Nervous System/DeOej

kesâvõerÙe lebef$ekeâe leb$e (JeWš^ue meWš^ue veJe&me efmemšce) 
(d) Notochord is present/he=‰jppeg (veesšeskeâe@[&) ceewpeto nw

MP-GNTST/PNST-07.07.2019, Shift-I 

Ans. (c) : Chordates have a dorsal, hollow nerve cord, 
not a ventral one. The other characteristics listed-post-
anal tail, a ventral heart in some species and a 
notochord, are all features found in various chordates at 
some stage of their development. 

42. Which among the following is NOT a coelomate?

efvecveefueefKele ceW mes keâewve - mee Skeâ Øeiegner veneR nw?
(a) Platyhelminthes /huesšernwefucebLeerpe
(b) Annelida /Ssvesefue[e
(c) Arthropoda /DeeLeÇexhees[e
(d) Echinodermata /SkeâeFvees[cexše

MP-GNTST/PNST-07.07.2019, Shift-I 

Ans. (a): Platyhelminthes or flatworms are 
acoelomates, meaning they do not have a coelom. The 
other groups listed - Annelida,  Arthropoda and 
Echinodermata are all coelomates, possessing a coelom, 
which is a fluid - filled body cavity. 

43. Pneumatic bones are found in which Class –––.

Jeeefleue DeefmLeÙeeb Jeie& –––––– ceW heeF& peeleer nQ ~
(a) Mammalian /mleveOeejer
(b) Reptilian /mejerme=he
(c) Osteichthyes /Dee@efmškeäLeerpe
(d) Aves /heef#eJeie&

MP-GNTST/PNST-07.07.2019, Shift-I 

Ans. (d) : Pneumatic bones are found in the class Aves, 
which includes brids, These bones are air-filled and 
reduce the weight of the skeleton, aiding in flight. 

44. Which of the following is an edible fresh water
fish?

efvecveefueefKele ceW mes keâewve Keeves ÙeesiÙe ceer"s heeveer (øesâMe
Jeešj) keâer ceÚueer nw?
(a) Sardine/meej[erve  (b) Hilsa/efnumee
(c) Mackerel/cewkesâjue (d) Common Carp/keâe@ceve keâehe&

MP-GNTST/PNST-08.07.2019, Shift-I 

Ans. (d) : The Common Carp is a freshwater fish 
commonly found in rivers and lakes, making it edible. 
Sardines, Hilsa and Mackerel are primarily saltwater 
fish, unsuitable for freshwater consumption. 

45. Which of the features is NOT the basis for the

broad classification of Animalia?

SveercesefueÙee kesâ JÙeehekeâ JeieeakeâjCe kesâ efueS keâewve-meer
efJeMes<elee DeeOeej veneR nw?
(a) Levels of organization/mebie"ve kesâ mlej
(b) Symmetry/meceefceefle
(c) Body cavity or coelom/Meejerefjkeâ iegne Ùee Øeiegne

(yee@[er kewâefJešer Ùee keâesFueesce)
(d) Locomotion/ieceve (ueeskeâesceesMeve)

MP-GNTST/PNST-08.07.2019, Shift-I 

Ans. (d) : Locomotion refers to the ability to move 
from one place to another, which is not a primary basis 
for the broad classification of animals. The major 
features used for classification include levels of 
organization, symmetry and the presence or absence of 
a body cavity or coelom. These characteristics help 
classify animals in to different phyla and groups based 
on fundamental structural and developmental traits. 

46. Pearl is produced by -

heue& (ceesleer) yeveeÙee peelee nw-
(a) Mytilus /ceeFefšueme
(b) Pinctada /efhebkeâše[e
(c) Pecten /heskeâšsve
(d) Unio/ÙetefveÙees

MP-GNTST/PNST-19.06.2016, Shift-II 

Ans. (b): Pearl (moti) is produced inside the shell of a 
mollusc called Pinctada which is a genus of saltwater 
oyster. These molluscs create pearls as a defense 
mechanism against irritants such as a parasite or a grain 
of sand. When an irritant enters the shell, the oyster 
secretes layers of nacre (mother of pearl) around it, 
eventually forming a pearl.

47. Which is the largest bird known ?

efvecve ceW mes Deye lekeâ %eele meyemes yeÌ[e he#eer nw?
(a) Great Indian Bustard / «esš Fbef[Ùeve yemš[&
(b) California Condor / kesâueerHeâesefve&Ùee keâe@v[j
(c) Aepyornis / SheerDee@efve&me
(d) Cassowary / kewâmeesJejer

MP-GNTST/PNST-2014 

Ans. (c) : Aepyornis or the elephant bird, was the 
largest bird ever known, native to Madagascar. It was 
flightless, standing upto 3 meters tall and weighing 
around 500 kilograms. Aepyornis went extinct around 

1,000 years ago due to human activity.

48. The example of auxetic growth is?

Meer<e&mLe Je=Oeefle keâe GoenjCe nw?
(a) Roundworm / met$eke=âefce  (b) Man / ceveg<Ùe
(c) Frog / ceW{keâ (d) Lizard / efÚhekeâueer

MP PNST 09.07.2023 SHIFT-II

Ans. (a) : Roundworms show auxetic growth by 
expanding uniformly in all directions, unlike other 

organisms that grow in specific areas.
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49. In which if the following options are the
phylum, class and example correctly matched?

efvecveefueefKele ceW mes efkeâme efJekeâuhe ceW mebIe, Jeie& Deewj
GoenjCe mener megcesefuele nw?
(a) Annelida - Oligochaeta - Nereis/Sefveefue[e,

Dee@efueieesefkeâše, vesefjme
(b) Arthopoda - Arachnida - Palaemon/DeeLeexhees[e,

Dekexâefve[e, hesefueSceesve
(c) Coelentrata- Scyphozoa - Obelia/efmeuesvš^sše,

meeFheâespeesDee, DeesyesefueÙee
(d) Platyhelminthes - Turbelleria -

Planaria/huesšernsefucevLeerpe, šyeeauesefjÙee, huesvesefjÙee
BHU NURSING 2017

Ans. (d) : Planaria is an example of a species 
belonging to the class Turbellaria, within the phylum 
Platyhelminthes. The other options have incorrect 
Phylum-class-example matches.

50. Tachyglossus is a connecting link between:

šwefkeâiueesmeme efkeâmekesâ yeerÛe Skeâ peesÌ[ves Jeeueer keâÌ[er nw?
(a) Reptiles and Birds /mejerme=he Deewj he#eer
(b) Amphibains and Reptiles/GYeÙeÛej Deewj mejerme=he
(c) Birds and Mammals/he#eer Deewj mleveOeejer
(d) Reptiles and Mammals/mejerme=he Deewj mleveOeejer

BHU NURSING 2017

Ans. (d) : Tachyglossus (echidna) is a monotreme, that 
exhibits reptilian traits like egg-laying and mammalian 
traits like milk production, linking both groups.

51. Cockroach respire by means of

keâe@keâjesÛe efkeâmekesâ ceeOÙece mes Õemeve keâjlee nw?
(a) Skin/lJeÛee (b) Book lungs/yegkeâ uebime
(c) Spiracle/mheeFjwkeâue (d) Gills/efieume

J&K NURSING  2023

Ans. (c) : Cockroaches respire through a network of 
tubes called tracheae, which open to the outside through 
tiny pores known as spiracles. Oxygen enters and 
carbon dioxide  exits through these spiracles for 
respiration.

52. The unique characteristic of Annelida is

Svesefue[e keâer efJeefMe° efJeMes<elee nw-
(a) Coelom/meerueesce
(b) Nephridia/veseføeâef[Ùee
(c) Hermaphrodite/GYeÙeefuebie
(d) All of the above/Ghejesòeâ meYeer

J&K NURSING  2023

Ans. (b) : The unique characteristic of annelida is 
nephridia, specialized excretory organs for 
osmoregulation and waste removal. While annelids also 
possess coelom and some are hermaphrodites, nephridia 
distinctly set them apart in biological processes.

53. Osculum is found in :

Dee@mkegâuece efkeâmeceW heeÙee peelee nw~
(a) Starfish/mšejefHeâMe (b) Hydra/neF&[^e
(c) Rayfish/jsefHeâMe (d) Sponge/mhee@vpe

HNBUMU BSC NURSING 15-6-2024

Ans. (d) : The osculum is a large opening found in 
sponges, through which water exists after circulating 
through their body. 

54. Body having meshwork of cells, internal
cavities lined with food filtering flagellated cells
and indirect  development are the
characteristics of phylum :

Mejerj ceW keâesefMekeâeDeeW keâe peeue nesvee, ,KeeÅe heoeLe& keâe
efvemheeove keâjves Jeeueer keâMeeefYekeâeceÙe keâesefMekeâeDeeW mes
Demleefjle DeebleefJ&K NURSING eâ iegneDeeW keâe heeÙee peeve
leLee DeØelÙe#e heefjJele&ve keâe nesvee efkeâme HeâeFuece keâer
efJeefMeef°leeSB nQ?
(a) Protozoa/ØeešespeesDee
(b) Coelenterata/meeruesvšjsše
(c) Perifera/heeefjHesâje
(d) Mollucs/ceewuemkeâe

HBNU BSC NURSING 2017

Ans. (c) : Phylum porifera also known as sponges, is 
characterized by a meshwork of cells, internal cavities 
lined with flagellated cells (choanocytes) for food 
filtration, and indirect development, where larval 
watergo a free-swimming stage before settling and 
developing into adult forms.  

55. Which one of the following organisms bears
hollow and pneumatic long bones?

efvecve ceW efkeâme peerJe ceW uecyeer DeefmLeÙeeB KeesKeueer SJeb
Jeeefleue nesleer nw?
(a) Neophron/efveDeesøeâeve
(b) Hemidactylus/nwceer[skeäšeÙeueme
(c) Macropus/cew›eâesheme
(d) Ornithorhynchus/DeewjefveLeesefjbkeâme

HBNU B.Sc NURSING 2022

Ans. (a) : The organism with hollow and pneumatic 
long bones is Neophron. Neophron, a genus of birds 
commonly known as vultures, has pneumatic (air-filled) 
bones that make them lighter for flight. This adaptation 
is typical in birds, aiding efficient flight dynamics.  

56. One of the following is a very unique feature of
the mammalian body-  

  efvecve ceW mes keâewve mee mleveOeeefjÙeeW keâe Deefle efJeefMe° 
ue#eCe nw— 
(a) Homeothermy/meceleeheerÙelee
(b) Presence of diaphragm/[eÙeeøeâece keâer GheefmLeefle
(c) Four chambered heart/Ûeej keâes‰erÙe ùoÙe
(d) Ribcage/hebpej

HBNU B.Sc NURSING 2019

Ans. (b) : The diaphragm is a unique structure in 
mammals, a mascular partition that separates the 
thorasic cavity (where the lungs and heart are located) 
from the abdominal cavity. This feature aids in efficient 
breathing, allowing mammals to maintain high 
metabolic rates. While other vertebrates may have 
similar features, a true diaphragm is only found in 
mammals, making it a distinguishing characteristics of 
the mammalian body.
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57. Which among the following is odd?

efvecveefueefKele ceW mes keâewve mee efJe<ece nw?
(a) Urochordata/Ùetjeskeâe@[xše
(b) Cephalochordata/mesheâwueeskeâe@[xše
(c) Vertebrata/keâMes®keâe
(d) Agnatha/DeieveLee

HBNU B.Sc NURSING 2021

Ans. (d) : Urochordata, cephalochordata and vertebrata 
are subphyla of chordata, while Agnatha is a super class 
within vertebrata making it the odd one as it is not a 
separate subphylum, making it odd one out.

58. Which among the following in incorrect about
chordates?

keâe@[xšdme kesâ yeejs ceW efvecveefueefKele ceW mes keâewve mee ieuele nw?
(a) They must have notochord at every point of

their life/Gvekesâ peerJeve kesâ nj efyebog hej Gmekesâ heeme
heg°jppeg nesvee ÛeeefnS

(b) They have a post anal tail/Gvekesâ heeme Skeâ heesmš
iegoe hetbÚ nw

(c) They have hollow dorsal nerve cord/Gvekesâ heeme
KeesKeueer he=‰erÙe lebef$ekeâe jppeg nesleer nw

(d) They have a ventral heart/Gvekesâ heeme Skeâ Goj
ùoÙe nw

HBNU B.Sc NURSING 2021

Ans. (a) : Chordates have a notochord at some 
developmental stage, not necessarily throughout the life. 
Other features, like the post anal tail, hollow dorsal 
nerve chord and ventral heart are characteristic of 
chordates.

59. Which among the following is incorrect about
Vertebrata?

efvecveefueefKele ceW mes keâewve keâMes®keâe kesâ yeejs ceW ieuele nw?
(a) All chordates are vertebrates/meYeer keâe@[xš

keâMes®keâer nw
(b) In vertebrates, notochord is replaced by

vertebral column in adults/keâMes®keâer peblegDeeW kesâ
JÙemkeâeW ceW he=°jppeg keâes keâMes®keâ mlebYe Éeje ØeeflemLeeefhele
keâj efoÙee peelee nw

(c) They might not have post-anal tail after a

certain period of time/Skeâ efveefMÛele DeJeefOe kesâ yeeo
Gvekeâer iegoe-heMÛe hetbÚ veneR nes mekeâleer nw

(d) Notochord is present during embryonic

period/YeügCe keâer DeJeefOe kesâ oewjeve he=°jppeg ceewpetoe neslee nw~
HBNU B.Sc NURSING 2021

Ans. (a) : The statement "All the chordates are 
vertebrates" is incorrect. Not all chordates have a 
vertebral column, some chordates like tunicates and 
lancelets lack vertebrae and are not considered 
vertebrates.

60. Largest phylum of animal kingdom is

pevleg peiele keâe meyemes yeÌ[e mebIe nw-
(a) Mollusca/ceesuemkeâe (b) Annelida/Svesefue[e
(c) Arthropoda/DeeLeÇeshees[e (d) Porifera/heesjerhesâje

AMRU B.Sc NURSING 2023

Ans. (c) : The largest phylum in the animal kingdom is 
Arthropoda. It includes diverse species like Insects, 
Arachnids, and Crustaceans, making up about 80% of all 
known animal species. Arthropods are characterized by 
segmented bodies, exoskeletons, and jointed appendages.

61. Animals are mostly:

heMeg DeefOekeâlej nw:
(a) Autotrophs/mJehees<eer
(b) Heterotrophs/hejheesef<ele
(c) Parasites/hejpeerJeer
(d) Auxotrophs/efJehees<eer

BHU B.Sc NURSING 2019

Ans. (b) : Animals are heterotrophs, meaning they rely 
on consuming other organism for energy and nutrients 
because they cannot synthesize their own food through 
photosynthesis or other means like autotrophs. 

62. Vertebrates and invertebrates can be 
differentiated due to the presence of:

keâMes®keâer Deewj DekeâMes®keâer efkeâmekeâer GheefmLeefle kesâ keâejCe 
efJeYesefole nes mekeâles nQ? 
(a) Tail/hetbÚ
(b) Coelom/meerueesce
(c) Dorsal tubular nerve chord/he=‰erÙe šdÙetyeuej lebef$ekeâe

keâe@[& 
(d) Brain/ceefmle<keâ

BHU B.Sc NURSING 2019

Ans. (c) : Vertebrates possess a dorsal tubular nerve 
cord, which develops into the brain and spinal cord. 
Invertebrates lack this feature, differentiating them from 
vertebrates in terms of structural organization.

63. A Chordate character is :

Skeâ keâe@[xš ue#eCe nw:
(a) Gills/ieueheâÌ[e
(b) Postanal tails/iegoe-he§eeled hetÚ
(c) Spiracles/Õeeme veefuekeâe
(d) Chitinous exoskeleton/keâeFefšveme Skeämeesmkesâuesšve

AMRU B.Sc NURSING 2021

Ans. (b) : Chordates are characterized by a notochord, 
dorsal nerve cord, pharyngeal gill slits, and a postanal 
tail. The postanal tail extends beyond the anus and is 
present at some stage of development in all chordates, 
distinguishing them from other animals.  

64. Physalia is commonly known as

HeâeF&mesefueÙee meeceevÙeleŠ efkeâme veece mes peeve peelee nw
(a) Sea pen / mecegõer keâuece
(b) Protugese man-of-war / hegle&ieeueer cewve Dee@Heâ Jeej
(c) Sea fur / mecegõer jesJeeb
(d) Dead man’s finger / [s[ cewvme efHeâvieme&

BHU NURSING 2016

Ans. (b) : Physalia, or Portuguese man-of-war, is a 
colonial organism with a gas-filled bladder, resembling 
a floating warship, known for its sting.
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65.  Which of the following animal is colonial?  
  efvecveefueefKele ceW mes keâewve mee peeveJej DeewheefveJesefMekeâ nwŠ 
 (a) Obelia/DeesyesefueÙee  (b) Otohydra/DeesšesneF[^e  
 (c) Adamsia/S[efcmeÙee (d) Euglena/Ùetiueervee 

BHU NURSING 2016 
Ans. (a) : Obelia forms a colonial structure with 
interconnected polyps, each performing specific 
functions like feeding, reproduction and defense. 
66.  All of the following are crustaceans except  
  efvecveefueefKele ceW mes meYeer ›eâmšsefMeÙeve nQ efmeJeeÙe 
 (a) Shrimps / PeeRiee  (b) Daphnia / [wefHeäveÙee  
 (c) Wasps / lelewÙee (d) Crabs / kesâkeâÌ[s 

BHU NURSING 2016 
Ans. (c) : Wasps are insects, while shrimps, Daphnia 
and crabs are Crustaceans, characterized by their 
segmented bodies and exoskeletons. 
67.  Common characteristics between septal 

Nephridia of earthworm and Malpighian 

tubules of cockroach that both:  
  kesâÛegS keâer hešerhe vesefØeâef[Ùee SJeb keâe@keâjesÛe keâer 

cewuheerOeerÙeve veefuekeâeDeeW keâe Skeâ meceeve ue#eCe Ùen neslee 
nw efkeâ oesvees 

 (a) Open in alimentary canal/Deenejveeue ceW Kegueleer nw  
 (b) Have segmental structures/KeC[erÙe jÛeveeSB nesleer nw  
 (c) Open directly outside / meerOes yeenj Kegueleer nw 
 (d) Have nephrostome / vesøeâesmšesce neslee nw 

BHU NURSING 2016 
Ans. (c) : Both septal nephridia in earthworms and 
malpighian tubules in cockroaches open directly to the 
exterior of the body, allowing waste to be excreted 
outside, bypassing the digestive system. 
68.  Which one is considered as gregarious pest ?  
  FveceW mes keâewve PebgÌ[ ceW jnves Jeeuee peerJe nwŠ- 
 (a) Bombyx / jsMecekeâerš  (b) Aedes / S[erpe   
 (c) Locusta / efšñer (d) Laccifer / ueeKekeâerš 

BHU NURSING 2016 
Ans. (c) : Locusta (locust) is a gregarious pest forming 
massive swarms, devastating crops and vegetation. In 
contrast, Bombyx, Aedes and Laccifer are not 
gregarious pests, serving other roles like silk or lac 
production.   
69.  The biological name and the popular common 

name of animals are given below select the 

correctly matched among following :-  
  veerÛes ØeeefCeÙeeW kesâ peerJe-Jew%eeefvekeâ Deewj meeceevÙe veece 

efoÙes ieÙes nw~ FveceW mes mener efceueeve ÚeBefšÙesŠ- 
 (a) Aplysia - Tusk shell / DehueerefmeÙee - neLeer oeBle keâJeÛe  
 (b) Sepia - Devil fish / meerefheÙee - owlÙeceÚueer   
 (c) Calotes - Garden lizard/kewâueesšdme - GÅeeve efÚhekeâueer 
 (d) Hemidactylus - Tree lizard/nsceer[skeäšeFueme - 

Je=#eeßeÙeer efÚhekeâueer 
BHU NURSING 2016 

Ans. (c) : The correct match is Calotes-Garden lizard 
because Calotes is the genus of common garden lizards, 
whereas Aplysia is the sea hare, not the tusk shell; Sepia 
refers to cuttlefish, not the devil fish (Octopus) and 
Hemidactylus represents house geckos, not tree lizards.   
70.  The number of chambers present in the heart 

of a house lizard are: 

  efÚhekeâueer kesâ  ÜoÙe ceW heeÙes peeves Jeeues Øekeâes‰eW keâer 
mebKÙee neslee nw : 

 (a) Two /oes   (b) Three /leerve   
 (c) Four /Ûeej  (d) Five /heeBÛe 

BHU NURSING 2015 
Ans. (b) : A house lizard has three-chambered heart 
comprising two atria and one partially divided ventricle. 
This structure allows partial mixing of oxygenated and 
deoxygenated blood. Which is a characteristic feature of 
most reptiles excluding crocodiles, with four chambered 
hearts.  
71.  Which of the following snakes will have 

compressed tail?   
  FveceW mes efkeâme mehe& ceW efÛehešer hetBÚ heeÙeer peeleer nw: 
 (a) Sea Snake /mecegõer mehe&d ceW   
 (b) Rat Snake/jwš mehe& ceW   
 (c) Rattle Snake/jwšue mehe& ceW  
 (d) Double headed snake /efÉcegKeer mehe& ceW  

BHU NURSING 2015 
Ans. (a) : Sea snakes have a laterally compressed tail  
that is Flattened sideways Aiding in swimming. This 
adaptation allows them to move easily through water, 
making them highly efficient in aquatic environments 
compared to other types of snakes.  
72.  Which one is a connecting link?  
  FveceW mes mebÙeespekeâ keâÌ[er nw: 
 (a) Hirudinaria /efn®ef[vesefjÙee  
 (b) Peripatus /hesjerhewšme   
 (c) Asterias /SmšsefjÙeeme 
 (d) Neries /vesjerme 

BHU NURSING 2015 
Ans. (b) : Peripatus is considered a connecting link 
between annelids and arthropods. It exhibits 
characteristics of both groups, such as segmented body 
like annelids and Jointed appendages like arthropods.  
73.  Osteichthyes gills are covered by:  
  DeefmLeceÙe ceÚefueÙeeW kesâ efieue {kesâ jnles nw: 
 (a) Osculum / Dee@mekegâuece mes   
 (b) Connective tissue / keâvesefkeäšJe Tlekeâ mes   
 (c) Operculum / Deehe@jkegâuece mes  
 (d) None of the above / Ghejesòeâ ceW mes keâesF& veneR 

BHU NURSING 2014 
Ans. (c) : In Osteichthyes (bony fish), the gills are 
covered by a bony plate called the operculum. This 
structure helps protect the gills and assists in respiration 
by controlling the flow of water over them.  
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74. The Arthropod, which is known as living fossil

DeeLeÇexhees[e, efpemes peerefJele peerJeeMce kesâ ™he ceW peevee
peelee nw
(a) Bombyx (silkworm)/yeesefcyekeäme (jsMece keâerš)
(b) Locusta (locust)/ueeskeâmše (PeeRiee ceÚueer)
(c) Limulus (King Crab)/efuecegueme (kesâkeâÌ[e)
(d) Apis (honey bee)/Sefheme (ceOegcekeäKeer)

BHU NURSING 2013

Ans. (c) : The arthropod, Limulus (king crab) is known 
as living fossil. Apis (Honey bee) Bombyx (silkworm), 
and Laccifer (Lac insect) are economically importante 
insects. Locusta (Locust) is the gregarious pest.

75. Which of the following is egg laying mammal?

efvecve ceW mes keâewve-mee Deb[Ùegpe mleveheeÙeer nw?
(a) Pangolin/heWieesefueve
(b) Tachyglossus/šskeâeriueesmeme
(c) Porcupine/meener
(d) Bat/ÛeceieeoÌ[

BHU NURSING 2013

Ans. (b) : Tachyglossus is also known as the short, 
beaked echidna. It is egg-laying mammals, belonging to 
the group of monotremes. Unlike other mammals 
monotremes lay eggs and nurse their young from the 
eggs after hatching. Pangolin, porcupine and bat are not 
egg-laying mammals.

76. Which of the following is NOT correctly
matched?

efvecve ceW mes keâewve megcesefuele veneR nw?
(a) Sycon - Canal system/meeFkeâe@ve - veeue ØeCeeueer
(b) Star fish - Radial symmetry/mšej ceÚueer -

jsef[Ùeue mece™helee
(c) Ascaris - Flame cell/Smkesâefjme - pJeeuee keâesefMekeâe
(d) Prawn - Haemocoel/PeeRiee - efnceesefmeue

BHU NURSING 2013

Ans. (c) : The pairing that is not correctly matched is 
Ascaris-Flame cell. Ascaris is a parasitic roundworm, 
does not have flame cells. Flame cells are associated 
with the excretory system of flatworm like planarians.  

77. Which one of the following animal phyla does
not posses a coelom?

efvecveefueefKele pebleg mebIe ceW mes efkeâmekesâ peerJeeW ceW osniegne
veneR heeÙeer peeleer nQ?
(a) Platyhelminthes/huesšernsuceWefLeme
(b) Annelida/Svesefue[e
(c) Mollusca/ceesuemkeâe
(d) Echinodermata/FkeâeFvees[cexše

BHU NURSING 2013

Ans. (a) : The animal phylum that does not possess a 
coelom is platyhelminthes. Platyhelminthes is also 
known as flatworms are acelomate animals i.e., they 
lack a body cavity between the digestive tract and the 
outer body wall.

78. Silk is produced by:

efmeukeâ (jsMece) keâe Glheeove efkeâmekesâ Éeje neslee nQ?
(a) Egg of silkworm/jsMece kesâ keâerÌ[s keâe DeC[e
(b) Pupa of silworm/jsMece keâer keâerÌ[s keâe keâes<emLe keâerš (hÙethee)
(c) Larva of silkworm/jsMece kesâ keâerÌ[s keâe ef[Yekeâ (ueeJee&)
(d) Insect itself/mJeÙeb jsMece kesâ keâerÌ[s Éeje

UTTARAKHAND GNM 2022

Ans. (c) : Silk is produced by the larva of the silkworm. 
After hatching from the egg, the larva feeds on 
mulberry leaves and the larva secretes  a protein from 
its salivary glands, which hardens into silk threads when 
exposed to air. These threads are used by silkworm to 
create a protective coccon around itself before, it 
transforms into a pupa.   

79. Which of the following is primarily composed
of calcium carbonate?

efvecve ceW mes keâewve cegKÙele: kewâefuMeÙece keâeyeexvesš mes
yevee nw?
(a) Fish scales/ceÚueer keâer heheÌ[er (Thejer melen)

(b) Shark teeth/Meeke&â kesâ oeBle
(c) Oyster shells/meerhe Keesue
(d) Whale bones/nJesue keâer n[d[er

UTTARAKHAND GNM 2022

Ans. (c) : Oyster shells are mainly made of calcium 
carbonate, a substance that provides strength and 
protection. This material forms the hard outer layer of 
the shell, helping the oyster product itself from 
predators and environmental factors. 

80. Life span of crocodile is................... years.

ceiejceÛÚ keâe peerJeve keâeue .................. Je<e& neslee nw~ 
(a) 15 (b) 40

(c) 60 (d) 90

JHARKHAND B.Sc NURSING 2018

Ans. (c) : Crocodiles typically live around 60 years due 
to their resilience, strong physiology and adaptability to 
aquatic habitats, though their lifespan varies slightly 
among species and environmental conditions.

81. Which of the following is incorrectly matched?

efvecve ceW mes keâewve mee DemelÙe megcesefuele nw?
(a) Body surface is distinctly marked into

segments→Phylum Annelida/Keb[eW ceW efvekeâeÙe
he=‰ he=Lekeâle: efÛeefvnle neslee nw→ mecegoeÙe Ssvesefue[e

(b) Presence of jointed appendages→ Phylum

Arthropoda/mebÙegòeâ GheebieeW keâer GheefmLeefle→ mecegoeÙe
DeeLeexhees[e

(c) Presence of rasping organ called 

radula→Phylum Mollusca/js[tuee veecekeâ jsleerues 
Debie keâer GheefmLeefle→ mecegoeÙe ceesuemkeâe 

(d) Bioluminescence, property to emit 

light→Phylum Cnidaria/ØekeâeMe Glmeefpe&le keâjves keâe 
peerJeoerefhleiegCe→ mecegoeÙe efve[sefjÙee 

JHARKHAND B.Sc NURSING 2018
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Ans. (d) : Bioluminescence, the ability to emit light, is 
commonly found in organisms from Phylum 
Ctenophora (comb jellies) and some arthropods, to in all 
Cnidarians. While some Cnidarians like jellyfish exhibit 
bioluminescence, it is not characteristic of the entire 
phylum.  
82.  Alligator belongs to class  
  ceiejceÛÚ............... Jeie& mes Deelee nw~ 
 (a) Aves/he#eer  
 (b) Mammalia/mleveOeejer  
 (c) Reptilia/jWievesJeeueer peerJe 
 (d) Pisces/celmÙeJeie& 

JHARKHAND B.Sc NURSING 2018 
Ans. (c) : Alligators are reptiles, characterized by scaly 
skin, cold-blooded metabolism and laying eggs, 
belonging to the Reptilia class.  
83.  According to the amount and distribution of 

yolk in an egg, the eggs of amphibians are:  
  Skeâ Deb[s ceW peoea keâer cee$ee Deewj efJelejCe kesâ Devegmeej 

GYeÛejeW kesâ Deb[s nesles nQ: 
 (a) Alecithal and centrolecithal/ 

  SuesefmeLeue Deewj meWš^esueerefmeLeue 
 (b) Microlecithal and telolecithal/ 

  ceeF›eâesuesefmeLeue Deewj šsueesuesefmeLeue 
 (c) Mesolecithal and telolecithal/ 

  cesmeesuesefmeLeue Deewj šsueesuesefmeLeue 
 (d) Mesolecithal and isolecithal/ 

  cesmeesuesefmeLeue Deewj DeeFmeesuesefmeLeue 
RUHS NURSING 2019 

Ans. (c) : Amphibian eggs are classified as mesolecithal 
because they contain a moderate amount of yolk and 
they are considered telolecithal because the yolk is 
concentrated towards one pole of the egg.  
84.  Ichthyology is the study of-  
  FefkeäLeÙeesuee@peer DeOÙeÙeve nw— 
 (a) Fishes/ceÚefueÙeeW keâe  
 (b) Amphibians/GYeÙeÛejeW keâe  
 (c) Reptiles/mejerme=heeW keâe 
 (d) Aves/heef#eÙeeW keâe 

HBNU B.Sc NURSING 2019 
Ans. (a) : Ichthyology is the branch of zoology that 
deals with the study of fishes. The term “ichthyology” is 
derived from the Greek word “ichthys”, meaning “fish”.  
85.  Which one of these animals is not a 

homeotherm?  
  efvecveefueefKele ceW mes keâewve mee pevleg meceleeheer veneR nw? 
 (a) Camelus/kewâcesueme  (b) Chelone/keâerueesve  
 (c) Macropus/cew›eâesheme (d) Psittacula/efmešwkegâuee 

HBNU B.Sc NURSING 2020 
Ans. (b) : Chelone refers to sea turtles, which are 
reptiles and are poikilotherms. Homeotherms are 
animals that can maintain a stable internal body 
temperature regardless of external environmental 
conditions.  

86.  Which movement is seen in Paramecium? 
  hewjeceerefMeÙece ceW keâewve-meer nueÛeue osKeer peeleer nw? 
 (a) Flagellar/keâMeeefYekeâerÙe  
 (b) Amoeboid/Deceeryee@F[ 
 (c) Ciliary/he#eceeefYekeâerÙe 
 (d) Pseudopodia/mÙet[esheesef[Ùee 

UPMSU B.Sc NURSING 2020 
Ans. (c) : The movement in Paramecium is achieved 
through cilia, small hair-like structures that cover its 
body  surface. This type of movement is called ciliary 
movement.   
87.  Spongilla is an example of:  
  mheeWefpeuee Fmekeâe Skeâ GoenjCe nw: 
 (a) Porifera /heesefjhesâje   
 (b) Cnidaria/efve[eefjÙee  
 (c) Coelenterata/meeruesvšjsše  
 (d) Annelida/Svesefue[e  

MP PNST 09.07.2023 SHIFT I 
Ans. (a) : Spongilla is a freshwater sponge which 
belongs to the phylum porifera these organisms are 
characterized by a porous body and a simple body 
structure, lacking true tissues and organs they filter 
through their pores to obtain food. 
88.  Ornithology describes about:  
  Dee@efve&Leesuee@peer efkeâmekesâ yeejs ceW JeCe&ve keâjlee nw? 
 (a) Cow/ieeÙe  (b) Birds/he#eer  
 (c) Insects/keâerÌ[s (d) Snakes/meebhe 

BHU B.Sc NURSING 2019 
Ans. (b) : Ornithology is the study of birds, including 
their behavior, physiology, ecology and conservation, to 
understand species and ecosystems.  
89.  Which of the following statements are not true 

regarding Ammonia?  
  efvecveefueefKele ceW mes keâewve mee keâLeve DeceesefveÙee kesâ mebyebOe 

ceW melÙe veneR nw? 
 (a) It is readily soluble/Ùen Deemeeveer mes IegueveMeerue nw~   
 (b) It is generally excreted by diffusion across 

body surfaces or through gill surfaces (in 

fish)/Ùen Deemeeveer mes DeceesefveÙee DeeÙeveeW kesâ ™he ces 
Mejerj keâer melen Ùee ceÚefueÙeeW kesâ keäueesce (efieue) keâer melen 
mes efJemejCe Éeje Glmeefpe&le nes peeles nQ~  

 (c) Kidneys play a significant role in its removal/ 

Fmes otj keâjves ceW efkeâ[veer keâer Dence Yetefcekeâe nesleer nw~  
 (d) The process of excreting ammonia is 

Ammonotelism/DeceesefveÙee kesâ Glmepe&ve keâer Øeef›eâÙee 
DeceesefveÙeeslmeie& nw~  

MP PNST 09.07.2023 SHIFT I 
Ans. (c) : Ammonia (NH3) is primarily excreted by 
diffusion across the body surface or gill surfaces in 
organisms like fish. It is not significantly removed by 
kidneys instead mammals and birds use kidneys for 
excreting urea not ammonia. 
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4. 

Diversity in Living World
1. Cell wall of Gram-positive bacteria consists

mostly of

«eece-hee@efpeefšJe yewkeäšerefjÙee keâer keâesefMekeâe efYeefòe cess
DeefOekeâebMele: keäÙee neslee nw?
(a) Chitins/keâeFefšvme
(b) Cellulose and hemicellulose/mesuÙetueespe Deewj

nsceermesuÙetueespe
(c) Peptidoglycan and teichoic acid/hesefhš[esiueeFkeâve

Deewj šskeâesFkeâ Sefme[
(d) Lipopolysaccharides/efueheeshueeFmeskesâjeF[dme

WB-JENPAS-2024 

Ans. (c) : Gram-positive bacteria have a thick cell wall 
composed mainly of multiple layers of peptidoglycan, 
which provides structural strength. Teichoie acids are 
embeded in the peptidoglycan, contributing to the cell 
wall's rigidity and important in cell wall maintenance 
and regulation of cell growth. 

2. Which of the following is rich in protein?

efvecveefueefKele ceW mes efkeâmeceW ØeÛegj cee$ee ceW Øeesšerve neslee nw?
(a) Ulothrix/ÙetueesefLeÇkeäme
(b) Nostoc/vee@mšekeâ
(c) Chlorella/keäueesjsuee
(d) Spirogyra/mheeFjesieeFme

HNBUMU BSc. Nursing-2023 

Ans. (c) : Chlorella, a type of green unicellular algae, is 
well-known for its high protein content and is often 
used as a dietary supplement. It can be consumed by 
astronauts, which reduces the need to transport food 
into space.

3. Consider the following statements about a
kingdom:

Skeâ peiele kesâ yeejs ceW efvecveefueefKele keâLeveeW hej efJeÛeej keâjW:
1. It includes multicellular or many-celled

organisms/FmeceW yengkeâesefMekeâerÙe Ùee keâF&
keâesefMekeâe Jeeues peerJe Meeefceue nQ~

2. The body is made of network (mycelium)

of  fine threads called hyphae/ Fvekesâ
Mejerj neFheâe (ceeFmeerefueÙece) veecekeâ cenerve OeeieeW
kesâ peeue mes yeves nesles nQ~

Which of the following is an organism 
belonging to this kingdom?  

efvecveefueefKele ceW mes keâewve Fme jepÙe mes mebyebefOele peerJe nw? 
(a) Amoeba/Deceeryee
(b) Chlamydomonas/keäuewceeF[esceesveeme
(c) Mycobacterium/ceeFkeâesyewkeäšerefjÙece
(d) Mushroom/ceMe™ce

MP-PNST-08.07.2023, Shift-II 

Ans. (d): These statements describes the characteristics 
of fungi. Mushroom belongs to the kingdom Fungi, 
which includes multicellular organisms with a body 
made of a mycelium (a network of hyphae).

4. Mucor is-/cÙetkeâj nw-
(a) Fungi / keâJekeâ (b) Algae / MewJeeue
(c) Bacteria / yewkeäšerefjÙee (d) Virus / efJe<eeCeg

CG BSc. Nursing-2022 

Ans. (a): Mucor is classified as a fungus. It belongs to 
the group of fungi known as zygomycetes and is 
commonly found in soil, plant debris and decaying 
organic matter. Mucor species can sometimes cause 
infections in humans, particularly in those with 
weakened immune systems. 

5. Leptothrix is an example of which of the

following ?

ueshšesefLeÇkeäme efvecve ceW mes efkeâmekeâe GoenjCe nw ?
(a) Sulphur Bacteria / meuheâj peerJeeCeg
(b) Iron Bacteria / ueewn peerJeeCeg
(c) Hydrogen Bacteria / neF[^espeve peerJeeCeg
(d) Nitrogen Bacteria / veeFš^espeve peerJeeCeg

CG BSc. Nursing-2021 

Ans. (b): Leptothrix is an example of iron bacteria. 
These bacteria oxidize iron to obtain energy, often 
creating deposits of iron oxides. Leptothrix species, like 
(Leptothrix ochracea), are known for their filamentous 
growth and involvement in iron oxidation processes in 
aquatic environments.

6. Which of the following granules are present in

cyanobacteria?/meeÙeveespeerJeeCegDeeW ceW efvecveefueefKele ceW
mes keâewve-meer keâeefCekeâeSB heeÙeer peeleer nw?
(a) Polyglucan/hee@ueeriuetkeâe@ve
(b) Carboxysomes/keâeyeexkeämeermeesce
(c) Gas Vacuoles/iewme efjefòekeâe
(d) All the above/Ghejesòeâ meYeer

CG BSc. Nursing-2019 

Ans. (d) : Cyanobacteria contain granules such as 
polyglucan, carboxysomes and gas vacuoles. These 
structures serve various function, including carbon 
fixation and buoyancy regulation. 

7. Bacteriophage attacks which of the following?

peerJeeCegYeespeer efkeâme hej Dee›eâceCe keâjlee nw?
(a) Plant cell/heeohe keâesefMekeâe
(b) Animal cell/pevleg keâesefMekeâe
(c) Bacteria/peerJeeCeg
(d) Mycoplasma/ceeFkeâeshueepcee

CG BSc. Nursing-2019 
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Ans. (c) : A bactriophage specifically attacks on 

bacteria. It is a type of virus that infects bacterial cells 

by injecting its genetic material, which then replicates 

within the host, eventually causing the bacteria to burst 

and release new phages.   
8.  Coenogametes are formed in which of the 

following ?   
  efkeâmeceW mebÙegicekeâ keâe efvecee&Ce neslee nw? 

 (a) Funaria/HeäÙetvesefjÙee  
 (b) Mucor/cÙetkeâj   
 (c) Spirogyra/mheeFjesieeÙeje 
 (d) Selaginella/efmeuesefpevesuee 

CG BSc. Nursing-2019 

Ans. (b) : Coenogametes are multinucleate gametes 

typically formed in Mucor, a type of fungus. These 

gametes result from the fusion of gametangia, leading to 

the formation of a multinucleate zygospore.     
9.  Gram staining identifies bacteria into gram 

positive and gram negative on the basis of:  
  «eece DeefYejbpeve peerJeeCeg keâes efvecve kesâ DeeOeej hej «eece 

Oeveelcekeâ Deewj «eece $e+Ceelcekeâ ceW henÛeevelee nw: 

 (a) Cell wall/keâesefMekeâe efYeefòe  
 (b) Cytoplasm/keâesefMekeâe õJÙe  
 (c) Granules in the cytoplasm/keâesefMekeâe õJÙe 

(meeFšeshueepce) ceW keâefCekeâeSB 
 (d) All of these/GheÙeg&òeâ meYeer 

MP-GNTST/PNST-07.07.2019, Shift-II 

Ans. (a) : Gram staining differentiates bacteria based on 

cell wall composition. Grampositive bacteria retain the 

crystal violet stain due to a thick peptidoglycan layer, 

while  gramnegative bacteria have a thinner layer, not 

retaining the stain, differentiating them accordingly.  
10.  Viruses are exclusively ________.  
  JeeÙejme (efJe<eeCeg) efJeMes<e ™he mes_______ nesles nQ~ 

 (a) saprophytes/ce=lepeerJeer  
 (b) parasites/hejpeerJeer  
 (c) all of these/GheÙeg&òeâ meYeer 
 (d) autotrophs/mJeheesef<ele 

MP-GNTST/PNST-08.07.2019, Shift-I 

Ans. (b) : Viruses are exclusively parasites. They 

cannot reproduce or carry out metabolic processes on 

their own and must infect a host cell to replicate and 

propagate. Unlike saprophytes (which decompose dead 

matter) and autotrophs (which produce their own food), 

viruses rely entirely on a host organism for survival and 

reproduction, filling the definition of parasites.   
11.  Fried egg shaped colonies are formed by  

  leues ngS DeC[s pewmeer ceC[ue (keâe@ueesveer) keâe efvecee&Ce 
efkeâÙee peelee nw  

 (a) Mycoplasma / ceeFkeâeshueepcee Éeje 

 (b) L - form bacteria / Sue-Heâe@ce& yewefkeäšefjÙee Éeje 

 (c) Both A and B / A leLee B oesveeW mener  

 (d) Bacteriophages / peerJeeCegYeesefpeÙees Éeje 
CG BSc. Nursing-2018 

Ans. (a) : Fried egg-shaped colonies are typically 

formed by Mycoplasma species. Mycoplasma are 

bacteria that lack a cell wall, which gives them a unique 

appearance when cultured on solid media. Their 

colonies often spread out flat and have a central dome-

like elevation resembling the appearance of a fried egg.  
12.  Which of the following is true for TMV 

(Tobacco Mosaic Virus)?  
  šesyewkeâes ceespewkeâ JeeÙejme (TMV) kesâ mebyebOe ceW efvecve ceW 

mes keäÙee mener nw? 

 (a) It has double-stranded RNA as genetic 

material / FveceW DeevegJebefMekeâ heoeLe& kesâ ™he ceW efÉmet$eerÙe 
Deej.Sve.S. neslee nw 

 (b) It has single-stranded RNA as genetic 

material / FveceW DeevegJebefMekeâ heoeLe& kesâ ™he ceW 
Skeâmet$eerÙe Deej.Sve.S. neslee nw  

 (c) It has single- stranded DNA as genetic 

material / FveceW DeevegJebefMekeâ heoeLe& kesâ ™he ceW 
Skeâmet$eerÙe [er.Sve.S. neslee nw 

 (d) It has an envelope around its capsid / FveceW 
kesâefhme[ Skeâ DeeJejCe Éeje efIeje neslee nw 

CG BSc. Nursing-2018 

Ans. (b) : Tobacco mosaic virus (TMV) has single-

stranded RNA (sRNA) as its genetic material. TMV is 

one of the most well known plant viruses and its RNA 

serves as the template for both the replication of the 

viral genome and the production of viral proteins.              
13.  The murein found in bacterial cell is -  
  peerJeeCeg keâesefMekeâe ceW heeÙee peeves Jeeuee cÙetefjve neslee nw 

 (a) Derivative of protein / Øeesšerve keâe JÙeglheVe  

 (b) Derivative of fat / Jemee keâe JÙeglheVe   

 (c) Derivative of organic acids/keâeye&efvekeâ Decue keâe 
JÙeglheVe  

 (d) Derivative of sugars / Meke&âje Decue JÙeglheVe 
MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (d): The murein found in bacterial cell is 

derivative of sugars. Murein or mucopeptide, is a 

polymer composed of N-acetylglucosamine (NAG) and 

N-acetylnuramic acid (NAM). It is responsible for 

rigidity and shape of bacterial cells and protects them 

from osmotic disruption.   
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14. Which of the following represents obligate

anaerobes?/efvecve ceW mes keâewve - mee DeefveJeeÙe&
DeJeeÙeJeerÙe (obligate anaerobes) nw-

(a) Spirogyra/mheeFjesieeFje
(b) Pisum sativum/heeFmece mešeFJece
(c) Onion / hÙeepe
(d) Methane bacteria / ceerLesve peerJeeCeg

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (d): Methane bacteria are obligate anaerobes that 
can only survive in environments without oxygen, using 

alternative metabolic pathways. 

15. Gram + ve bacteria have-

«eece hee@efpeefšJe yewkeäšerefjÙee cebs-
(a) Thick and homogeneous cell walls / ceesšer leLee

nesceespeerefveÙeme keâesefMekeâe efYeefòe GheefmLele nesleer nw
(b) As much as 70% peptide molecules / ueieYeie

70³ heshšeF[ DeCeg nesles nw
(c) Either no lipids or less than 10% lipids /

efueefhe[dme veneR nesles Ùee 10³ mes keâce efueefhe[dme nesles nQ
(d) All the above / Ghejesòeâ ceW mes meYeer

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (d) : Gram + ve bacteria have thick and 
homogeneous cell walls rich in peptidoglycan, contain 
approximately as 70% peptide molecules and possess 
little to no lipids, contributing to their structural 

integrity.

16. Which group of bacteria is known as Ray-

fungus?

peerJeeCegDeeW kesâ efkeâme mecetn keâes jefMce keâJekeâ (Ray-

fungus) keâne peelee nw-
(a) Mycobacteria /ceeFkeâesyewkeäšerefjÙee
(b) Mycoplasma/ceeFkeâeshueepcee
(c) Actinomycetes/SkeäšerveesceeFefmešerpe
(d) Myxobacteria/efcekeämeesyewkeäšerefjÙee

MP-GNTST/PNST-19.06.2016, Shift-II 

Ans. (c): The group of bacteria known as "Ray -fungus" 
refers to Actinomycetes. These are filamentous bacteria 
that resemble  fungi in their appearance, hence the term 
"Ray-fungus". They are characterized by their 
branching filamentous structures and are known for 
producing antibiotics and enzymes of medical 

importance.  

17. Which of the following is a photo-autotrophic

bacterium?

ØekeâeMeerÙe mJehees<eer (Heâesšes Dee@šesš^esefheâkeâ) peerJeeCeg
keâewve-mee nw?
(a) Rhodospirillum / jes[esmheeFefjuece
(b) Azospirillum / Speesefmheefjuece
(c) Nitrosomonas / veeFš^esmeesceesveeme
(d) Nitrobacter / veeFš^seyewkeäšj

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (a) : Rhodospirillum belongs to anaerobic photo-

autotrophic, free-living nitrogen-fixing bacteria. It is a 

facultative anaerobe, meaning it can use different 

metabolic pathways under low oxygen conditions.

18. Viruses:/JeeÙejme :

(a) Possess their own metabolic system / ces mJeÙeb
keâe GheeheÛeÙeer leb$e heeÙee peelee nw

(b) Contain either DNA or RNA / ceW DNA Ùee
RNA heeÙee peelee nw

(c) Are facultative parasites / efJekeâuheer hejpeerJeer nesles nw
(d) Are readily killed by antibiotic / ØeeflepewefJekeâ Éeje

ceejs peeles nw
MP-GNTST/PNST-2014 

Ans. (b) : Viruses contain either DNA or RNA as their 

genetic material. They lack a metabolic system, making 

them dependent on host cells for replication. They are 

obligate parasites and are not affected by antibiotics, 

which target bacterial functions. 

19. Which of the following is an edible ascomycetes?

efvecve ceW mes keâewve-mee Keeves ÙeesiÙe SmkeâesceeÙemeerefšpe nw?

(a) Morel + Mushroom /ceesjue ±ceMe™ce
(b) Puffball + Mushroom /heHeâyee@ue ± ceMe™ce
(c) Morel + Truffle /ceesjue ± š^Heâue
(d) Truffle + Toadstool/š^Heâue ± šes[mšuet

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (c): Morels and truffles are both edible 

ascomycetes belonging to the phylum Ascomycota. 

Morels have a honeycomb-like structure and truffles 

are underground fungi known for their aromatic flavor. 

In contrast, mushrooms and puffballs belong to phylum 

Basidiomycota, and toadstools are typically poisonous.  

20. Select the correct statement below for kingdom

Fungi

keâJekeâ peiele kesâ efueS veerÛes efoS ieS mener keâLeve keâe
ÛeÙeve keâerefpeS~
(a) Certain fungi are natural sources of

antibiotics/kegâÚ keâJekeâ ØeeflepewefJekeâ keâe Øeeke=âeflekeâ œeesle nw
(b) The fungal life cycle involves a spore stage

/keâJekeâerÙe peerJeve Ûe›eâ cebs yeerpeeCeg DeJemLee nesleer nw
(c) Some fungi form suitable associations with

plants/kegâÚ keâJekeâ heeoheeW kesâ meeLe GheÙegòeâ Devleme&cyevOe
yeveeles nQ

(d) All of the above/Ghejesòeâ meYeer
MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (d) : Certain fungi, such as Penicillium, are natural 

sources of antibiotics. The spore stage is indeed part of 

the fungal life cycle. Additionally, many fungi form 

beneficial associations with plants such as mycorrhizae, 

enhancing nutrient uptake.    
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21.  Which polysaccharide is present in the cell wall 

of fungi? 

  keâJekeâ keâer keâesefMekeâe efYeefòe ceW keâewve-mee hee@ueermewkesâjeF[ 
neslee nw? 

 (a) Silica/efmeefuekeâe (b) Pectin/heskeäšerve  
 (c) Cellulose/mesuegueesme (d) Chitin/keâeFefšve 

MP-GNTST/PNST-10.06.2018, Shift-I 

Ans. (d) : The polysaccharide present in the cell wall of 
fungi is chitin. Chitin is a long-chain polymer of N-
acetylglucosamine, providing structural support and 
rigidity to fungal cells walls. Unlike plants, which have 
cellulose in their cell walls, fungi rely on chitin for 
protection and maintaining cell shape.  

22.  Thigmotaxis is not shown by which? 

  mheMee&vegÛeueve (Thigmotaxis) efkeâmekesâ ôeje veneR 
oMee&Ùeer peeleer nw? 

 (a) Paramecium/hewjeceerefMeÙece  
 (b) Amoeba/Deceeryee  
 (c) Ascaris/Smkewâefjme  
 (d) Hydra/neF[^e 

MP-GNTST/PNST-2020 

Ans. (c) : Thigmotaxis refers to an organism's response 
to touch or physical stimuli. Paramecium and Hydra 
demostrate thigmotaxis through their movements in 
response to contact with surfaces. Amoeba also shows 
this behavior as it changes shape. However, Ascaris a 
roundworm, lacks this response, as it primarily moves 
through muscular contractions.     
23.  Clamp connection is found in  

  keäuewche keâvewkeäMeve heeÙee peelee nw 
 (a) In basidiomycetes/yesefmeef[ÙeesceeFmeeršdme ceW  

 (b) In zygomycetes/peeFieesceeFmeeršdme ceW  
 (c) In ascomycetes/SmkeâesceeFmeeršdme ceW  

 (d) In oomycetes/TceeFmeeršdme ceW 
MP-GNTST/PNST-2020 

Ans. (a) : Clamp connection is mainly found in 
basidomycetes. It is a special type of structure that 
arises during the development of fungi at the dikaryon 
stage. Clamp connection is a special cell structure that 
coordinates two nuclei during this stage. It is a type of 
division in which one nucleus approaches the other so 
that they fuse together to form a new cell. 

24.  A bacterium divides every 35 minutes it 10 

cells/ml culture is grown what will be the 

concentration of cell in one ml after 175 

minutes?  

  Skeâ peerJeeCeg ØelÙeskeâ 35 efceveš yeeo efJeYeeefpele nesslee nw~ 
Ùeefo 10

5 keâesefMekeâeSB/efceueer mebJe&Oeve keâes GieeÙee peelee nw 
lees 175 efceveš kesâ yeeo Skeâ efceueer ceW keâesefMekeâeDeeW keâer 
meevõlee efkeâleveer nesieer? 

 (a) 175×10
5
 (b) 125×10

5
  

 (c) 48×10
5
 (d) 32×10

5
 

MP-GNTST/PNST-2020 

Ans. (d) : To solve this, let's determine how many times 

the bacterium divides in 175 minutes - 

• Each bacterium divides every 35 minutes. 

• Total times = 175 minutes 

• Number of divisions = 175 ÷ 35 = 5 division. 

∴ The initial concentration is 10
5
 cells per ml. After 

each division, the number of cells doubles. 

Final concentration = 10
5
 × 2

5
 = 10

5
 × 32 

25.  Virus/JeeÙejme 
 (a) Has its own metabolic system/ceW mJeÙeb keâe 

GheeheÛeÙeer lev$e heeÙee peelee nw 
 (b) DNA or RNA is found in/ceW DNA Ùee 

RNAheeÙee peelee nw 
 (c) Obligate parasites/efJekeâuhe hejpeerJeer nesles nQ 
 (d) Are killed by antibiotics/ØeeflepewefJekeâ Éeje ceejs peeles nQ 

MP-GNTST/PNST-2015 

Ans. (b) : The genetic material in a virus can be either 

DNA or RNA. This genetic material allows the virus to 

enter the host cell and replicates itself, thereby 

spreading the infection.  
26.  Lomasomes of fungi are related to- 
  keâJekeâ kesâ ueesceemeesce mecyeefvOele nesles nQ 
 (a) Cell enlargement/keâesefMekeâe efJeJeOe&ve ceW 
 (b) Cell expansion/keâesefMekeâe efJemle=leerkeâjCe ceW 
 (c) To increase the surface area for diffusion of 

substances used in cell membrane formation 

or breakdown/keâesefMekeâe efYeefòe efvecee&Ce DeLeJee KeC[ve 
cebs ØeÙegòeâ heoeLeeX kesâ efJemejCe kesâ efueS melener #es$eHeâue ceW 
Je=efæ kesâ efueS 

 (d) All of the above/Ghejesòeâ meYeer 
MP-GNTST/PNST-2015 

Ans. (c) : Lomasomes of fungi are related to the 

increase in surface area for diffusion of substances used 

in cell wall formation or breakdown. The cell wall of  

fungi is composed of chitin, and lomasomes are 

membrane bound structures which helps in transport of 

materials required for cell wall process.    
27.  Mycoplasma do not contain:  
  ceeFkeâeshueepcee ceW veneR heeÙee peelee nw: 
 (a) Cell membrane / keâesefMekeâe efPeuueer   
 (b) Cell wall / keâesefMekeâe efYeefòe   
 (c) DNA / [er.Sve.S. 
 (d) Cytoplasm / keâesefMekeâe õJÙe 

MP-GNTST/PNST-2014 

Ans. (b) : Mycoplasma lack a cell wall, making them 

unique among bacteria. This absence allows them to 

have varied shapes and makes them resistant to 

antibiotics that target cell wall synthesis, such as 

Penicillin. They still have a cell membrane, DNA and 

cytoplasm.     
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28. The bacteria which lacks flagella and moves by
gliding are included in-

Ssmes peerJeeCeg efpeveceW Heäuewpesuee DevegheefmLele nesles nQ Deewj
pees iueeFef[bie Éeje ieefle keâjles nQ, keâes efkeâme mecetn ceW
jKeles nQ
(a) Spirochaetes /mheeFjeskeâeršdme
(b) Rickettsia /efjkesâšdefmeÙee
(c) Myxobacteria /efcekeämeesyewkeäšerefjÙee
(d) Eubacteria /ÙetyewkeäšerefjÙee

MP-GNTST/PNST-19.06.2016, Shift-II 

Ans. (c): Myxobacteria are a group of bacteria that lack 
flagella and exhibit gliding motility. They are known 
for their social behavior, forming multicellular 
structures under certain conditions. This gliding motility 
allows them to swarm and aggregate, which is distinct 
from the flagella - driven movement seen in other 
bacteria.

29. Paracoccus is -

hesjekeâeskeâme neslee nw -
(a) Aerobic bacteria / Dee@keämeer peerJeeCeg
(b) Anaerobic bacteria / Devee@keämeer peerJeeCeg
(c) Both of the above / Ghejesòeâ oesveeW
(d) None of the above / Ghejesòeâ ceW mes keâesF& veneR

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (a) : Paracoccus is an aerobic bacteria in the 
family Rhodobacteraceae. It is typically a rod-shaped 
bacterium but assumes spherical shapes during the 
stationary phase. Paracoccus bacteria produce energy 
using oxygen, are aerobic bacteria.

30. Life span of Crow is:

keâewJes keâe peerJeve keâeue neslee nw:
(a) 1—2 week/ 1—2 mehleen
(b) 100 years/100Je<e&
(c) 15 years/ 15 Je<e&
(d) 60 years/60 Je<e&

AMRU B.Sc NURSING 2023

Ans. (c) : The average lifespan of a crow is 
approximately 15 years. While some species of crows 
may live longer, particularly in captivity, they typically 
survive around this time in the wild, due to natural 
challenges.  

31. Example of Fungi imperfect is:

FveceW mes keâewve DehetCe& keâJekeâ keâe GoenjCe nw?
(a) Alternaria/DeušjvesefjÙee
(b) Saprolegnia/mewØeesuesefiveÙee
(c) Rhizopus/jeFpeesheme
(d) Peziza/hespeeFpee

BHU B.Sc NURSING 2019

Ans. (a) : Alternaria is an imperfect fungus 
(Deuteromycota) that reproduces asexually through 
conidia, lacking a known sexual reproduction phase. It 
is commonly  found on decaying organic matter and in 
plant pathogens.

32. Edible mushroom is:

Keeves ÙeesiÙe ceMe™ce keâewve-mee nw?
(a) Pleurotus/huegjesšme
(b) Polyporus/hee@ueerheesjme
(c) Chlorella/keäueesjsuee
(d) Spirulina/mheeF™efuevee

BHU B.Sc NURSING 2019

Ans. (a) : Pleurotus (oyster mushrooms) are edible, 
nutritious and commonly used in cooking. They are rich 
in protein, vitamins and minerals, making them a 
popular choice for healthy meals and culinary dishes.

33. Volatile oil is isolated from:

JeesueešeFue lesue efkeâmemes efvekeâuelee nw?
(a) Vetivera/JessšerJesje
(b) Dendrocalamus/[sv[^eskewâuesceme
(c) Asparagus/Ssmhewjsieme
(d) Smilax/mceeFueskeäme

BHU B.Sc NURSING 2019

Ans. (a) : Volatile oil is extracted from the roots of 
Vetivera (vetiver), a plant known for its aromatic 
properties. The oil is used in perfumes and 
aromatherapy due to its soothing and earthy fragrance.

34. Ascocarp found in :

Ssmkeâeskeâehe& efkeâmeceW efceuelee nw?
(a) Bacteria/peerJeeCeg (yewkeäšerefjÙee) ceW
(b) Actinomycetes/SkeäšerveesceeFmeeršerpe ceW
(c) Fungi/keâJekeâ ceW
(d) Bryophytes/yeÇeÙeesheâeFšdme ceW

BHU B.Sc NURSING 2019

Ans. (c) : Ascocarp is  structure in ascomycete fungi 
where sexual reproduction occurs. It contains asci, sac-
like structures that produce ascospores. This is 
characteristic of the Ascomycota group of fungi.

35. Heterocyst helps in:

nsšsjesefmemš efkeâmeceW meneÙekeâ nw?
(a) Nitrogen fixation/veeFš^espeve efmLejerkeâjCe ceW
(b) Photosynthesis/ØekeâeMe mebMues<eCe ceW
(c) Protein synthesis/Øeesšerve efvecee&Ce ceW
(d) Nucleic acid synthesis/vÙetefkeäuekeâ Decue efvecee&Ce ceW

BHU B.Sc NURSING 2019

Ans. (a) : Heterocysts are specialized cells in cyano-
bacteria that provide an anaerobic environment for 
nitrogen fixation. They convert atmospheric nitrogen 
into ammonia, a form usable by the organism for 
growth and metabolism.

36. Which one is obligate parasite?

FveceW mes keâewve DeefJekeâuheer hejpeerJeer (Deeyueeriesš
hewjemeeFš) nw?
(a) Volvox/JeeueJeekeäme
(b) Rhizopus/jeFpeesheme
(c) Funaria/heäÙetvesefjÙee
(d) Puccinia/hekeämeerefveÙee

BHU B.Sc NURSING 2019
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Ans. (d) : Puccinia is an obligate parasite, relying 
entirely on its host for survival and reproduction. It 
infects plants, causing diseases like wheat rust and 

cannot grow or reproduce without a host.

37. Which one of the following found both in plant

and animal?

efvecveefueefKele ceW mes keâewve-mee heewOes Deewj heMeg oesveeW ceW
heeÙee peelee nw?
(a) Mitochondria/ceeFšeskeâe@efv[^Ùee
(b) Tonoplast/šesveeshueemš
(c) Centriole/meWš^erDeesue
(d) Chlorophyll/keäueesjesefheâue

BHU B.Sc NURSING 2019

Ans. (a) : Mitochondria are present in both plant and 
animal cells, producing ATP through cellular 
respiration . They supply energy for cellular activities, 
unlike tonoplast, chlorophyll or centrioles, which are 

specific to certain cell types.

38. Viruses replicates on:

JeeÙejme Øeefleke=âefle yeveelee nw:
(a) Agar gel/Deieejpesue
(b) Dead tissue/ce=le Tlekeâ
(c) Living tissue/peerefJele Tlekeâ
(d) Only in culture media/kesâJeue keâuÛej ceeref[Ùee ceW

BHU B.Sc NURSING 2019

Ans. (c) : Viruses are obligate parasites that lack 
cellular machinery for replication. They rely on 
infecting living cells, using the host's resources to 
reproduce, as they cannot replicate independently on 
non-living surfaces.

39. Characteristics of animal and plant are

observed in:

peeveJejeW Deewj heewOeeW keâer efJeMes<eleeSb osKeer peeleer nw:
(a) Amoeba/Deceeryee ceW
(b) Euglena/Ùetiueervee ceW
(c) Opalina/Deesheefuevee ceW
(d) Paramecium/hewjecewefMeÙece ceW

BHU B.Sc NURSING 2019

Ans. (b) : Euglena is a unique organism that 
demonstrates characteristics of both plants and animals. 
It performs photosynthesis like plants due to 
chloroplasts and moves and ingests food like animals 

using flagella.

40. "Comma" shaped bacteria are known as :

‘keâe@cee’ kesâ Deekeâej kesâ yewkeäšerefjÙee keâes efkeâme veece mes
peevee peelee nw?
(a) Coccus/keâeskeâme
(b) Spiral/mheeFjue
(c) Spirillum/mheeFefjuece
(d) Vibrio/efJeefyeÇÙeeW

AMRU B.Sc NURSING 2021

Ans. (d) : Vibrio bacteria are characterized by their 
curved comma-like shape. They are a type of Gram-
negative bacteria, often found in aquatic environments.  

41. Which of the branch of botany deals with the
study of fossilized plants of different geological
periods?

Jevemheefle efJe%eeve keâer keâewve-meer MeeKee efJeefYeVe
YetJew%eeefvekeâ keâeue kesâ peerJeeMce heewOeeW kesâ DeOÙeÙeve mes
mebyebefOele nw?
(a) Fossiology/peerJeeMce efJe%eeve
(b) Anatomy/Mejerj jÛevee efJe%eeve
(c) Palaeobotany/hegjeJevemheefle efJe%eeve
(d) Physiology/Mejerj ef›eâÙee efJe%eeve

JHARKHAND  B.Sc 2022 NURSING

Ans. (c) : The branch of botany that deals with the 
study of fossilized plants from different geological 
periods is palaeobotany.

� It involves studying ancient plant life to understand 
plant evolution and how past environmental 
conditions shaped plant species. 

42. Which of the following is a component of
bacterial flagellum?

efvecveefueefKele ceW mes keâewve-mee peerJeeefCJekeâ keâMeeefYekeâ keâe
Skeâ Ieškeâ nw?
(a) Filament/lebleg
(b) Hook/DebkegâMe
(c) Basal body/DeeOeejer efvekeâeÙe
(d) All the above/Gòeâ meYeer

JHARKHAND B.Sc NURSING 2018

Ans. (d) : A bacterial flagellum is made up of three 
components : the filament (long, whip-like structure for 
movement), the hook (connects filament to the basal 
body) and the basal body (anchors the flagellum to the 
cell membrane).

43. Trichoderma helps in:

š^eFkeâes[cee& efkeâmeceW meneÙelee keâjlee nw?
(a) Nitrogen fixation/veeFš^espeve efmLejerkeâjCe ceW
(b) Disease control/jesie efveÙeb$eCe ceW
(c) Pollination/hejeieCe ceW
(d) Gene transfer/peerve mLeeveevlejCe ceW

BHU B.Sc NURSING 2019

Ans. (b) : Trichoderma is a beneficial fungus used in 
agriculture for disease control. It suppresses plant 
pathogen by producing enzymes, antibiotics and 
outcompeting harmful microorganisms, promoting plant 
health and growth.

44. Amoeba reproduces by_________.

Deceeryee keâe peveve efkeâme Øeef›eâÙee mes neslee nw?
(a) Binary fission / efÉKeb[ve
(b) Fragmentation  / Keb[ve
(c) Regeneration / hegvepe&veve
(d) Vegetative propagation / keâeefÙekeâ ØeJeOe&ve

MP PNST 09.07.2023 SHIFT-II

Ans. (a) : Amoeba reproduces by binary fission, where 
the nucleus and cytoploasm divide, resulting in two 
identical daughter cells.
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45.  Uptake of DNA from environment by a 
bacterial cell occurs during:   

  peerJeeCeg Éeje yeenjer JeeleeJejCe mes [er.Sve.S. efkeâme oewjeve 
efueÙee peelee nw? 

 (a) Conjugation / mebÙegiceve  
 (b) Transduction / heej›eâceCe  
 (c) Transfection / š^ebmHesâkeäMeve 
 (d) Transformation / ™heevlejCe 

BHU NURSING 2017 
Ans. (d) : The uptake of DNA from the environment by 
a bacterial cell occurs during a process called 
transformation. During transformation, bacteria take up 
free DNA fragments or plasmids from their 
surroundings and incorporate them into their own 
genome. This process can be natural or induced in the 
laboratory for genetic manipulation.  
46.  Which of the following kinds of asexual 

reproduction takes place in amoeba?  
  Deceeryee ceW efvecve ceW mes efkeâme Øekeâej keâe DeueQefiekeâ peveve 

neslee nw? 
 (a) Binary fission / efÉefJeYeepeve  
 (b) Budding / cegkegâueve  
 (c) Spore formation / yeerpeeCeg ie"ve 
 (d) Vegetative propagation / keâeefÙekeâ peveve 

MP PNST 09.07.2023 SHIFT-II 
Ans. (a) : Amoeba reproduces by binary fission, a type 
of asexual reproduction where the nucleus divides, 
followed by cytoplasmic division, producing two 
identical daughter cells capable of growing 
independently.  
47.  Which form trans-membrane pores in bacterial 

cell?  
  keâewve-mee peerJeeCeg keâesefMekeâe ceW efPeuueer kesâ Deej-heej Úso 

keâjlee nw? 
 (a) NK cell/NK keâesefMekeâe   
 (b) Complementary system/keâecheueercesvšjer leb$e  
 (c) B-lymphocyte/B- efuecheâesmeeFš  
 (d) NK cell and Complementary system both/NK 

keâesefMekeâe SJeb keâecheueercesvšjer leb$e oesveeW  
MP PNST 09.07.2023 SHIFT I 

Ans. (d) : Both the complement system and NK cells 
can form trans-membrane pores in bacterial cells. The 
complement system creates pores through its 
components like C5b-9 and NK cells release cytotoxins 
that can induce pore formation in target cells leading to 
cell lysis.    
48. Viroids have 

 JeeÙeje@F[dme ceW- 

 (a) Single stranded RNA not enclosed by protein 

coat/ Øeesšerve keâesš mes efIeje ngDee veneR nesves Jeeuee Skeâue 
mš^Q[s[ Deej. Sve. S. 

 (b) Single stranded DNA not enclosed by protein 

coat/Øeesšerve keâesš mes efIeje ngDee veneR nesves Jeeuee Skeâue 
mš^Q[s[ [er. Sve. S. 

 (c) Double stranded DNA enclosed by protein 

coat/Øeesšerve keâesš mes efIeje ngDee [yeue mšQ[s[ 
[er.Sve.S. 

 (d) Double stranded RNA enclosed by protein 

coat/Øeesšerve keâesš mes efIeje ngDee [yeue mš^w[s[ 
Deej.Sve.S. 

J&K NURSING 2023 
Ans. (a) : Viroids are the smallest known infectious 
agents, consisting solely of a short strand of circular, 
single- stranded RNA. They lack a protein coat, which 
differentiates them from viruses. Viroids primarily 
infect plants, causing various diseases, and replicate 
autonomously within the host cells.  
49.  It is a saprophytic fungus, commonly known as 

"common pin mould" grows on animal dung, 

wet shoes, rotten fruit, decaying matter. 

Identify the fungal type? 

  Ùen Skeâ ce=leeshepeerJeer keâJekeâ nw efpemes Deeceleewj hej 
‘‘keâe@ceve efheveceesu[’’ kesâ ™he ceW peevee peelee nw pees 
peeveJejeW kesâ ieesyej, ieerues petles, meÌ[s ngS heâue, meÌ[les ngS 
heoeLe& hej Gielee nw~ keâJekeâ kesâ Øekeâej kesâ Øekeâej keâer 
henÛeeve keâjW? 

 (a) Albugo/Suyegiees 
 (b)  Mucor/cÙetkeâj 
 (c)  Phytophthora/heâeFšesheäLeesje 
 (d)  Saprolegnia/mewØeesuesefiveÙee  

J&K NURSING 2021 
Ans. (b) : Mucor is a saprophytic fungus that thrives on 
decaying organic matter like animal dung, rotten fruit 
and wet shoes. It is commonly referred to as “common 
pin mould” due to its appearance.  
50.  Viruses of genus Nucleopolyhedrovirus are 

employed as:  

  vÙetefkeäueÙeeshee@ueerns[^esJeeÙejme JebMe kesâ efJe<eeCegDeeW keâes efkeâme 
™he ceW efveÙeesefpele efkeâÙee peelee nw? 

 (a) Gobar gas producers/ieesyej iewme Glheeokeâ  
 (b) Biological control agents/pewefJekeâ efveÙeb$eCe SpeWš  
 (c) Atmospheric nitrogen fixers/JeeÙeg ceC[ueerÙe 

veeFš^espeve efmLejerkeâjCekeâlee& 
 (d) Antibiotics/SbšeryeeÙeesefškeäme 

HNBUMU B.Sc NURSING 15-6-2024 
Ans. (b) : Nucleopolyhedrovirus are used as biological 
control agents to target and kill specific insect pests. 
These viruses infect insects reducing pest populations in 
agriculture without harming plants or the environment.  
51.  Cell walls is absent in:  
  keâesefMekeâeefYeòeer DevegheefmLele nesleer nw- 
 (a) Nostoc/vee@mšekeâ  
 (b) Aspergillus/Smhejefpeueme  
 (c) Funaria/heäÙetvesefjÙee 
 (d) Mycoplasma/ceeFkeâeshueepcee 

HBNU B.Sc NURSING 2017 
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Ans. (d) : Mycoplasma lacks a cell wall, which is 
unique among bacteria. This absence allows it to be 
flexible and resistant to antibiotics targeting cell wall 
synthesis. In contrast, Nostoc, Aspergillus and Funaria 
have cell walls.   
52.  Which of the following statements is incorrect?  
  efvecveefueefKele ceW mes keâewve mee keâLeve ieuele nw? 
 (a) Viroids lack a protein coat/Jee@Fje@F[ ceW Øeesšerve 

DeeJejCe keâe DeYeeJe neslee nw  
 (b) Viruses are obligate parasites/efJe<eeCeg DeefveJeeÙe& 

™he mes hejpeerJeer nesles nw  
 (c) Infective constituent in viruses is the protein 

coat/efJe<eeCegDeeW ceW meb›eâecekeâ mebie"ve Øeesšerve DeeJejCe neslee nw 
 (d) Prions consist of abnormally folded proteins/ 

efØeÙee@vme ceW DeefveÙeefcele ceg[er ngF& Øeesšerve nesleer nw 
HBNU B.Sc NURSING 2020 

Ans. (c) : The infective component of a virus is not the 
protein coat, but rather the nucleic acid (either DNA or 
RNA) enclosed within the protein coat. The protein 
coat, known as the capsid, protects the nucleic acid but 
is not the main infective agent itself.  
53.  Teichoic acid is present in  
  šerkeâesFkeâ Decue efkeâmeceW heeÙee peelee nw~ 
 (a) Viroid / JeeFje@Ùe[  
 (b) Virus / efJe<eeCeg 
 (c) Gram negative bacterium / «eece vesiesefšJe peerJeeCeg 
 (d) Gram positive bacterium / «eece hee@efpeefšJe peerJeeCeg 

BHU NURSING 2016 
Ans. (d) : Teichoic acids are found in the cell walls of 
Gram-positive bacteria, where they provide structural 
support and contribute to the bacterial cell’s rigidity, 
helping in maintaining cell wall integrity.          

54.  Fungi without sexual or perfect stages are 
classified as:   

  efyevee ueQefiekeâ Ùee hetCe&JemLee Jeeues keâJekeâ efkeâmeceW Jeieeake=âle 
efkeâS ieS nw: 

 (a) Phycomycetes /HeâeFkeâesceeFefmešerpe  
 (b) Dermatomycetes/ [cexšesceeFefmešerpe   
 (c) Deuteromycetes /[dÙetšsjesceeFefmešerpe 
 (d) Ascomycetes /SsmkeâesceeFefmešerpe 

BHU NURSING 2015 
Ans. (c) : Fungi without sexual or perfect stages are 
classified as Deuteromycetes (Imperfect fungi). These 
fungi reproduce only asexually through conidia or other   
asexual spores as their sexual reproduction phase has 
not been observed or identified.  
55.  Select the incorrect statements regarding the 

characteristics of certain organism:   
  kegâÚ efJeefMe° peerJeeW kesâ meboYe& ceW efvecveefueefKele JeòeâJÙeeW ceW 

mes keâewve-mee DemelÙe nw: 
 (a) Methanogens are archaebacteria which 

produces methane in marshy areas / efceLesveespeve, 
DeeÅeyewkeäšerefjÙee nw pees keâÛÚ #es$e/oueoueer Yetefce cebs efceLesve 
GlheVe keâjlee nw  

 (b) Nostoc is a filamentous blue green algae 
which fixes atmospheric nitrogen / vee@mšekeâ Skeâ 
veerue nefjle MewJeeue nw pees JeeÙegceC[erÙe veeFš^espeve keâe 
efmLejerkeâjCe keâjleer nw  

 (c) Chemosynthetic autotrophic bacteria 

synthesize cellulose from glucose / jmeeÙeve 
mebMues<eer mJehees<eer yewkeäšerefjÙee iuetkeâespe mes mesuÙetueesme keâe 
mebMues<eCe keâjleer nw 

 (d) Mycoplasma lack a cell wall and can survive 

without oxygen / ceeFkeâeshueepcee ceW keâesefMekeâe efYeòeer 
veneR heeF& peeleer leLee Deekeämeerpeve kesâ efyevee peerefJele jn 
mekeâleer nw 

BHU NURSING 2014 
Ans. (c) : Chemosynthetic autotrophic bacteria do not 
synthesize cellulose from glucose. Instead, they use 
inorganic compounds (like hydrogen sulfide or 
ammonia) to produce organic compounds (such as 
glucose) through chemosynthesis. Cellulose is typically 
synthesized by plants and some bacteria, but 
chemosynthetic bacteria do not primarily produce it.   
56.  Viroids are:   
  JeeÙeje@Ùe[ nesles nw: 
 (a) Infectious RNA / jesiepevekeâ Deej.Sve.S.  
 (b) Virus / efJe<eeCeg  
 (c) Proteins / Øeesšerve 
 (d) Bacteria / peerJeeCeg 

BHU NURSING 2014 
Ans. (a) : Viroids are small, circular RNA molecules 
capable of causing diseases in plants. Unlike viruses, 
viroids do not have a protein coat and consist only of 
RNA. Therefore, they are considered infectious RNA 
rather than viruses or proteins.  
57. What are disease-causing organisms called? 

 jesie GlheVe keâjves Jeeues peerJeeW keâes keäÙee keânles nQ? 
 (a) Host/cespeyeeve 
 (b) Parasites/hejpeerJeer  
 (c) Pathogens/jesiepevekeâ 
 (d) Protists/Øeesefšmš 

JHARKHAND B.Sc NURSING 2023 
Ans. (c) : Pathogens are organisms, such as bacteria, 
viruses, fungi are cause disease in their host organisms. 
These microorganisms can infect the body and disrupt 
normal physiological functions, leading to various 
diseases.   
58. How do many single-celled organisms, such as 

Amoeba and Paramecium, reproduce? 

 Deceeryee Deewj hewjeceerefMeÙece pewmes SkeâkeâesefMekeâerÙe peerJe 
kewâmes Øepeveve keâjles nQ? 

 (a) Sexual reproduction/ueQefiekeâ Øepeveve 
 (b) Budding/keâeefuekeâeÙeve  
 (c) Sporulation/mhees®uesMeve 
 (d) Binary fission/efÉ-efJeKeb[ve 

JHARKHAND B.Sc NURSING 2023 
Ans. (d) : Many single - celled organisms reproduce by 
binary fission, where a cell divides into two halves and 
each rapidly grows into an adult for example- Amoeba 
and paramecium.  
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5.  

Morphology of Flowering Plants
1.  Stilt root is found is which of the following 

plants?  
  efmšuš peÌ[ efvecveefueefKele ceW mes efkeâme heewOes ces heeF& peeleer nw? 
 (a) Mangifera indica/ceQieerHesâje Fbef[keâe  
 (b) Oryza sativa/Deesefjpee mewefšJee  
 (c) Ficus benghalensis/HeâeFkeâme yeWieeueWefmeme 
 (d) Pandanus tectorius/heQ[veme šskeäšesefjÙeme 

WB-JENPAS-2024 

Ans. (d) : Stilt roots, primarily found in Pandanus 
tectorius, provide structural support and stability in 
coastal environments. These aerial roots grow down 
from the trunk and branches into the ground, helping the 
plant withstand strong winds and flooding, making them 
survival in their native habitats.    
2.  Spermology is the study of-   
  mheceexuee@peer DeOÙeÙeve nw-  
 (a) Fruits/heâueeW keâe   
 (b) Leaves/heefòeÙeeW keâe   
 (c) Seed/yeerpeeW keâe  
 (d) Pollen grains/hejeiekeâCeeW keâe  

MP-GNTST/PNST-08.07.2023, Shift-I 

Ans. (c) : Spermology is the scientific study of seeds, 
focusing on their formation, structure and classification. 
It is a branch of botany that focuses on understanding 
the biological and ecological aspects of seed. 
3.  The part of cauliflower that we eat is-   
  hetâueieesYeer keâe Jen Yeeie pees nce Keeles nQ-  
 (a) Leaf/heòeer   (b) Flower/hetâue   
 (c) Stem/levee  (d) Inflorescence/heg<he›eâce  

MP-GNTST/PNST-08.07.2023, Shift-I 

Ans. (d) : The edible part of cauliflower is the 
inflorescence, which is the cluster of immature flower 
buds. These buds form a dense white head called the  
curd, which we consume before the flowers fully 
develop. Unlike typical flowers, the buds remain 
compact and do not bloom, making the inflorescence 
the primary edible portion.  
4.  The function of velamen is-   
  Jesueecesve keâe keâeÙe& nw-  
 (a) Absorption of water from soil/ce=oe mes heeveer keâe 

DeJeMees<eCe   
 (b) Absorption of water from air/JeeÙeg mes heeveer keâe 

DeJeMees<eCe   
 (c) Loss of water in the form of vapours/heeveer keâe 

Jee<heerkeâjCe neslee nw 
 (d) Absorption of minerals from atmosphere/ 

JeeleeJejCe mes KeefvepeeW keâe DeJeMees<eCe  
MP-GNTST/PNST-08.07.2023, Shift-I 

Ans. (b) : Velamen is a layer of spongy tissue found in 
the aerial roots of epiphytic plants, such as orchids. It 
functions primarily to absorb moisture from the air, 
allowing these plants to thrive in humid environments.  

5.  A horizontal underground stem is a-  
  #eweflepe Yetefceiele levee nQ-  
 (a) Bulbils/Øekeâefuekeâe   (b) Rhizome/Øekebâo  
 (c) Offsets/Yetmleefjkeâe  (d) Root hairs/cetuejesce  

MP-GNTST/PNST-08.07.2023, Shift-II 

Ans. (b) : A rhizome is a horizontal underground stem 
capable of producing the shoot and root system of a new 
plant. It allows plants to spread laterally, producing new 
growth away from the parent plant. Examples include 
ginger and turmeric.   
6.  Hypodermis of dicot stem is composed of-  
  efÉyeerpehe$eer keâer DeefOeoce& mebIeefšle nesleer nw 
 (a) Bast fibres/yeemš jsMes keâer   
 (b) Parenchyma/ce=og Tlekeâ keâer   
 (c) Sclerenchyma/ ÂÌ{eslekeâ keâer  
 (d) Collenchyma/mLetuekeâesCe Tlekeâ keâer  

MP-GNTST/PNST-08.07.2023, Shift-II 

Ans. (d) : In dicot stems, the hypodermis is typically 
composed of a layer of collenchyma cells. Collenchyma 
provides mechanical support and flexibility, helping the 
stem resist bending and stretching.   
7.  Duramen is found in-  
  [Ÿetjscesve GheefmLele neslee nw-  
 (a) Region of periycle/heefjjbYe kesâ #es$e ceW   
 (b) Outer region of secondary wood/efÉleerÙekeâ keâe‰ 

kesâ yeenjer #es$e ceW   
 (c) Part of sap wood/jmeoe™ kesâ Yeeie ceW  
 (d) Inner region of secondary wood/efÉleerÙekeâ keâe‰ 

kesâ Deebleefjkeâ #es$e ceW  
MP-GNTST/PNST-08.07.2023, Shift-II 

Ans. (d) : Duramen or heartwood is the central, older 
part of secondary xylem (wood) that is no longer 
actively involved in the conduction of water. It is 
typically darker in color and found in the inner region of 
secondary wood, surrounded by the younger, lighter 
coloured sapwood.     
8.  Coralloid roots are-  
  ØeJeeue cetue nesles nQ-  
 (a) Apogeotropic/YetDeheJeleea   
 (b) Positive geotropic/Oeveelcekeâ YetDeefYeJele&   
 (c) Phototropic/ØekeâeMeevegJeleea  
 (d) Aerial/JeeÙeJeerÙe  

MP-PNMP-GNTST/PNST-08.07.2023, Shift-II 
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Ans. (a) : Coralloid roots are modified roots that grow 
away from the gravitational pull of the earth, making 
them apogeotropic. These roots are typically found in 
Cycas plants. Instead of growing downward, they grow 
upward or sideways, away from the ground, which is 
opposite to the normal geotropic response (positive 
geotropism) seen in most roots.     
9.  Refer to the given figure and identify X in it. 

  oer ieF& Deeke=âefle keâe meboYe& ueW Deewj GmeceW X keâer henÛeeve keâjW~  

    
 (a) Offset/Deesheämesš   (b) Eyes/DeeBKeW  
 (c) Runner/njkeâeje  (d) Bulb/yeuye  

MP-PNMP-GNTST/PNST-08.07.2023, Shift-II 

Ans. (b) : The eyes of a potato are the small sprouting 
buds on the surface of the potato. These eyes can grow 
into new potato plants and are crucial for the processes 
of vegetative reproduction in potatoes. When you see 
these eyes beginning to sprout, it indicates that the 
potato is ready to grow into a new plant under suitable 
conditions.    
10.  Which is odd one?  
  efvecve ceW mes keâewve-mee efJe<ece nw? 
 (a) China rose / ÛeeÙevee jespe  
 (b) Maize / cekeäkeâe   
 (c) Mango / Deece 
 (d) Sunflower / metÙe&cegKeer 

MP-GNTST/PNST-19.06.2016, Shift-I 

Ans. (b):Maize is odd one because it is 
monocotyledonous plant, whereas China rose, mango 
and sunflower are dicotyledonous plants.  
11. Which of the following is a monocarpic plant?  

 efvecveefueefKele ceW mes ceesveeskeâeefhe&keâ heewOee keâewve-mee nw?  
 (a) Grape /Debietj  (b) Banana/kesâuee   
 (c) Mango/Deece  (d) Pomegranate /Deveej  

MP-GNTST/PNST-19.06.2016, Shift-II 

Ans. (b): Banana plants are monocarpic because they 
typically flower and bear fruit only once before dying.  

The main plant produces a single bunch of bananas and 
after fruiting, that particular plant dies off. 
12. Heterostyly is shown by-  

 efJe<ece Jeefle&keâelJe (nsšjesmšeFueer) efkeâmekesâ Éeje Øeoef<e&le 
neslee nw-   

 (a) Primula /efØeceguee   
 (b) Mirabilis /efcejeefyeefueme  
 (c) Helianthus /nsefueSvLeme 
 (d) China rose /ÛeeÙevee jespe  

MP-GNTST/PNST-19.06.2016, Shift-II 

Ans. (a): Heterostyly is a phenomenon exhibited by 
plants like Primula, where different individuals           
within the species have flowers with different 
arrangement of stigma and anthers. This promotes 
cross-pollination and enhances genetic diversity.   
13.  Calyptra is a structure   
  kesâefuehš̂e Ssmeer mebjÛevee nesleer nw efpemekeâe efvecee&Ce neslee nw -  
 (a) Formed by the venter of the archegonia / 

DeekeâeaieesefveÙee keâer JesCšj mes   
 (b) Formed at the base of the antheridia / 

SvLesefjef[Ùee kesâ DeeOeej Yeeie mes    
 (c) Formed in the centre of the capsule / kewâhmetue kesâ 

ceOÙe Yeeie mes  
 (d) Formed at the base of the leaves / heefòeÙeeW kesâ 

DeeOeej Yeeie mes  
MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (a) : Calyptra is a structure formed by the venter 
of the archegonia. The calyptra is generally found in the 
bryophytes and is an enlarged structure that protects the 
capsule which contains the embryonic sporophytes. 
14.  Bark and leaves of which of the following 

plants are used to store the clothes-  
  keâheÌ[eW keâe YeC[ejCe keâjves kesâ efueÙes efkeâmekeâer Úeue Je 

heefòeÙeeW keâe ØeÙeesie efkeâÙee peelee nw - 
 (a) Euphorbia hirta / ÙetHeâesefye&Ùee efnjše   
 (b) Euphorbia thymifolia / ÙetHeâese|yeÙee LeeFceerHeâesefueÙee   
 (c) Eclipta alba / Fkeâefuehše Suyee  
 (d) Azadirachta indica / Speeef[jkeäše Fefv[keâe  

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (d) : The bark and leaves of Azadirachta indica 
(Neem) are traditionally used to store clothes. Neem 
leaves and bark have insecticidal and antimicrobial 
properties, helping to protect fabrics from pests like 
moths and silverfish. 

15.  Flower and lateral branches arise from the -  
  heg<he Deewj MeeKeeÙeW GlheVe nesleer nQ - 
 (a) Lateral buds / uesšjue ye[ mes   
 (b) Lenticels / uesefvšmesue mes   
 (c) Stomata / mšescesše mes  
 (d) Cuticle / keäÙetefšefkeâue mes  

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (a) : Flowers and lateral branches arise from the 
lateral buds. These buds are located in the axis of the 
leaves and develop exogenously. They are different 
from lenticels, stomata and cuticle, which serve 
different functions. 
16.  Palm-like fleshy adventitious roots are the 

feature of -  
  heece kesâ meceeve ceebmeue DehemLeeefvekeâ peÌ[s efkeâme heewOes keâe 

ue#eCe nw- 
 (a) Dahlia / [nsefueÙee  
 (b) Asparagus / Smhewjsieme (meleeJej)  
 (c) Curcuma / keâjkegâcee 
 (d) Orchis / Deee|keâme 

MP-GNTST/PNST-19.06.2016, Shift-III 
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Ans. (d) : Palm-like fleshy adventitious roots are the 
characteristics of Orchis. The swollen adventitious root 
develop finger-like outgrowths resembling the palm of 
human hand. For example, Orchis is a flowering plant 
that belongs to the Orchid family. 
17.  Middle lamella is a :/efceef[ue uewcesuee ceW neslee nw: 
 (a) Chitin / keâeFefšve  (b) Lignin / efueefiveve  
 (c) Pectin / hesefkeäšve  (d) Cellulose / mesuÙetueespe 

MP-GNTST/PNST-19.06.2016, Shift-III 

Ans. (c) : The middle lamella is a pectin-rich layer that 
binds the cell walls of adjacent plant cells . It is the 
outermost layer, forming the interface between plant 
cells and glues them together. 
18.  Ginger is/Deojkeâ neslee nw- 
 (a) Flower/ heg<he 
 (b) Buds/ keâefueÙeeB 
 (c) Modified root/™heevleefjle peÌ[ 

 (d) None of these/ FveceW mes keâesF& veneR 
MP-GNTST/PNST-04.06.2017, Shift-I 

Ans. (d) : Ginger is a type of modified stem known as a 
rhizome. A rhizome is a horizontal, underground stem 
that can produce roots and shoot. In ginger, this 
modified stem stores nutrients and helps the plant 
survive in adverse conditions.  

19.  Pneumatophores (aerial roots) are found in- 

vÙetcesšesHeâesj (JeeÙeJeerÙe peÌ[s) heeF& peeleer nw- 
 (a) Tinospora/šerveesmheesje ceW 
 (b) Pinus/heeFveme ceW  
 (c) Mangrove trees/cewv«eesJe Je=#eeW ceW  
 (d) None of these/Ghejesòeâ ceW mes keâesF& veneR 

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (c): Pneumatophores (aerial roots) are found in 
mangrove trees. These specialized roots grow upward 
(perpendicular to the soil surface) to absorb oxygen as 
mangrove trees typically grow in waterlogged, oxygen-
poor environments such as salt marshes.  

20.  Which of the following fruits is geocarpic 
(grows underground)? 

  efvecve ceW keâewve-mee Heâue efpeÙeeskeâeefhe&keâ (peceerve kesâ Devoj 
ueieves Jeeuee) nw? 

 (a) Potato/Deeuet (b) Peanuts/cetBieHeâueer 
 (c) Onion/hÙeepe (d) Garlic/uenmegve 

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (b): Peanut is geocarpic (underground) fruits, 
because pods develop inside the ground. Geocarpy is a 
rare method of plant reproduction where the plant 
produces diaspores inside soil. 

21.  Which of the following is an example of 
modified stem? 

  efvecve ceW mes keâewve ™heevleefjle leves keâe GoenjCe nw? 
 (a) Sugarcane/ieVee (F&Ke) (b) Potato/Deeuet  
 (c) Onion/hÙeepe (d) All of these/Ùes meYeer 

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (d) : Sugarcane, potato, and onion are modified 
stems: sugarcane has a thick stem for storage, potatoes 
are tubers (swollen underground stems), and onions are 

bulbs (underground storage organs).   

22.  Clove is which part of the plant? 

  ueeQie heeohe keâe keâewve-mee Yeeie neslee nw? 
 (a) Flower bud /heg<hekeâueer  
 (b) Thalamus of flower/heg<he keâe DeeOeej  
 (c) Anterior part/De«emLe Yeeie 
 (d) Seeds/yeerpe 

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (a) : Cloves are dried flower buds of the clove tree 
(Syzygium aromaticum). They are harvested before 
blooming and used as a spice, known for their strong 

flavor  and aroma. 

23.  Plants produce seeds, but some also reproduce 

vegetatively  
  heeohe yeerpe GlheVe keâjles nQ, hejvleg kegâÚ keâeefÙekeâ ™he mes 

Yeer Øepeveve keâjles nQ 
 (a) Potato/Deeuet (b) Neem/veerce 
 (c) Mango/Deece (d) Sevanti/mesJevleer 

MP-GNTST/PNST-04.06.2017, Shift-III 

Ans. (a) : Potatoes reproduce vegetatively using tubers, 
which are underground storage organs that can sprout 
and grow into new plants.  In contrast, neem, mango, 
and sevanti primarily reproduce through seeds, which 

involve sexual reproduction and genetic variation.   
24.  What is the edible modified part to potato? 
  Deeuet keâe Keeves ÙeesiÙe ™heevleefjle Yeeie keäÙee nw? 
 (a) Stem/levee (b) Bulb/yeuye 
 (c) Stolon/mšesueve (d) Root/peÌ[ 

MP-GNTST/PNST-04.06.2017, Shift-III 

Ans. (a) : The edible part of the potato is the stem, 
specifically the tuber, which serves as an organ for 
storing nutrients and energy for the plant allowing it to 
survive adverse conditions. This adaptation helps the 
potato plant propagate and grow, making the tuber a key 

food source.    
25.  What is the upper surface of epiphyte roots 

called? 
  SefheHeâeFš peÌ[eW keâer Thejer melen keäÙee keânueeleer nw? 
 (a) Osmophore/DeesmceesHeâesj  
 (b) Rhizophore/jeFpeesHeâesj  
 (c) Velamen/Jesueecesve  
 (d) Nematophore/efvecesšesHeâesj 

MP-GNTST/PNST-04.06.2017, Shift-III 

Ans. (c) : The velamen is a specialized layer of spongy, 
waterproof tissue found in the aerial roots of epiphytes, 
such as orchids. It aids in water absorption and 
protection against desiccation, allowing these plants to 
thrive in humid environments by efficiently capturing 

moisture from the air.       
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26.  On the leaves of which plant the stomata are 
present in almost equal numbers on the upper 
and lower surface? 

  efkeâme heeohe keâer heefòeÙeeW hej jvOeÇ Thejer Je efveÛeueer melen 
hej ueieYeie meceeve mebKÙee ceW GheefmLele nesles nQ? 

 (a) Water lily/peue efueefue ceW  
 (b) Potomogeton/heesšesceespeeršesve ceW  
 (c) In wheat/iesntB cebs  
 (d) In potatoes/Deeuet ceW 

MP-GNTST/PNST-2015 

Ans. (c) : Wheat leaves have almost equal number of 
stomata on both upper and lower surfaces, which help in 
gas exchange.  
27.  In cactus, leaves are modified into? 

  veeieHeâveer ceW heefòeÙeeB ™heevleefjle nesleer nw? 
 (a) Spines/keâeBšs (b) Root/peÌ[  
 (c) Leaves/heefòeÙeeB (d) Buds/keâefueÙeeB 

MP-GNTST/PNST-04.06.2017, Shift-II 

Ans. (a) : In cactus, the leaves are transformed into 
spines to reduce water loss.  The green stem of the 
cactus contains chlorophyll to perform photosynthesis. 
Cactus is a xerophytic plant that grows in dry areas. 

28.  Which of the following is WRONGLY paired?  
  efvecveefueefKele ceW mes keâewve-mee ieuele Ùegeficele nw? 
 (a) Water of coconut : free nuclear endosperm/ 

veeefjÙeue keâe heeveer: cegòeâ veeefYekeâerÙe YeütCehees<e  
 (b) Kernel of coconut : cellular endosperm/veeefjÙeue 

keâer efiejer: keâesefMekeâerÙe YeütCehees<e  
 (c) Scutellum : embryo of coconut/ØeMeukeâ: veeefjÙeue 

keâe YeütCe 
 (d) Shell of coconut : fused pericarp and testa/ 

veeefjÙeue keâe Keesue: mebieueerle heâueefYeefòe (heäÙetm[ hesjerkeâe@he&) 
Deewj yeerpeÛeesue (šsmše) 

MP-GNTST/PNST-07.07.2019, Shift-II 

Ans. (c) : The wrongly paired option is Scutellum: 
embryo of coconut. The scutellum is actually a 
specialized type of cotyledon found in the seeds of 
grasses, such as maize and wheat, it is not a part of the 
coconut. The embryo of the coconut is found within the 
cellular endosperm (the kernel) of the coconut, not 
associated with the scutellum.   
29.  Name the family to which "Gossypium" belongs.  
  iee@meerefheÙece keâewve-mes kegâue keâe meomÙe nw~ 
 (a) Solanaceae/ meesuesvesmeer  
 (b) Poaceac/heesSmeer  
 (c) Malvaceac/ceeueJesmeer 
 (d) Euphorbiaceac/ Ùetheâesefye&Ùesmeer 

RUHS NURSING 2021 
Ans. (c) : “Gossypium”  or cotton, belongs to the 
Malvaceae family, which includes several economically 
important plants. This family is characterized by its 
flowering plants, including hibiscus and okra, alongside 
cotton.   

30.  Which of the following is/are used as green 

manures? 

  efvecveefueefKele ceW mes keâewve mee njer Keeo kesâ ™he ceW 
GheÙeesie efkeâÙee peelee nw? 

 (a) Crotolaria juncea/›eâesšesuesefjÙee pegefvmeÙee 
 (b) Melilotus parviflora/cesefueueesšme hejefJeHeäueesje 
 (c) Trifolium/š^eFHeâesefueÙece 
 (d) All of the above/Thej kesâ meYeer 

RUHS NURSING 2019 
Ans. (d) : Crotolaria juncea, Melilotus parviflora and 

Trifolium species are all commonly used as green 

manures. Green manuring involves growing specific 

plants to improve soil fertility, enhance soil structure 

and suppress weeds, when they are incorporated back 

into the soil.  
31.  Natural insecticide obtained from plants:  
  heewOeeW mes Øeehle Øeeke=âefkeâ keâeršveeMekeâ nw: 
 (a) Azardirachta/Speeef[jskeäše 
 (b) Rotenone/jessšsveesve 
 (c) Pyrethrum and cinerin/heeFjsLeÇce Deewj efmevesefjve 
 (d) All of the above/Ghejesòeâ meYeer 

RUHS NURSING 2019 
Ans. (d) : Azadirachta : The Neem tree produces 

azadirachtins, a natural insecticide effective against 

many pests.  

Rotenone: A compound obtained from the roots of 

certain plants, used to control insects.  

Pyrethrum and Cinerin: Extracted from the flowers of 

Chrysanthemum cinerariifolium, and are widely used 

for their insecticidal properties.   
32.  The example of bulb is:  
  yeuye keâe GoenjCe nw: 
 (a) Ginger/Deojkeâ  (b) Doob grass/otye Ieeme  
 (c) Onion/hÙeepe (d) Potato/Deeuet 

MP PNST 09.07.2023 SHIFT-II 
Ans. (c) : Onion is a bulb, consisting of layers that store 

food. It grows into a new plant through vegetative 

propagation.  
33.  Zigzag development of inflorescence axis is an 

example of -  
  heg<he›eâceDe#e keâe Je›eâ efJekeâeme GoenjCe nw- 
 (a) Scorpioid cyme / kegâefšuememeercee#e  
 (b) Cyathium / meeFefLeÙece  
 (c) Corymb / meceefMeKe 
 (d) Catkin / velekeâefCeMe 

MP PNST 09.07.2023 SHIFT-II 
Ans. (a) : A scorpioid cyme has a zigzag inflorescence 

axis, created by alternating lateral flower growth. This 

pattern results in a curved, coiled structure,  commonly 

seen in some flowering plant species.  
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34.  Pneumatophore roots are found in-  
  JeelehegóerOej cetue heeÙeer peeleer nw- 
 (a) Mangroves / cewv«etJe ceW  
 (b) Hydrophytes / ce™odefYeoeW ceW   
 (c) Xerophytes / peueerÙe heeoheeW ceW 
 (d) Halophytes / }JeCe ce™odefYeoeW ceW 

MP PNST 09.07.2023 SHIFT-II 
Ans. (a) : Pneumatophore roots are specialized aerial 
roots found in mangroves, aiding in oxygen absorption 
in waterlogged, anaerobic soil conditions.  
35.  Fleshy buds produced in the axil of leaves, 

which grow to form new plants when and fall 

on ground, are called______.  
  heefòeÙeeW keâer Oegjer ceW GlheVe nesves Jeeueer ceebmeue keâefueÙeeB, 

pees efiejves Deewj peceerve hej efiejves hej veS heewOes yeveeves kesâ 
efueS efJekeâefmele nesleer nQ, keânueeleer nQ-  

 (a) bulbs/yeuye   (b) bulbils/yeueefyeume  
  (c) tubers/šŸetyej  (d) offsets/Dee@heâmesš  

MP PNST 09.07.2023 SHIFT I 
Ans. (b) : Bulbils are fleshy buds that develops in the 
axil of leaves. They detach & fall to the ground where 
they grow into new plants this forms of asexual 
reproduction is seen in plants like Lilies and garlic.  
36.  What is the structure of the leaves of the Neem 

tree?  
  veerce keâer heefòeÙeeW keâe Deekeâej keäÙee nw? 
 (a) Pinnate / efheÛÚekeâej  (b) Palmate / nmleekeâej   
 (c) Opposite / meccegKe (d) Whorled / Ûekeäkeâjoej 

BHU NURSING 2017 
Ans. (a) : Neem leaves are compound, with several 

leaflets arranged along a central axis, which is 

characteristic of a pinnate leaf structure.  
37.  The first cell of male gametophyte in 

angiosperms is   
  DeeJe=leyeerpeer keâer henueer vej ÙegicekeâesodefYeod keâesefMekeâe nw~ 
 (a) Microspore mother cell/ueIegyeerpeeCeg pevekeâ keâesefMekeâe  
 (b) Pollen grain/hejeiekeâCe 
 (c) Egg / Deb[e 
 (d) Archesporial cell / Øehemet keâesMekeâe 

BHU NURSING 2017 
Ans. (b) : The first cell of the male gametophyte in 

angiosperms is pollen grain. The microspore originates 

from the microspore mother cell through meiosis. After 

meiosis, the microspore undergoes mitosis to develop into 

the pollen grain, which contains the male gametophyte.  
38. Which of the following family has Racemose 

Inflorescence? 

 efvecveefueefKele ceW mes efkeâme heefjJeej ceW jsefmeceesme heg<he›eâce nw? 
 (a) Fabaceae/hewâyesmeer (b) Liliaceae/efueefueÙesmeer 
 (c) Solanaceae/meesuesvesmeer (d) All of these/Ùes meYeer 

J&K NURSING 2023 

Ans. (a) : In the fabaceae family, the inflorescence  is 
typically recemose, meaning the flowers are arranged 
along a central axis in a acropetal manner, with new 
flowers forming at the tip. Recemose inflorescence is not 
characteristics of the solanaceae and liliaceae families.  
39.  Which of the following options is INCORRECT 

about Orchidaceae family? 

  Dee@efke&â[smeer heefjJeej kesâ yeejs ceW efvecveefueefKele ceW mes keâewve 
mee efJekeâuhe ieuele nw? 

 (a) The androecium is represented by one or two 
sterile anthers/Sb[^esefmeÙece keâes Skeâ Ùee oes yebOÙe 
hejeiekeâes<eeW Éeje oMee&Ùee peelee nw  

 (b)  The gynoecium is monocarpellary syncarpous 
with axile placentation/ieeFveesefmeÙece De#eerÙe 
huesmebsšsMeve kesâ meeLe ceesveeskeâefhe&uejer efmebkeâehe&me nw 

 (c)  The pollen grains are either granular or 
agglutinated into waxy pollinia/hejeiekeâCe Ùee lees 
oevesoej nesles nw Ùee hejeiekeâes<e Skeâ meeLe pegÌ[s jnles nQ 

 (d)  The presence of 2 to 8 pollinia per anther and 
they are free or more or less loosely 
united/Øeefle hejeiekeâes<e 2 mes 8 hejeiekeâes<eeW keâer GheefmLeefle 
Deewj Jes mJeleb$e Ùee efMeefLeue ™he mes Skeâpegš nesles nQ 

J&K NURSING 2021 
Ans. (b) : In Orchidaceae, the gynoecium is 
monocarpellary and syncarpous, but the placentation is 
parietal, not axile. Axile placentation is characteristic of 
different plant families.  
40.  When the perianth and androecium are 

inserted around the base of the gynoecium and 
in some flowers the stamens may be adnate to 
the base of the petals, such flowers are usually 

  peye hesefjSbLe Deewj Sb[^esefmeÙece keâes ieeFveesefmeÙece kesâ 
DeeOeej kesâ ÛeejeW Deesj efceueeÙee peelee nw Deewj kegâÚ hetâueeW 
ceW hegbkesâmej hebKegefÌ[ÙeeW kesâ DeeOeej mes mešs nes mekeâles nQ, Ssmes 
hetâue Deeceleewj hej nesles nQ- 

 (a) Hypogynous/neFheesieeFveme 
 (b)  Perigynous/hesefjieeFveme 
 (c)  Epigynous/SefheieeFveme 
 (d)  Gamosepalous/iewceesmesheueme  

J&K NURSING 2021 
Ans. (a) : In hypogynous flowers, the perianth and 
stamens are inserted below the gynoecium, with the 
ovary superior. In some, stamens may be adnate to the 
petals, as seen in this floral arrangement  
41.  The roots which arise from petiole or veins of 

leaf due to some injury is 

  efkeâmeer Ûeesš kesâ keâejCe heòeer kesâ [b"ue Ùee efMejeDeeW mes 
efvekeâueves Jeeueer peÌ[s nQ 

 (a) Napiform roots/vesheerheâe@ce& peÌ[W 
 (b)  Fusiform roots/heäÙetpeerheâe@ce& peÌ[s 
 (c)  Fibrous roots/jsMesoej peÌ[W 
 (d)  Foliar roots/heCeeaÙe peÌ[s 

J&K NURSING 2021 
Ans. (d) : Foliar roots arise from the leaves, typically in 
response to injury or stress and are a type of 
adventitious root.  
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42. How many carpels are found in Hibiscus? 

  iegÌ[nue ceW efkeâleves keâehexue heeÙes peeles nQ? 
 (a) Three carpels/leerve keâehexue 
 (b)  One carpel/Skeâ keâehexue 
 (c)  Five carpels/heeBÛe keâehexue 
 (d)  Two carpels/oes keâehexue  

J&K NURSING 2021 
Ans. (c) : Hibiscus flowers typically have five carpels 
that are fused to form a single pistil. Each carpel 
contains ovules and the number of carpel is reflected in 
the ovary’s sectioned structure.  
43.  Found in those syncarpous ovaries, where the 

carpels are fused laterally and ovary becomes 
one-chambered. The placentae develop on the 
ovary wall and the number of placentae is 
equal to the number of carpels. Identify the 
type of placentation? 

  Gve efmebkeâehe&me Deb[eMeÙeeW ceW heeÙee peelee nw, peneB keâehexue 
heeÕe& ceW pegÌ[s nesles nQ Deewj Deb[eMeÙe Skeâ.keâ#eerÙe nes peelee 
nw huesmeWše Deb[eMeÙe keâer oerJeej hej efJekeâefmele nesles nQ Deewj 
huesmeWše keâer mebKÙee keâehexue keâer mebKÙee kesâ yejeyej nesleer 
nw~ huesmeWšsMeve kesâ Øekeâej keâer henÛeeve keâjW? 

 (a) Basal/yesmeue (b)  Axile/SkeämeeFue 
 (c)  Superficial/melener (d)  Parietal/hesefjSšue  

J&K NURSING 2021 
Ans. (d) : In parietal placentation, the carpels fuse 
laterally, forming a one-chambered ovary. The 
placentae develop on the ovary wall, with the number of 
placentae matching the number of carpels.  
44.  Mimoseae is a sub-family of Leguminoseae 

which is the second biggest family of 
dicotyledons. Identify the characteristic way in 
which it distinguishes from other sub-families 
of Leguminoseae? 

  efceceesmeer uesiÙegefceveesmeer keâe Skeâ Ghe-heefjJeej nw pees 
efÉyeerhe$eer keâe otmeje meyemes yeÌ[e heefjJeej nw~ henÛeeefveS 
efkeâ Ùen uesiÙegefceveesmeer kesâ DevÙe Ghe.heefjJeejeW mes efkeâme 
efJeefMe° lejerkesâ mes Deueie nw? 

 (a) Flowers are papilionaceous and racemose 
inflorescence/hetâue hewefheefueÙeesvesefmeÙeme Deewj jsefmeceesme 
heg<he›eâce nQ 

 (b)  Flowers are zygomorphic and racemose 
inflorescence/hetâue peeFieescee@efheâkeâ Deewj jsefmeceesme 
heg<he›eâce nQ 

 (c)  Flowers are regular, small and spherical head 
inflorescence/hetâue efveÙeefcele, Úesšs Deewj ieesueekeâej 
Meer<e& heg<he›eâce nQ 

 (d)  Flowers are regular, small and racemose 
inflorescence/hetâue efveÙeefcele, Úesšs Deewj jsefmeceesme 
heg<he›eâce nQ 

J&K NURSING 2021 
Ans. (c) : Mimoseae, a sub-family of Leguminoseae, is 
characterized by small, regular flowers in spherical 
heads, unlike other sub-families like Papilionoideae and 
Caesalpinioideae, which have varied flower shapes and 
arrangements.  

45.  The stems of maize and sugarcane have 
supporting roots coming out of the lower nodes 

of the stem. These are called 

  cekeäkeâe Deewj ieVes kesâ leves kesâ efveÛeues vees[dme mes efvekeâueves 
Jeeueer meneÙekeâ peÌ[s nesleer nQ~ FvnW keâne peelee nw- 

 (a) Climbing roots/Ûe{eF& Jeeueer peÌ[s 
 (b)  Prop roots/meneje osves Jeeueer peÌ[s 
 (c)  Stilt roots/efmšuš peÌ[s 
 (d)  Parasitic roots/hejpeerJeer peÌ[s 

J&K NURSING 2021 
Ans. (c) : In maize and sugarcane, stilt roots grow from 
the lower stem nodes, extending into the soil to stabilize 
the plant. These roots provide structural support, helping 
the plant stay upright in strong winds or heavy rain.  
46.  Which of the following type of tap root system 

modification is found in radish? 

  cetueer ceW efvecveefueefKele ceW mes efkeâme Øekeâej keâe cetmeuee cetue 
leb$e mebMeesOeve heeÙee peelee nw? 

 (a) Tuberous/kebâoerÙe (b)  Conical/MebkeäJeekeâej 
 (c)  Fusiform/heäÙetmeerheâe@ce& (d)  Napiform/vesheerhe@âece&  

J&K NURSING 2021 
Ans. (c) : Radish has a fusiform taproot, which is 
swollen in the middle and tapers at both ends. This 
modification helps in storing nutrients, typical of plants 
like radish.  
47.  Flowers having two long and two short stamens 

are known as 

  oes uecyes Deewj oes Úesšs hegbkesâmeej Jeeues hetâueeW keâes keâne 
peelee nw 

 (a) Diadelphous/[eÙe[su]heâme 
 (b)  Didynamous/[eF[eÙevesceme 
 (c)  Monadelphous/ceesvee[su]heâme 
 (d)  Synandrous/efmeveQ[^me  

J&K NURSING 2021 
Ans. (b) : Didynamous flowers have a specific stamen 
arrangement with two long and two short stamens. This 
feature is typical of plants in the Lamiaceae family, 
such as those in the mint family.  
48.  In a single flower with many stamens, when 

development of stamen maturation starts at the 

outside and then gradually towards the center, 

what is the term used to describe for such an 

androecium? 

  keâF& hegbkesâmej Jeeues Skeâ ner hetâue ceW, peye hegbkesâmej heefjhekeäJelee 
keâe efJekeâeme yeenj mes Meg™ neslee nw efheâj Oeerjs-Oeerjs keWâvõ keâer 
Deesj yeÌ{lee nw, lees Ssmes hegbkesâmej keâe JeCe&ve keâjves kesâ efueS 
efkeâme Meyo keâe GheÙeesie efkeâÙee peelee nw? 

 (a) Basifixed/yesefmeefheâkeäm[ 
 (b)  Centrifugal/meWš^erheäÙetieue 
 (c)  Centripetal/meWefš^hesšue 
 (d)  Connective/mebÙeespeer 

J&K NURSING 2021 
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Ans. (c) : In a centripetal androecium, the stamen 
maturation starts at the outermost position and 
progresses inward toward the centre, contrasting with 
centrifugal, where maturation begins at the center and 
moves outward.  
49.  In the ovary of Solananceae two carpels are 

placed:  
  meesuesvesmeer kesâ DeC[eMeÙe ceW oesveeW Deb[he JÙeJeefmLele nesles nQ~ 
 (a) Posterior /heMÛeerÙe  
 (b) Lateral/heeMefJe&keâ 
 (c) Superimposed/DeOÙeejesefhele 
 (d) Oblique/efleÙe&keâ 

HNBUMU B.Sc NURSING 15-6-2024 
Ans. (d) : In the Solanaceae family, the two carpels are 
arranged obliquely within the ovary, meaning they are 
not aligned symmetrically but are tilted or positioned at 
an angle to each other. 
50.  In xerophytic plants phyllode is a modification of  
  ce®oefYeo heeoheeW ceW heCee&Ye efkeâmekeâe ®heevlejCe neslee nw~ 
 (a) Stem/levee (b) Leaf/heCe& 
 (c) Root/cetue (d) Bud/keâefuekeâe 

HNBUMU B.Sc NURSING 15-6-2024 
Ans. (b) : In xerophytic plants, phyllodes are modified 
leaf petioles that become flattened and take over 
photosynthesis. This adaptation reduces water loss by 
minimizing the typical leaf surface area in arid 
conditions. 
51.  Axile placentation is present in  
  mlebYeerÙe yeerpeeC[ JÙeeme efkeâmeceW neslee nw? 
 (a) Argemone/Deepeeaceesve  
 (b) Dianthus /[^eFvLeme  
 (c) Lemon/veeryet 
 (d) Pea/cešj 

HBNU B.Sc NURSING 2017 
Ans. (c) : Axile placentation occurs when ovules are 
attached to the central column or axis of the ovary, as 
seen in lemon. This type of placentation is 
characterstics of plants with multiple carbols fused 
together, like citrus species.    
52.  Winged pollen grains are present in:  
  hebKeerÙe hejeiekeâCe efkeâmeceW nesles nw? 
 (a) Mango/Deece  (b) Cycas/meeFkeâme  
 (c) Mustard/mejmeeW (d) Pinus/heeFveme 

HBNU B.Sc NURSING 2020 
Ans. (d) : Pinus, a type of conifer, produces pollen 
grains with wings that help in their dispersal by wind. 
This is typical of many gymnosperms.  
53.  Caryopsis is the characteristic fruit of the 

family-  
  kewâefjÙeesefhmeme efkeâme kegâue keâe Skeâ efJeMes<e heâue nw— 
 (a) Liliaceae/equeefueSmeer  (b) Poaceae/heesSmeer  
 (c) Solanaceae/meesuesvesmeer (d) Asteraceae/Smšsjsmeer 

HBNU B.Sc NURSING 2019 

Ans. (b) : Caryopsis is the characteristic fruit of the 
Poaceae family, commonly known as the grass family. 
In a caryopsis, the seed coat is fused with the fruit wall, 
making it a one-seeded, dry and indehiscent fruit. This 
type of fruit is typical in cereals like wheat, rice and 
maize which are members of the Poaceae family.  
54.  Best material for the study of mitosis in 

laboratory is-  
  ØeÙeesieMeeuee ceW mecemet$eer efJeYeepeve kesâ DeOÙeÙeve nsleg 

meJe&ßes‰ meece«eer nw— 
 (a) Anther/hejeie-keâesMe  
 (b) Root tip/cetuee«e  
 (c) Leaf tip/heòeer keâe De«e Yeeie 
 (d) Ovary/Deb[eMeÙe 

HBNU B.Sc NURSING 2019 
Ans. (b) : Root tips are ideal for observing mitosis 
because they have rapidly dividing cells, especially in 
the meristematic region, which makes it easier to view 
the stages of cell division.  
55.  Velamen is present in :  
  Jesueecesve efkeâmeceW efceuelee nw? 
 (a) Cuscuta/keâmekegâše ceW  
 (b) Rhizophora/jeFpeesheâesje ceW  
 (c) Vanda/Jeev[e ceW 
 (d) Bryophyllum/yeÇeÙeesefheâuuece ceW 

BHU B.Sc NURSING 2019 
Ans. (c) : Velamen is a specialized, multi-layered tissue 
found in the roots of epiphytic plants like Vanda 
orchids. It helps absorb water from the air, prevent 
dehydration and protects the root tissues.  
56.  Leaves become fleshy to store food in: 

  Yeespeve keâes meb«eefnle keâjves kesâ efueS heefòeÙeeB ceebmeue nes 
peeleer nw~  

 (a) Calotropis, Guava/ceoej, Dece™o  
 (b) Onion, Garlic/hÙeepe, uenmegve  
 (c) Turnip, Carrot/Meuepece, ieepej 
 (d) Colocasia, Zaminkand/keâesueeskesâefmeÙee, peceerkebâo 

AMRU B.Sc NURSING 2021 
Ans. (b) : In onion and garlic, the leaves are, modified 
to become fleshy and swollen, allowing them to store 
food. This adaptation helps the plants survive adverse 
conditions by utilizing the stored nutrients when 
needed.  
57.  Heartwood differs from sapwood in : 

  Devle: keâe‰ mes jme keâe‰ efkeâme yeele ceW efYeVe nw?  
 (a) Presence of rays and fibers/efkeâjCeeW leLee jsMeeW keâe 

heeÙee peevee    
 (b) Absence of vessels and parenchyma/JeeefnkeâeDeeW 

leLee ce=oglekeâ keâer DevegheefmLeefle   
 (c) Having dead and non-conducting elements/ce=le 

SJeb iewj JenveerÙe lelJeeW keâe nesvee  
 (d) Being susceptible to pests and pathogens/ 

heerÌ[keâes leLee jesiepevekeâeW kesâ efueS meg«ee¢e nesvee 
AMRU B.Sc NURSING 2021 
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Ans. (c) : Heartwood is the central, darker part of the 
tree trunk, consisting of dead cells that no longer 
conduct water. It provides structural strength and 
support. In contrast, sapwood, located outside the 
heartwood, contains living cells responsible for water 
and nutrient conduction.  
58.  Sweet potato is a modification of : 

  Mebkeâjkebâo efkeâmekeâe ™heeblejCe nw? 
 (a) Stem/levee   
 (b) Adventitious root/DehemLeeefvekeâ peÌ[  
 (c) Hypocotyl/neFheeskeâesšeFue   
 (d) Flowering axis/heg<heve De#e 

AMRU B.Sc NURSING 2021 
Ans. (b) : Sweet potato is a modified adventitious root 
that develops from the lateral roots of the plant. It 
serves as storage organ for starch, enabling the plant to 
survive  adverse conditions. This modification is an 
example of root modification.  
59.  Parallel venation can be found in:   
  meceeveeblej JesvesMeve efkeâmeceW heeÙee pee mekeâlee nw: 
 (a) Most dicots / DeefOekeâebMe [eFkeâesšdme (odefJeyeerpehe$eer) ceW  
 (b) Most monocots / DeefOekeâebMe ceesveeskeâesšdme 

(Skeâyeerpehe$eer) ceW  
 (c) Banana and guava only / kesâJeue kesâuee Deewj Dece™o ceW  
 (d) Both monocots and dicots / odefJeyeerpehe$eer Deewj 

Skeâyeerpehe$eer oesveeW ceW  
BHU NURSING 2016 

Ans. (b) : Parallel venation is characteristic of 
monocots, where veins run parallel. This pattern is seen 
in plants like grasses, lilies and bananas, while most 
dicots exhibit reticulate or net-like venation. 
60.  Opposite type of phyllotaxy (leaf arrangement) 

can be found in  
  efJehejerle Øekeâej keâe he$eefJevÙeeme (he$e JÙeJemLee) efkeâmeceW 

heeÙee pee mekeâlee nw 
 (a) Guava / Dece™o  
 (b) China rose / Ûeerveer iegueeye (iegÌ[nue) 
 (c) Potato / Deeuet  
 (d) Soyabean / meesÙeeyeerve 

BHU NURSING 2016 
Ans. (a) : Opposite phyllotoxy is found in guava, where 
two leaves grow directly opposite each other at each 
node. This leaf arrangement is characteristic of certain 
plants, like guava. 
61.  Phyllode is a modification of  

  heCe&Ye efkeâmekeâe DeeMeesOeve nw~  
 (a) Stem / levee  (b) Petiole / heCe&Je=le 
 (c) Lamina / mleefjkeâe (d) Bract / menhe$e  

BHU NURSING 2016 
Ans. (b) : A phyllode is a flattened, leaf-like structure 
that results from the modification of the petiole. It 
functions similarly to a leaf, carrying out 
photosynthesis, as seen in some leguminous plants. 

62.  Lodicules represent the reduced perianth in :   
  uee@[erkeäÙetue efkeâmeceW DeefJekeâefmele heefjleb$e keâes efve®efhele 

keâjlee nw :  
 (a) Sedges /Øele=CeeW ceW   
 (b) Grasses/IeemeeW ceW   
 (c) Rushes /peueyeWleeW ceW  
 (d) Compositae /keâcheespeeršerpe ceW  

BHU NURSING 2015 
Ans. (b) : Lodicules represent the reduced perianth in 
grass family (poaceae). They are small, sac like 
structures that replace the petals and sepals in the 
flowers of grasses, playing a role in the opening of the 
flower during pollination.  
63.  Coir is obtained from   
  veeefjÙeue keâe jsMee Øeehle neslee nw: 
 (a) endocarp/Sb[eskeâeheand mes   
 (b) mesocarp/cesmeeskeâeheand mes   
 (c) epicarp/Sefhekeâeheand mes  
 (d) endosperm/Sb[esmheceand  

BHU NURSING 2015 
Ans. (b) : Coir is the natural fiber obtained from the 
mesocarp of  coconut fruit. This is the fibrous middle 
layer of the coconut fruit, which is processed to make 
ropes, mats, brushes and other products.  
64.  Inflorescence of sun flower is a :  
  metjpecegKeer keâe heg<he›eâce nw: 
 (a) Spike/mheeFkeâ  (b) Spadix /mhewef[keäme  
 (c) Corymb/keâe@efjcye  (d) Capitulum/kewâefhešguece  

BHU NURSING 2015 
Ans. (d) : The sunflower (Helianthus) has a head and  
capitulum inflorescence where multiple florets are 
arranged in a dense compact structure that appears to be 
a single flower. This type of inflorescence is 
characteristic of the Asteraceae family.  
65.  The fruit of Paddy is a:   
  Oeeve keâe Heâue nw:  
 (a) Cypsella  /efmehmesuee  (b) Caryopsis /kewâefjÙeeefhmeme   
 (c) Achene/Skeâerve  (d) Nut/veš 

BHU NURSING 2015 
Ans. (b) : The fruit of paddy (Oryza sativa) is a 
caryopsis, a type of dry one-seeded fruit fused with the 
fruit wall making it distinguishable.  
66.  Inflorescence of Ocimum is:  
  leguemeer keâe heg<he›eâce nw: 
 (a) Cyathium / keâšesefjÙee  
 (b) Verticillaster / ketâšÛe›eâ  
 (c) Spadix / mLetuecebpejer 
 (d) Hypanthodium / neFhesveLeesef[Ùece 

BHU NURSING 2014 
Ans. (b) : Ocimum (Tulsi) has a verticillaster type of 
inflorescence. In this type, the flowers are arranged in 
opposite pairs in a whorl, with each whorl arising from 
the same point on the stem, forming a characteristic 
spiral pattern. This is typical of many members of the 
mint family (Lamiaceae) to which Ocimum belongs.  


